=

1968-2018

YEARS/ANOS

3EBasor

CABLE TRAY SPECIALIST



BASOR E-39

— INT. HEADQUARTERS .
sASOR ELECTRIC SA. Different works,
Alodr Avans 4549 different solutions
O 3€

Basorplast

3EBasor

CABLE TRAY SPECIALIST



CABLE TRAY SPECIALIST

INDICE |INDEX |INDEX |INDICE |iNDICE |INDEX,UTMUTATO |INHALTSVERZEICHNIS |YKA3ATENb |OBSAH

36

=)

W3S - AVH140SVE

W3S - T11440SvE

W3S - AVH140SVY

L0 O OLLIGHILY

WIS - 140ddNSY0SYE

HU38 | 1



3EBasor

AAAAAAAAAAAAAAAAAAA

BASORCANAL - SCE

100

BASORTUB

L9

RE1250 / R1250

110

2

HU38



3EBasor

AAAAAAAAAAAAAAAAAAA

INDICE | INDEX |INDEX |INDICE |iNDICE |INDEX,UTMUTATO |INHALTSVERZEICHNIS |YKA3ATENb |OBSAH

= = #

BASORFi( - ACC

HU38

114

3






L oy
L>100m + (({?\0/‘“

UNE 201010
IEC 61537 IEC 61537

TERE 50

CXER 50X50

150°C  -50°C

IEC 61537

1200 25 220 ~

88 @ o o
3 5]

EN 50085 IEC 61537 IEC 61537

D

PTER 50X50 CPER 50X50
JUER 50X50 REER 50X50
Filling Area L
B H50 (2")
mm inch cm? in?
50 2 24 37

EC

IEC 60529

VL)

CERTIFIED

SAFETY US-CA

E358301

CCER 50X50

Basor



Basor

BasorTRAY 3€Basor

vvvvvvvvvvvvvvvvv

ERE 50
ERE 50X50 o RN
ERE 50X50 502 50 2 210181 24M 2710182 24M s
X8, 10x7,5
i [ 4]
\>\ 3/100 x B (2/4356 - PG // 2/6826 - HDG). ) .
|2 3 12x4 20x7,5
u(gu (]
L=3m(10f) 2 07
UE’D 0]
® 0
Y o
T “, @ ﬁ]]
[ J
ERE-C 50X50 s o T
ERE-C 50X50 502 50 2 210183 24M 210184 24M {Oxs
\>\ 2/100 x Bl (2/4356 - PG // 2/6826 - HDG). 5
L=3m(10f) g I

|
=]

o I
TERE 50 mm inch

TERE 50 50 2" 2710282 24M 2110283 3M

\ \/

L=3m (10 )
’ B+3
) 30 B+1
PTER 50X50 : i £
mm inch  mm inch REF. MOQ
PTER 50X50 50 27 50 2 2/823 10U E

I__I \ .y io_i K10

2 x PTER 50X50 =>1x TERE 50

C
e




BasorTRAY
ERE 50

CPER 50X50

qu

CCER 50X50

CXER 50X50
JUER 50X50

o
(]
@

N x| ow |
mm - inch mm inch

50 27 50 27 2/3235 2U 2/6950 2U

CPER 50X50

1x JUER 50X50 (2/2051 - PG // 2/2056 - HDG)

I
mminch mm inch m

50 2° 50 2" 2/3236 2U 2/6%52 2U

Q.

CCER 50X50

1x JUER 50X50 (2/2051 - PG // 2/2056 - HDG)

| w | w |
mm inch mm inch

50 2" 50 2" 2/3238 2U 2/6951 2U

5

CXER 50X50

1x JUER 50X50 (2/2051 - PG // 2/2056 - HDG)

N
oo [ N I

50 2" 2/2051 1U 2/2056 1U

ool
@m
5

JUER 50X50

4/100 x B1 (2/4356 - EZ // 2/6826 - HDG)

3EBasor

AAAAAAAAAAAAAAA

12x8

114

€
I é
e
25
B
120
m O/ 12x8
C—
sy
7
25 ]
114
——=
] 1248
all
L21]
H
125
o
48
e
I
12x8\

n
50

90

Basor



BasorTRAY
ERES50

REER 50X50

Bl

mm inch mm inch REF. M0Q MOQ

REER 50X50 50 2" 50 27 2/11267 10U 2/11268 10U

/' 2/100 x B1 (2/4356 - PG // 2/6826 - HDQ)

L CEEENTEE o
m R 0O
B1-100 46 2436 1U 26826 1U
B1-100 2006 - - - - 245 1U

.Q
CERTIFIED
SAFETY US CA

T

3EBasor

AAAAAAAAAAAAAAAAA

ACIT



Product available from september 2021

Disponivel a partir de setemlbro 2021
Disponible a partir de Septembre
Disponibile da settemlbre 2021

m E)
= PR T

IEC 61537 ECassy
EN 50085 UNE 201010

CRNRE

CCNRE45

JUNRE

IEC 61537

TCPNRE

TCRNRE

SNe

CXNRE45

TCCNRE45

-
ey

JUNRE-A

EN 50085

Q

CPNRE45

> L 4

CXNRE

s'/
z.s

120°C  -25°C

g

JUNRE-B

IEC 61537

IEC 60529 IEC 50102

TENRE TTENRE

CCNRE TCCNRE

Filling Area L

B H60 (2 3/8")
mm inch cm? in?
100 ¥ 5 91
150 b 89 137
200 8 19 184
300 12 1718 215
400 16" 238 368

500 20 298 46
600 0 398 954

Basor



Basor

BasorTRAY 3€Basor

vvvvvvvvvvvvvvvvv

NR2E
NR2E H60 ; B« [SS——
_ mm inch mm inch REF. M0Q
NR2E 100X60 100 4" 60 23/8" 223988 24M a— =
NR2E 150X60 150 6" 60 23/8" 223989 12M ,
NR2E 200X60 200 8 60 23/8" 223990 12M
NR2E 300X60 300 12 60 23/8” 223991 6M £
NR2E 400X60 400 16" 60 23/8" 223992 6M
L=3m(I0f NR2E 500X60 500 20" 60 23/8" 223993 6M
NR2E 600X60 600 24" 60 23/8" 223994 6M 4l

XA R

B N ! l
mm inch mm inch REF. MoQ s ]

NR2E 100XT5 100 4 60 3 223995  24M
NR2E 150X75 150 6 60 3 223996  12M
NR2E 20075 200 8 60 3 223991 12M
NR2E 300X75 300 12 60 3 223998 G6M g
NR2E 400X75 40 16 60 3 223999 6
L=3m 0] NR2E 500X75 500 20 60 3 224000 GM | g
NR2E 600XTS 600 24 60 3 224001 BM |l
NR2E-C H75 B N | ﬂ 1
mm inch mm inch REF. M0Q “ o
NR2E-C 100XT5 100 4 60 3 224002 24M S S
NR2E-C 150X75 150 6 60 3 224003  12M
NR2E-C 200X75 200 8 60 3 224004 12M
NR2E-C 300X75 300 12 60 3 224005 6M
NR2E-C 400XT5 40 16° 60 3 224006 6M
L=3m(10) NR2E-C 50075 500 20 60 3 224000 6M
NR2E-C 600XT5 600 24 60 3 224008 6M =
NE2E H60 B H
. inch mm inch REF. M0Q I
Light dut S H
? y NE2E 100X60 100 4 60 238" 224333 24M L ——°
NE2E 150X60 150 6 60 23/8" 224334  12M : £
NE2E 200X60 200 8 60 23/8" 224335 12M
NE2E 300X60 300 12 60 23/8" 224336 GM

3000

B eeaeE s

L=3m(10fY) \\ ><

10 E39




BasorTRAY
NR2E

TERE

400/500/600-L=2m (6,56 ft)

CPNRE 90°

g

.

TCPNRE 90°

7N

TERE 100
TERE 150
TERE 200
TERE 300
TERE 400
TERE 500
TERE 600

\ v

CPNRE 90° 100X60
CPNRE 90° 150X60
CPNRE 90° 200X60
CPNRE 90° 300X60
CPNRE 90° 400X60
CPNRE 90° 500X60
CPNRE 90° 600X60
CPNRE 90° 100X75
CPNRE 90° 150X75
CPNRE 90° 200X75
CPNRE 90° 300X75
CPNRE 90° 400X75
CPNRE 90° 500X75
CPNRE 90° 600X75

TCPNRE 90° 100
TCPNRE 90° 150
TCPNRE 90° 200
TCPNRE 90° 300
TCPNRE 90° 400
TCPNRE 90° 500
TCPNRE 90° 600

X

mm

100
150
200
300
400
500
600
100
150
200
300
400
500
600

inch

12'
16"

20"
24

12'
16"

20"
2

mm

100
150
200
300
400
500
600

mm

60
60
60
60
60
60
60
15
15
15
15
15
15
15

mm

100
150
200
300
400
500
600

inch

12'
16"
20"
24

inch

23/8"
23/8"
23/8
23/8"
23/8"
23/8
23/8"

W WY W W W W

inch

REF.
211312
211313
211314
211316
211317
211318
211319

REF.
224035
224036
224031
224038
224039
224040
224041
224042
224043
224044
224045
224046
224041
224048

REF.
224063
224064
224065
224066
224067
224068
224069

MOQ
24 M
24 M
24 M
18M
12M
8M
8 M

1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U

1U
1U
1U
1U
1U
1U
1U

3EBasor

AAAAAAAAAAAAAAA

B+2

10x7,5

[ s ]

&
%

E39 1]

Basor



BasorTRAY
NR2E

CPNRE 45°

-

TCPNRE 45°

CCNRE 90°

12 E39

CPNRE 45° 100X60
CPNRE 45° 150X60
CPNRE 45° 200X60
CPNRE 45° 300X60
CPNRE 45° 400X60
CPNRE 45° 500X60
CPNRE 45° 600X60
CPNRE 45° 100X75
CPNRE 45° 150X75
CPNRE 45° 200X75
CPNRE 45° 300X75
CPNRE 45° 400X75
CPNRE 45° 500X75
CPNRE 45° 600X75

TCPNRE 45° 100
TCPNRE 45° 150
TCPNRE 45° 200
TCPNRE 45° 300
TCPNRE 45° 400
TCPNRE 45° 500
TCPNRE 45° 600

X

CCNRE 90° 100X60
CCNRE 90° 150X60
CCNRE 90° 200X60
CCNRE 90° 300X60
CCNRE 90° 400X60
CCNRE 90° 500X60
CCNRE 90° 600X60
CCNRE 90° 100X75
CCNRE 90° 150X75
CCNRE 90° 200X75
CCNRE 90° 300X75
CCNRE 90° 400X75
CCNRE 90° 500X75
CCNRE 90° 600X75

mm

100
150
200
300
400
500
600
100
150
200
300
400
500
600

mm

100
150
200
300
400
500
600
100
150
200
300
400
500
600

inch

12'
16"

20
24

12'
16"

20"

24

inch

mm

60
60
60
60
60
60
60
15
15
15
15
15
15
15

mm

100
150
200
300
400
500
600

mm

60
60
60
60
60
60
60
15
15
15
15
15
15
15

inch

23/8
23/8"
23/8
23/8"
23/8
23/8
23/8"

W W W W WX

inch

inch

23/8"
23/8"
23/8"
23/8"
23/8"
23/8"
23/8"

QW W W Wy W

REF. MOQ
224049 11U
224050 1U
224051 11U
224052 11U
224053 11U
224054 1U
224055 11U
224056 1U
224057 11U
224058  1U
224059 11U
224060 1U
224061 1U
224062 1U

| m
224010 11U
2240 1U
224072 1U
224073 1U
224074 11U
224005 11U
2240716 1U

I
224071 1U
224078 11U
224019 11U
224080 1U
224081 11U
224082 11U
224083 11U
224084 11U
224085 11U
224086 1U
224081 11U
224088 1U
224089 11U
224090 1U

3EBasor

vvvvvvvvvvvvvvvvv

I

¥50
B
™M
1
'Q100 10x7,5
.30
T
I |o £
%
© ﬁ/lOXZS




BasorTRAY 3EBasor
NR2E e

. -
TCC N R E 90 mm inch REF. m

TCCNRE 90° 100 100 4" 224105 11U '?100
TCCNRE 909 150 150 6" | 224106 11U
s TCCNRE 90° 200 200 8 224101 1U
TCCNRE 90° 300 300 12" 224108  1U -0
TCCNRE 90° 400 400 16" 224109 1U
TCCNRE 90° 500 500 20" 224110 11U
TCCNRE 90° 600 600 24" 22411  1U

X

CCNRE 45° B N |
mm inch mm inch REF. m
CCNRE 45° 100X60 100 4 60 23/8 224091 1U
CCNRE 45° 150X60 150 6 60 23/8" 224092 1U
CCNRE 45° 200X60 200 § 60 23/8° 224093 1U
CCNRE 45° 300X60 300 12 60 23/8° 224094 1U
CCNRE 45° 40060 400 16" 60 23/8" 224095 1U
CCNRE 45° 50060 500 200 60 23/8" 224096 1U o [215 | %
CCNRE 45° 600X60 600 24" 60 23/8° 224097 1U
CCNRE 45° 100X75 00 4 75 3 224098 1U
CCNRE 45° 150X75 150 6 75 3 224099 1U
CCNRE 45° 200X75 200 ¢ 75 3 224100 1U
CCNRE 45° 300X75 30 127 75 3 224100 1U
CCNRE 45° 400X75 400 18 75 3 224102 1U
CCNRE 45° 500X75 500 200 75 3 224103 1U
CCNRE 45° 600XT5 600 24 75 3 224104 1U
o N -
TCCNRE 45 —— o .
TCONRE 450 100 00 4 22412 1U
TCCNRE 450 150 15 6 224113 1U -
¥ TCCNRE 450 200 200 § 224114 11U
TCCNRE 45° 300 300 12 | 22415 1U
TCCNRE 450 400 400 16" | 22416 1U
TCCNRE 450 500 500 20° | 224117 1U @
TCCNRE 450 600 600 24" 224118 1U
X

E39 |3

Basor



Basor

BasorTRAY
NR2E

CXNRE 90°

TCXNRE 90°

CXNRE 45°

14 E39

CXNRE 90° 100X60
CXNRE 90° 150X60
CXNRE 90° 200X60
CXNRE 90° 300X60
CXNRE 90° 400X60
CXNRE 90° 500X60
CXNRE 90° 600X60
CXNRE 90° 100X75
CXNRE 90° 150X75
CXNRE 90° 200X75
CXNRE 90° 300X75
CXNRE 90° 400X75
CXNRE 90° 500X75
CXNRE 90° 600X75

TCXNRE 90° 100X60
TCXNRE 90° 150X60
TCXNRE 90° 200X60
TCXNRE 90° 300X60
TCXNRE 90° 400X60
TCXNRE 90° 500X60
TCXNRE 90° 600X60
TCXNRE 90° 100X75
TCXNRE 90° 150X75
TCXNRE 90° 200X75
TCXNRE 90° 300X75
TCXNRE 90° 400X75
TCXNRE 90° 500X75
TCXNRE 90° 600X75

X

CXNRE 45° 100X60
CXNRE 45° 150X60
CXNRE 45° 200X60
CXNRE 45° 300X60
CXNRE 45° 400X60
CXNRE 45° 500X60
CXNRE 45° 600X60
CXNRE 45° 100X75
CXNRE 45° 150X75
CXNRE 45° 200X75
CXNRE 45° 300X75
CXNRE 45° 400X75
CXNRE 45° 500X75
CXNRE 45° 600X75

mm
100
150
200
300
400
500
600
100
150
200
300
400
500
600

mm
100
150
200
300
400
500
600
100
150
200
300
400
500
600

mm
100
150
200
300
400
500
600
100
150
200
300
400
500
600

mm
60
60
60
60
60
60
60
15
15
15
15
15
15
15

mm
60
60
60
60
60
60
60
15
15
15
15
15
15
15

mm
60
60
60
60
60
60
60
15
15
15
15
15
15
15

inch

23/8
23/8"
23/8"
23/8"
23/8"
23/8"
23/8"

P

W W R WY W w

inch

23/8"
23/8"
23/8"
23/8
23/8
23/8
23/8"

P

QR R W W w

inch

23/8
23/8"
23/8"
23/8"
23/8
23/8
23/8

@ & g @

I
224119 11U
224120 11U
2421 11U
224122 1U
224123 1U
224124 1U
24125 1U
224126 1U
240121 1U
224128 11U
224129 11U
224130 11U
24131 1U
24132 1U

| m
224147 1U
224148 11U
224149 11U
224150 11U
224151 11U
224152 1U
224153 1U
224154 11U
224155 1U
224156 1U
224151 1U
224158 1U
224159 11U
224160 11U

| m

REF. MOQ
224133 1U
224134 1U
24135 1U
224136 1U
24131 1U
224138 11U
224139 11U
224140 1U
2441 1U
224142 1U
224143 1U
224144 1U
224145 1U
224146 1U

3EBasor

vvvvvvvvvvvvvvvvv

30

Ry e

10x7,5

10x7,5




BasorTRAY 3€Basor

AAAAAAAAAAAAAAA

NR2E
TCXNRE 45 ——

TCXNRE 45° 100X60 100 4 60 23/8" 224161 1U
TCXNRE 45° 150X60 150 6" 60 23/8" 224162 1U
TCXNRE 45° 200X60 200 & 60 23/8" 224163 & 1U
TCXNRE 45° 300X60 300 12" 60 23/8" 224164 | 1U
TCXNRE 45° 400X60 400 16" 60 23/8" 224165 @ 1U @
TCXNRE 45° 500X60 500 20" 60 23/8" 224166 1U
TCXNRE 45° 600X60 600 24" 60 23/8" 224161 1U
TCXNRE 45° 100X75 100 4 15 3 224168 1U
TCXNRE 45° 150X75 B/ 6 15 3 224169 11U
TCXNRE 45° 200X75 200 & 15 3 | 224110 11U
TCXNRE 450 300X75 0 127 1B 3 241 11U
TCXNRE 45° 400X75 400 16" 15 3 224172 1U
TCXNRE 450 500X75 500 20" 15 3" | 224173 | 1U
TCXNRE 45° 600X75 600 24 15 3 | 224114 11U
X

TENRE . « R

mm inch mm inch II . |

TENRE 100X60 100 4 60 23/8 224175 1U
y TENRE 150X60 150 6 60 238 224176 U = F 77
‘ TENRE 200X60 200 8 60 23/8 224171 1U ~

TENRE 300X60 300 12° 60 23/8 224118 11U iy

TENRE 400X60 400 16" 60 23/8 224119 11U s
TENRE 500X60 500 20" 60 23/8 224180 11U
TENRE 600X60 600 24 60 23/8 224181 11U
TENRE 100X75 00 4 715 3 224182 1U
TENRE 150X75 150 6 75 3 224183 11U
TENRE 200X75 200 8§ 75 3 224184 11U
TENRE 300X75 300 127 15 3 224185 11U
TENRE 400X75 400 16" 75 3 224186 11U
TENRE 500X75 500 200 15 3 224187 11U
TENRE 600X75 600 24 75 3 224188 11U

TTNRE I -
mm inch REF. MOQ
TINRE 100 100 4 (224189 U
A TINRE 150 150 6 224190 1U
P < TINRE 200 200 8 | 224191 11U %
A TINRE 300 300 12° 224192 1U . g

TINRE 400 400 16" | 224193 11U
TINRE 500 500 20" 224194 11U
TINRE 600 600 24" | 224195 1U

X

E39 15

Basor



Basor

BasorTRAY
NR2E

CRNRE

TCRNRE

16 E39

CRNRE 100X60
CRNRE 150X60
CRNRE 200X60
CRNRE 300X60
CRNRE 400X60
CRNRE 500X60
CRNRE 600X60
CRNRE 100X75
CRNRE 150X75
CRNRE 200X75
CRNRE 300X75
CRNRE 400X75
CRNRE 500X75
CRNRE 600X75

TCRNRE 100
TCRNRE 150
TCRNRE 200
TCRNRE 300
TCRNRE 400
TCRNRE 500
TCRNRE 600

X

mm

100
150
200
300
400
500
600
100
150
200
300
400
500
600

inch

mm

60
60
60
60
60
60
60
15
15
15
15
15
15
15

mm

100
150
200
300
400
500
600

inch

23/8
23/8"
23/8
23/8"
23/8
23/8
23/8"

LW R @ W W

inch

REF
224196
224191
224198
224199
224200
224201
224202
224203
224204
224205
224206
224201
224208
224209

REF
224210
224211
224212
224213
224214
224215
224216

MOQ
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U

MOQ
1
1U
1U
1U
1
1U
1

3EBasor

vvvvvvvvvvvvvvv

4’100



BasorTRAY
NR2E
SUCP B “
mm inch  mm inch REF.
suce 160 62/7" 130 51/8" 2/14255 10U
j’Z/'IOO x Bl (2/4356 - PQG)
[/ e
H H H H [ TEEEEE °
o----6 [ S -6
29-70 mm 79x50, 98-128x50, 15-55x82 [:30-147
B N
mm inch mm inch REF. MOQ £d
PS 60 100 4 60 23/8" 2/2066 30M ~
PS 75 150 6" 75 3 2/3477  30M

/;/100 x B1 (500 & 500 mm) (2/4356 - PG)

L=3m(10fY)

=

JUNR2E 8 H
mm inch mm
JUNR2E H60 100 4 60
JUNR2E H75 150 6" 15
S a JUNR2E-A H60 100 4 60
JUNR2E HGO JUNR2EA HO JUNR2E-B H60 100 4 60
JUNR2E-A HT5 150 6" 15
g JUNR2E-B H75 150 6" 15
JUNR2E-B HT5 JUNR2E-AHT5 -

| k]
inch REF. MOQ
23/8" 224211 1U
3224718 1U
23/8" 224719 11U
23/8" 224220 11U
3 224221 1U
3224222 11U

11x7,5

37
=

JUNR2E-A HE0

3EBasor

uuuuuuuuuuuuuuu

I

RN

) It
H&%%LX =

[E B
20 L

20x7,5
120
B

sT

30 11x7,5

60
JUNRZE H60

37

30 11x7,5

)

& O

60

JUNR2E-B HT5

JUNRZE-AHT5

E39 17/

Basor



Basor

XL

L>ﬁ0m

IEC 61537
EN 50085

®
CERTIFIED

SAFETY US-CA

E358301

NO r(({‘\ e o e 256 (o0 ~ fipaa] Tipza]' ko Fikor|'
T i § 4 e Lod™ o) [T 7

IEC 61537 EN 50085 IEC 61537 IEC 61537 IEC 60529

EN 50085
UNE 201010

TCPERC

TCRERC

Filling Area L

ﬁ W B H35(13/8") H60 (23/8") H100 (4")
mm inch cm? in? cm? in? cm? in?

JUER-B JUER-U 100 3 34 52 5 91 98 151
150 ) o 19 89 137 148 29
200 g 69 106 19 184 198 306

* 300 12 103 159 118 215 298 461

400 16" - - 238 368 397 615

PTERE REER 500 0 - - 298 46 497 10
600 2% - - 358 954 597 925

18 E39




BasorTRAY

ER2E

ER2E H60

L=3m(10fY)

TERE

L=3m(101Y)
100/150/200/300

PTERE

3EBasor

AAAAAAAAAAAAAAAAA

SRR - [SESE

mm inch mm inch REF. MoQ
ER2E 100X60 100 4 60 238 270233 2am [[] = [
ER2E 150X60 150 6 60 23/8" 210234 24M [P ikl
ER2E 200X60 200 & 60 23/8" 210235 12M UZUEUEOO:O 20075
ER2E 300X60 300 12 60 23/8" 2/10236 12M “oﬂgjﬂg 14
ER2E 400X60 400 16 60 23/8" 210231 6M FT"%"T%H o
ER2E 500X60 500 20 60 23/ 2/0238 6M Al - :
ER2E 600X60 600 24 60 23/8" 2/10239 6M

XN X

» TN o .. 14

mm_ inch REF. MoQ
TERE 100 100 47 2/1312 ' 24M 21321 3M  2/4560 12M
TERE 150 150 6" 2/1313 24M 2/1322 3M  2/6123 12M
TERE 200 200 8" ‘21314 24M 21323 3M  2/4561 12M
TERE 300 300 12" '2/1316 18M  2/1325 3M  2/4716 12M i3
TERE 400 2M 400 16" 211311 12M 2/1326 2M - - ©
TERE 500 2M 500 20" 2/1318 ~ 8M 271321 2M
TERE 600 2M 600 24" 21319 ' 8M  2/1328 2M
TERE 400 3M 400 16" - . 2/4931 6M
TERE 500 3M 500 20" - 2 2/4562 6M
TERE 600 3M 600 24" - = 2/5351 6M

<

X v

H i304 e
mm inch REF. MOQ
PTERE 35 35 13/8” 2/1059 1U g6 -
PTERE 60 60 23/8" 2/1060 1U @
PTERE 80 80 31/8” 2/1061 1U
40 34F\j
PTERE 100 100 4" 2/1062 1U

5 20
1K1 -* I I

4 x PTERE =>1x TERE

E39 19

Basor



Basor

BasorTRAY 3€Basor

vvvvvvvvvvvvvvvvv

ERE
ERE H35 s T T
mm inch ~mm inch s ]
ERE 100435 100 4 35 138 2092 24M 21222 3M P T
ERE 150X35 150 6 35 13/ 2193 24M 21223 3M '(g
ERE 200X35 20 § 35 138" 2194 18M 21224 3M | s I3
ERE 300K35 300 12 35 13/8" 2% 12M 21225 3M [}

= it
S0 00,0900

>< 4/100 x B - (2/4356-EZ /| 2/6826-HDG // 2/4925-i304)

L=3m(101) i
ERE-C H35 B |
mm inch mm inch 10)(7’5
ERE-C 100X35 100 4 35 13/8" 2/1252 24 M i:?: =
i31
ERE-C 150X35 150 6" 35 13/8" 2/1253 24 M © 5
ERE-C 200X35 200 8" 35 13/8" 2/1254 18 M :
ERE-C 300X35 300 12" 35 13/8" 2/1255 12M
L=3m(101) 4/100 x B - (2/4356-EZ /| 2/6826-HDG // 2/4925-i304)
ERE H60 SN - | o B .
mm - inch mm inch REF. MoQ B t
ERE100X60 100 4 60 23/8" 2/1191 24M 21221 3M  2/4795 12M 10x7,5

ERE 150X60 150 ©° 60 23/8" 2/1198 12M 21228 3M 2/4313 12M 1= N
ERE 200X60 200 8" 60 23/8" 2/1199 12M 211229 3M 2/4688 6M @
ERE 300X60 300 12° 60 23/8” 21201 6M 211231 3M  2/4311 6M

ERE 400X60 400 16" 60 23/8" 21202 6M 211232 3M 2/4933 6M

ERE 500X60 500 20" 60 23/8” 2/1203 6M  2/1233 3 M

ERE 600X60 600 24" 60 23/8" 21204 6M 21234 3M 2/4313 6M

120

20x7,5

L=3m(10f) E
>< 4/100 x B1 - (2/4356-EZ /| 2/6826-HDG // 2/4925-i304) b Tl
ERE-C H60 ; T o

v I
mm-inch mminch REF. MoQ 10X75
ERE-C100X60 100 4" 60 23/8" 2/1251 24M 2/1281 3M  2/4901 12M ]
ERE-C150X60 150 6" 60 23/8" 21258 12M 211288 3M 2/5028 12M
ERE-C200X60 200 8" 60 23/8" 21259 ' 12M 21289 3M 2/5023 6M 8
ERE-C300X60 300 12" 60 23/8” 2/1261 | 6M  2/1291 3M 2/4306 6EM 7
ERE-C 400X60 400 16" 60 23/8" 2/1262 | 6M 21292 3M  2/5136 ©6M 7 &:
ERE-C500X60 500 20" 60 23/8" 2/1263 « 6M  2/1293 3 M

ERE-C 600X60 600 24" 60 23/8" 2/1264 6M 2/1294 3M  2/5197 6M

L=3m(10fY)

>< 4/100 x B1 - (2/4356-EZ /| 2/6826-HDG // 2/4925-i304)

CERTIFIED
SAFETY US CA

20 E39




BasorTRAY 3€Basor

AAAAAAAAAAAAAAA

ERE
ERE H100 ; T B
mm inch —mm inch m B
= . ERE 100X100 100 4" 100 4 201213 12M 2/1243 3M e [
ERE 150X100 150 6" 100 4 2/1214 12M 201244 3M 304 EDUEDUZZDDUGED{“DZ IR
ERE 200X100 200 & 100 4 20215 120 21245 30 awis |l b b B b S
ERE 300X100 300 122 100 4 2007 M 2mear 3w © |5l oo
ERE 400X100 400 16 100 4 271218 6M 21248 3M  TELbTa il
ERE 500X100 500 20 100 4" (21219 6M  2/1249 3M R,
L=3m{i0M ERE 600X100 600 24" 100 4 2/1220 BM 2/1250 3M E:UE:DEDD;EED:Z”:% M'SH
>< 4/100 x B1 - (2/4356-EZ // 2/6826-HDG /| 2/4925-i304) u )
ERE-C H100 B e [ ome | El
mm inch mm inch B -
ERE-C 100X100 100 4 100 4 (2213 12M 241303 3M e 7
ERE-C 150X100 150 6" 100 4 2/1274 12M 2/1304 3M 50 i}
ERE-C 200X100 200 8 100 4" (2425 12M 21305 3M i3
ERE-C 300X100 300 12 100 4 2027 M 21307 3 ©
ERE-C 400100 400 16 100 & ‘271278 (M 20308 M T E [T
ERE-C 500X100 500 20° 100 4" (21219 6M 2/1309 3M d
L=3m {101 ERE-C 600X100 600 24" 100 4" (2/1280 6M 241310 3M

>< 4/100 x B1 - (2/4356-EZ /| 2/6826-HDG // 2/4925-i304)

CERTIFIED
SAFETY US CA

E39 |

Basor



Basor

BasorTRAY 3€Basor

vvvvvvvvvvvvvvvvv

TERE o T e
o w0 T

TERE 100 100 4" 21312 24M 2/1321 3M 2/4560 12M —M:f:::;:::f::*
TERE 150 150 6" 2/1313 24M 21322 3M  2/5123 12M

TERE 200 200 8" 2/1314 24M 2/1323 3M  2/4561 12M i)

TERE 300 300 12 2/1316 18M 2/1325 3M 2/4116 12M ize

TERE 400 2M 400 16" 21317 12M 2/1326  2M = - @

L=3m(101) TERE 500 2M 500 20" 2/1318 8M  2/1321 2M
100/150/200/300 TERE 600 2M 600 24" 2/1319 8M 2/1328 2M

TERE 400 3M 400 16” = = 2/4931 6M

TERE 500 3M 500 20" - - 2/4562 6M

TERE 600 3M 600 24" - = 2/5351 6M

<+ RlzE
X T
PTERE H i304
mm inch REF. MOQ

PTERE 35 35 13/8" 2/1059 1U iz .
PTERE 60 60 23/8" 2/1060 1U @

PTERE 80 80 31/8” 2/1061 1U ﬂ\,j

40 34
PTERE 100 100 4 2/1062 1U
20
1K10 -* I I

4 x PTERE =>1x TERE

27 E39




CERTIFIED

SAFETY US-CA

E358301

I NO f((‘{‘\ 150 -50% 1200 25 &Q ~ Meaa] Tiesp' T ko7
L>100m + o @ g @ g L2 ] Lok | [ 7
IEC golggg &5 IEC 61537 EN 50085 IEC 61537 IEC 61537 IEC 60529 IEC 50102

TCRERC AS TAS

SIER SEER JUER-A
Filling Area L
B H60 (2 3/8") H100 (4”)
mm inch cm? in? cm? in?

100 ¥ %9 91 9 151
150 6" 89 1B 4 229
200 8 ng o 184 198 306
o017 m 215 288 461
400 16" 238 B8 39 61D
PTERE REER 00 200 298 461 491 TI0

600 24 3% 554 51 925
E39 03

Basor



Basor

BasorTRAY 3€Basor

vvvvvvvvvvvvvvvvv

MRE H60 s« o T B E
mm inch - mm inch  mm MOQ
10x7,5
MRE 100X60 100 4 60 23/8" 1 2/1213 3M 2/I511 3 M ’ B
MRE 150X60 150 6" 60 23/8" 1 2/7274 3M 277518 3M gq (k'K T

070

MRE 200X60 200 8" 60 23/8" 1 2/1215 3M 2/1513 3M 6 |
MRE 300X60 300 12" 60 23/8" 1 2/1216 3M 2/1520 3M ©
MRE 400X60 400 16" 60 23/8" 1 2/1211 3M 2/1521 3M
MRE 500X60 500 20" 60 23/8" 1 2/1218 3M 2/1522 3M

MRE 600X60 600 24" 60 23/8" 1 2/1219 3M 2/7523 3M
L=3m (101t U

120

20x7,5

=_0°0

07,0 0

= oo

<0

>< 4/100 x B1 - (2/4356-EZ /| 2/6826-HDG // 2/4925-i304)

CERTIFIED
SAFETY US CA

MRE H100 B v [ I E
mm inch - mm inch  mm ? oS [
MRE150X100 150 6 100 4 1 2/7409 3M 2/1524 3M I
MRE200X100 200 & 100 4 1 27410 3 277525 3m ®% |EERcEdl s
MRE300X100 300 12° 100 4" 1 2/7411 3M 2/1526 3M 8 woos|
MRE400XI00 400 16> 100 4 1 27412 3M 2/7521 3M ELE = o
MRESOXIO0 500 20° 100 4 1 21413 3M 21528 3M AP )
MREGOOXI00 600 24" 100 4 1 2/7414 3M 2/7529 3M J il
L=3m{i0f) >< 4/100 x B1 - (2/4356-EZ /| 2/6826-HDG // 2/4925-i304) B
TERE o DT o T
mm  inch mm REF. MoQ
TERE 100 100 4 271312 24M 2/1321 3M  2/4560 12M
TERE 150 150 6" 201313 24M 21322 3M 2/5123 12M
TERE 200 200 8 2/1314 24M 2/1323 3M  2/4561 12M
TERE 300 300 127 201316 18M 2/1325 3M  2/4716 12M
TERE 400 2M 400 16 21317 12M 201326 2M
L-3m 101 TERE 500 2M 500 20" 21318 8M  2/1321 2M
100/150/200/300 TERE 600 2M 600 24° 211319  8M  2/1328 2M
TERE 400 3M 40016 - : 214931 6M
TERE 500 3M 500 20" - : 204562 6M
TERE 600 3M 600 24 - : 205351 6M

<
CERTIFIED
SAFETY U CA

24 E39




S
I NO r(r{‘\ B 5 e -2 oo Mpaa] Jipzs]' ko Jikor[!
= o 20) 1
L>100m + \fiom B 0K
EN ool ECeassy IEC 61537 EN 50085 EC 61557n IEC 61537 I_I |EC 60529 [I_u!c 501!2_1
UNE 201010

TCPERC TCCERC CXERC TCXERC

TCRERC AS TAS
SIER SEER JUER-A
Filling Area L
B H35(13/8") H60 (23/8") H100 (4")
mm inch cm? in? cm? in? cm? in?

100 ¥ i 92 5 91 9 15]
150 ) ol 18 89 17 1§ 28
200 g 63 106 M9 184 198 306
00 127 103 0 1Y me 25 298 461

400 16 - - 28 %68 39 615
PTERE REER 500 - - 29 461 491 710
600 2 - - 38 %54 89T 925

E39 05

Basor



Basor

BasorTRAY 3€Basor

vvvvvvvvvvvvvvvvv

FRE
15
FRE H35 B i o I : hE
mm inch mm inch  mm MOQ B :I
FRE 100X35 100 4 35 13/8 15 2/0051  3M o
FRE 150X35 150 6" 35 13/8' 15 2/0052  3M Ay
FRE 200X35 200 8 35 13/8" 15  2/0053  3M emezsl
FRE 300X35 300 127 35 13/8" 15  2/0054  3M N (RO
O Eeaagfo
>< . o 50 ol
4/100 x B1 - (204356-EZ // 206826-GC // 204925-i304) e e 20075
| Ge228) o !
23 %0 o f
L=3m (101t .
15
FRE HEO T T &
mm inch mm inch  mm REF. REF MOQ B
FRE 100X60 100 4 60 23/8" 15 2/0006 3M 2/0056 3M
FRE 150X60 150 6" 60 23/8" 15 2/0007 3M 2/0057 3M
FRE 200X60 200 8" 60 23/8" 15 2/0008 3M 2/0058 3M
FRE 300X60 300 12 60 23/8" 15 2/0009 3M 2/0059 3M
FRE 400X60 400 16" 60 23/8" 15 2/0010 3M 2/0060 3M Looos
FRE 500X60 500 20° 60 23/8" 15 2/0011  3M 2/0061 3M "
FRE 600X60 600 24" 60 23/8" 15 2/0012 3M 2/0062 3M
L=3m(10ft)
>< 4/100 x B1 - (2/4356-EZ // 2/6826-HDG // 2/4925-i304) :
15
FRE H100 B o o YT *
mm inch mm inch  mm REF
FRE 100X100 00 # 100 ¢ 15 © 204556 3 M :
FRE 150X100 150 6 100 4 15 20020 6M 20000 3m [ I T1 L[]
FRE 200X100 200 8 100 4 15 2/0021 6M 2/0071 3M :uﬂ“: o|le
FRE 300X100 300 12° 100 4 15 2/0022 6M 2/0072 3M “DU”S“DDUEUDU[ &
0| Ee2AE) 0ffoc
FRE 400X100 400 16" 100 4 15 2/0023 6M 20073 3M M o4l L
FRE 500X100 500 20° 100 4 15 2/0024 6M 20074 3M  ||mE=Eloh oo
of o o~ oy o
FRE 600X100 600 24" 100 4 15 2/0025 6M 2/0075 3M it

L=3m (10 >< 4/100 x B1 - (2/4356-EZ // 2/6826-HDG // 2/4925-i304)

CERTIFIED
FeTY
E358301

TERE T o T . 4
mm  inch m REF. MoQ
TERE100 100 4" 2/1312 24M 2/1321 3M 2/4560 12M
TERE 150 150 6" ‘21313 24M 21322 3M 2/5123 12M
TERE 200 200 8" 2/1314 24M 2/1323 3M 2/4561 12M
TERE 300 300 12 2/1316 18M 2/1325 3M 2/4716 12M
TERE 400 2M 400 16" 21311 12M 2/1326  2M
L-3m{0f) TERE 500 2M 500 20" | 2/1318  8M 271321 2M
100/150/200/300 TERE 600 2M 600 24" 271319 8M 21328 2M
=~ TERE 400 3M 400 16" - - 2/4931 6M
73 TERE 500 3M 500 20" - - 2/4562 6 M
TERE 600 3M 600 24" - - 2/5357 6M £):
<

26 E39




BasorTRAY 3€Basor

AAAAAAAAAAAAAAA

Basor

ERE-MRE-FRE
TFRE B g “ B+2
mm inch mm REF. MOQ JLI ¥¥¥¥¥ /_J_ I
TFRE 100 100 47 15 2/6008 12M mr %} T
TFRE 150 150 6" 15 2/10031 12M
TFRE 200 200 8 15  2/6009 12M =
TFRE 300 300 127 15  2/6010 12M
TFRE 400 2M 400 16" 15  2/6199  8M
TFRE 500 2M 500 20" 15 2/10032 @ 4M
TFRE 600 2M 600 24" 15 2/6012 @ 4M
L=3m(10f) < ae
400/500/600 - L=2m (65610 X Y
pT E R E H i304 N
mm inch REF. MOQ
PTERE 35 35 13/8” 2/1059 1U iz <
PTERE 60 60 23/8" 2/1060 1U @
PTERE 80 80 31/7" 2/1061 1U M\T
PTERE 100 100 4 27062 1U * *
0] io_i
4 x PTERE =>1x TERE
CPERC o T -
mm inch mm inch REF. MoQ |

CPERC100x35 100 4" 35 13/8" 2/1331 2U 2/1368 2U [ 1 — /UZ *
CPERC150x35 150 6" 35 13/8” 2/1338 2U 2/1369 2U @ —
CPERC 200x35 200 8" 35 13/8” 2/1339 2U 2/13i10 2U
CPERC 300x35 300 12" 35 13/8” 2/1340 2U 21311 2U oo
CPERC 100x60 100 4" 60 23/8" 2/1344 2U 211315 2U 2/41171 1U - E
CPERC150x60 150 6" 60 23/8" 2/1345 2U 211316 2U 2/5317 1U éj@‘
CPERC20060 200 8' 60 23/8" 2/346 | 2U 213 2u 2:ms w0 |||/ - L]
CPERC 300x60 300 12" 60 23/8" 2/1348 2U 2/1319 2U 2/6180 1U |is6 Lﬁé

CPERC 400x60 400 16" 60 23/8” 2/1343 1U 2/1380 2U 2/1390 1U @
CPERC 500x60 500 20" 60 23/8” 2/1350 11U 2/1381 2U = =
CPERC 600x60 600 24" 60 23/8" 2/1351 1U 2/1382 2U 2/1391 1U
CPERC 100x100 100 4" 100 4" 2/1360 2U 2/1391 2U

CPERC 150x100 150 6" 100 211361 2U 21392 2U

CPERC 200x100 200 8" 100 211362 20U 21393 2U

CPERC 300x100 300 12 100 21364 20U 21395 2U ©

CPERC 400x100 400 16" 100 211365 1U 21396 2U

CPERC 500x100 500 20" 100 2/1366  1U  2/1391 2U

CPERC 600x100 600 24" 100 211367 1U  2/1398 2U

= s R R R

- M- N o
o

[T

E39 07/




Basor

BasorTRAY 3€Basor

vvvvvvvvvvvvvvvvv

ERE-MRE-FRE
TCPERC s BT o« —F =
mm - inch m REF. MoQ

TCPERC 100 100 4" 271430 1U 2/1431 1U 2/3560 1U
TCGPERC 150 150 6" 2/1431 11U 2/1438 11U 2/35%1 1U

P TCPERC 200 200 8" '2/1432 1U 21433 1U 2/35%62 1U
TCPERC 300 300 127 '2/1433 1U 2/1440 1U 2/35%3 1U ﬂj
TCPERC 400 400 16 2/1434 1U 21441 1U  2/4752 11U %
TCPERC 500 500 20" 2/1435 1U 2/1442 1U
TCPERC 600 600 24" 2/1436 1U 2/1443 1U 2/4153 1U B+2

v : B+161
X

CCERC T - | o~
mminch mm inch REF. MoQ

CCERC100x35 100 4" 35 13/8" 2/1451 2U 2/1482 1U &,
CCERC 150,35 150 67 35 196" 21432 2U 283 10 g

CCERC200x35 200 &' 35 13/8" 2/1453  2U 2/1484 1U

CCERC 300435 300 12" 35 13/8" 2/1454 2U 2/1485 1U [ e
CCERC100x60 100 4" 60 23/8" 2/1458  2U 2/1489 1U 2/4308 1U P
CCERC150x60 150 6" 60 23/8" 2/1459 ' 2U 2/1490 1U 2/5151 1U
CCERC200x60 200 8" 60 23/8" 2/1460 2U 2/1491 1U 2/5024 1U 00
CCERC300x60 300 12' 60 23/8" 2/1462 2U 2/1493 1U 2/6503 1U a6 |n= |

12x8

CCERC 400x60 400 16" 60 23/8" 2/1463 2U 2/1494 1U 2/1392 1U @72
CCERC 500x60 500 20" 60 23/8" 2/1464 2U 2/1495 1U - -
CCERC 600x60 600 24" 60 23/8" 2/1465 2U 2/1496 1U 2/1393 1U
CCERC 100x100 100 4" 100 4" 2/1414 2U 2/1505 1U
CCERC150x100 150 6" 100 4" 2/14l15 2U 2/1506 1U
CCERC 200x100 200 8" 100 4" 21416 2U 2/1501 1U
CCERC 300x100 300 12" 100 4" 21418 2U 2/1509 1U @
CCERC 400x100 400 16" 100 4" 21419 2U 21510 1U
CCERC 500x100 500 20" 100 4" 2/1480 11U 2/1511 1U
CCERC 600x100 600 24" 100 4" 271481 1U 2/1512 1U
2x JUER = /“\ - X
\¢ <
TCCERC B x| oo T

mm  inch REF. MoQ
TCCERC 100 100 4" 2/1544 1U 21551 1U 2/3263 1U %
TCCERC 150 150 6" 21545 11U 2/1552 11U 2/3264 1U
TCCERC 200 200 8 2/1546 1U 2/1553 1U 2/3265 1U ﬁﬁ
TCCERC 300 300 127 21541 1U 2/1554 1U 2/3266 1U
TCCERC 400 400 16 2/1548 1U 2/15%5 1U 2/3211 11U
TCCERC 500 500 20" '2/1549 11U 2/1556 1U - - 9
TCCERC 600 600 24" 2/1550 1U 2/1551 1U 2/4724 1U :
X T




BasorTRAY
ERE-MRE-FRE

CXERC

2xJUER

# - M- K

X

TCXERC

CXERC 100x35
CXERC 150x35
CXERC 200x35
CXERC 300x35
CXERC 100x60
CXERC 150x60
CXERC 200x60
CXERC 300x60
CXERC 400x60
CXERC 500x60
CXERC 600x60
CXERC 100x100
CXERC 150x100
CXERC 200x100
CXERC 300x100
CXERC 400x100
CXERC 500x100
CXERC 600x100

TCXERC 100x35
TCXERC 150x35
TCXERC 200x35
TCXERC 300x35
TCXERC 100x60
TCXERC 150x60
TCXERC 200x60
TCXERC 300x60
TCXERC 400x60
TCXERC 500x60
TCXERC 600x60
TCXERC 100x100
TCXERC 150x100
TCXERC 200x100
TCXERC 300x100
TCXERC 400x100
TCXERC 500x100
TCXERC 600x100

\\ \/

B
mminch

100 4
150 6"
200 8"
300 12
100 4
150 6
200 8
300 127
400 16

500 20
600 24"

100 4
150 6"
200 8
300 12
400 16

500 20
600 247

IIII:!IIIIIII'!III 1304
mm-inch --- REF.
35 13/8” 2/1565 2/1536
35 13/8" 2/1566 11U 2/1591 1U ©
35 13/8” 211567 11U  2/1598 1U
35 13/8” 2/1568 10U  2/1599 1U
60 23/8" 2/1512 11U 2/1603 1U 2/4909
60 23/8" 2/1513 " 1U  2/1604 1U  2/5158
60 23/8" 2/1514 11U 2/1605 11U  2/5025
60 23/8" 2/1516  1U  2/1607 1U  2/6817
60 23/8" 21517 11U 2/1608 1U 2/1514
60 23/8" 2/1518° 1U 211609 1U
60 23/8" 201513 11U 2/1610 1U  2/1515
100 4" '2/1588 | 1U 2/1613 1U
100 4 21589 10 2/1620 1U
100 4" '2/1590 ' 1U 271621 1U
100 4" 21592 | 1U 2/1623 1U @
100 4" '2/1593 10U 2/1624 1U
100 4 2/1594 10 21625 1U
100 4" 21595 10U 2/1626 1U

mm

100 4

150 6
200 8"
300 12
100 4
150 6
200 8
300 12
400 16"
500 20
600 24"

150 6"
200 8"
300 12
400 16”
500 20
600 24

2/1658
211659
2/1660
2/1661
2/1665
2/1666
211667
2/1669
211610
21671
211672
211681
2/1682
2/1683
2/1685
2/1686
201681
2/1688

1
1

I
mh --- .

2/1689
211690
211691
2/1692
2/1696
201691
2/1698
2/1700
211101
211102
2/1703
2112
21113
201114
211116
211
21118
219

1Y

©

2/3565
2/3249
2/3253
2/3250
2/3251

2/3252

i304

3€Basor
Mo ]
’p{/Y <
12x8
1 B
1U 75— |
]U 00 ]
1U |i316 —
1w ©
U
MOQ :ﬂf
s
I
1
1 N
3
1U ®
U i316
e
1U

CERTIFIED
SAFETY US CA

E39 09

Basor



Basor

BasorTRAY
ERE-MRE-FRE

TERC

X P IS
= A

TTERC

30 E39

TERC 100x35
TERC 150x35
TERC 200x35
TERC 300x35
TERC 100x60
TERC 150x60
TERC 200x60
TERC 300x60
TERC 400x60
TERC 500x60
TERC 600x60
TERC 100x100
TERC 150x100
TERC 200x100
TERC 300x100
TERC 400x100
TERC 500x100
TERC 600x100

2xJUER

X

[ 3

TTERC 100
TTERC 150
TTERC 200
TTERC 300
TTERC 400
TTERC 500
TTERC 600

X

mm
100
150
200
300
100

inch  mm

4
&
g
12"
4

150 6

200
300
400
500
600
100
150
200
300
400
500
600

35
35
35
35
60
60
60

" 60
" 60
" 60
" 60
" 100
" 100
" 100
" 100
" 100
" 100
" 100

e

AR R R AR R

2/1751
2/1152
2/1153
2/1154
2/1158
2/1759
2/1160
21162
21763
2/1764
2/1165
201714
2/1715
21716
21718
21719
2/1180
21781

s T
m i

100 4"
150 6
200 8"

300 12
400 16
500 20
600 24

U 2/1782
10 2/1783
10 2/1784
10 2/1785
U 271789
U 21790
1 21791
10 2/1793
10 2/1794
10 2/1795
10 2/1796
10 2/1805
10 2/1806
U 211807
10 2/1809
10 2/1810
U 2/1811
1 21812

2/1844 11U
2/1845 1U
2/1846 1U
2/1848 1U
2/1849 1U
2/1850 1U
2/1851 11U

o
13/8°
13/8"
13/8°
13/8°
23/8"
23/8"
23/8"
23/8"
23/8"
23/8"
23/8"

U
1U
U
1u
U
U
1u
1U 304 i316
1w 0O
1u
1u
1U
1U
1u
1U
1U
1U
1U

Uy

2/1852 11U
2/1853 11U
2/1854 11U
2/1855 11U
2/1856 1U
2/1851 1U
2/1858 11U

3EBasor

vvvvvvvvvvvvvvvvv

12x8

te
18x7.5
0o 00|

B+320

lo
Ly

@ 00

4

[
n
—

N

Leo |
R0, v

B+161

B+2
B+320

B+2




BasorTRAY 3€Basor

AAAAAAAAAAAAAAA

ERE-MRE-FRE
CRERC s« T
mm_inch mm inch % %‘I
CRERC100x35 100 4" 35 13/8” 2/1866 1U 2/1897 1U A 12x8

b CRERC150x35 150 6" 35 13/8” 2/1867 1U 2/1898 1U 75
> CRERC 200x35 200 8" 35 13/8” 2/1868 1U 2/1899 1U

CRERC 300x35 300 12° 35 13/8” 2/1869 1U 2/1900 1U - =0
CRERC 100x60 100 4" 60 23/8" 211813 1U 2/1904 1U “‘/wm ”““E
CRERC 150x60 150 6" 60 23/8” 2/18714 1U 2/1905 1U UE\ 11
CRERC 200x60 200 8" 60 23/8” 2/1815 1U 2/1906 1U \U ) U‘ Rigg |
CRERC 300x60 300 12" 60 23/8" 2/1811 1U 2/1908 1U 304 i316 = ; =
CRERC 400x60 400 16" 60 23/8” 211818 1U 2/1909 1U @ @ B+320
CRERC 500x60 500 20" 60 23/8" 2418719 1U 2/1910 1U
CRERC 600x60 600 24" 60 23/8” 2/1812 1U 21911 1U
CRERC 100x100 100 4" 100 4" 211889 1U 2/1920 1U
CRERC 150x100 150 6" 100 4 2/1890 1U 2/1921 1U
CRERC 200x100 200 8" 100 4 21891 11U 21922 1U
CRERC 300x100 300 12" 100 4* 2/1893 1U 2/1924 1U
CRERC 400x100 400 16" 100 4* 2/1894 1U 2/1925 1U
CRERC 500x100 500 20" 100 4 2/1895 1U 2/1926 1U
2 x JUER CRERC 600x100 600 24" 100 4 211896 1U 2/1927 1U
o
\ =
NP
| 8 =
TCRERC B s | oo
m | m
TCRERC 100 100 4" 271959 1U 2/1967 1U J &
TCRERC 150 150 6" 2/1960 1U 2/1968 1U
TCRERC 200 200 8" 2/1961 1U 2/1969 1U $§
TCRERC 300 300 127 271963 1U 2/1971 1U
" TCRERC 400 400 16" 2/1964 1U 2/1972 1U ﬁ @ﬁﬂ‘
TCRERC 500 500 20" '2/1965 1U 2/1913 1U e
TCRERC 600 600 24" 21966 1U 2/1974 B+320

% T

E39 3]

Basor



Basor

BasorTRAY 3€Basor

vvvvvvvvvvvvvvvvv

ERE-MRE-FRE
AS B N e | owe |
mminch mm inch % %‘I
AS 100x35 100 4 35 13/8” 2/1983 1U 2/2015 1U 2 128 t
AS 150x35 150 6" 35 13/8" 2/1984 11U 2/2016 1U
AS 200x35 200 8 35 13/8” 21985 1U 2/2011 1U Niss Too|
AS 300x35 300 12" 35 13/8” 2/1981 1U 2/2019 1U ﬁ Lo By %

AS 100x60 100 4" 60 23/8" 271991 2U 2/2023 2U S
AS 150x60 150 6" 60 23/8" 2/1992 2U 2/2024 2U B+320
AS 200x60 200 8" 60 23/8" 21993 2U 2/2025 2U
AS 300x60 300 12" 60 23/8" 2/1995 2U 2/2027 2U 304 i316
AS 400x60 400 16" 60 23/8" 2/19%6 ~1U 2/2028 1U @ @
AS 500x60 500 20" 60 23/8" 21997 11U 2/2023 1U
AS 600x60 600 24" 60 23/8" 2/1998 1U 2/2030 1U
AS 100x100 100 4" 100 4" 2/2000 2U 2/2039 2U
AS 150x100 150 6" 100 4" 2/2008 2U 2/2040 2U
AS 200x100 200 8" 100 4" 2/2009 2U 2/2041 2U
AS 300x100 300 12" 100 4" 2/20101 2U 2/2043 2U
4
4
4

AS 400x100 400 16" 100 2/2012  1U  2/2044 11U
AS 500x100 500 20" 100 2/2013  1U  2/2045 1U
AS 600x100 600 24" 100 2/2014  1U  2/2046 11U

¥

2 x JUER + 4/100 x B1 ( 2/4356 - EZ // 2/6826 - HDG // 2/4925 - i304)

TAS O e | owe |
i
TAS 100 100 4 28325 1U 26332 1U - SR
TAS 150 150 6 2/836 1U 2/8333 1U
TAS 200 200 8 2/8321 1U 2833 1U O\ “
TAS 300 300 12" 2/8328 1U 2/8335 1U ]
TAS 400 400 16" 2/8329 1U 2/8336 1U o ®
TAS 500 500 20" 2/8330 1U 2/8331 1U
TAS 600 600 24" 2/8331 1U 2/8338 1U

X v

REER B o T o
mm inch  mm inch REF. MOQ
REER 50x35 50 2 35 13/8° 2/6290 10U 2/6298 10U ©
REER 50x60 50 60 23/8” 2/6291 10U 2/6299 10U 2/8167 10U
REER 50x100 50 100 4" 12/6293 10U 2/6301 10U ©
REER 100x35 100 35 13/8" 12/6294 10U 2/6302 10U

REER 100x60 100
REER 100x100 100

60 23/8" 2/6295 10U 2/6303 10U 2/8168 10U
100 4" 2/6297 10U 2/6305 10U @

= B RN




BasorTRAY
ERE-MRE-FRE

L=3m(10fY)

JUER

JUER 35

JUER 60

3EBasor

AAAAAAAAAAAAAAAAA

N x| omc T s .
o e Y REC MOQ | REL MO L?[E —
T 7 a

120

PS 35 35 13/8” 2/3416 30M 2/3479 30M

PS 60 60 23/8” 2/2066 30 M 2/3480 30M 2/3645 3M 2/15545 3M ‘ . 25"8'5@ |
[ane) = (e

PS 100 100 4" 2/3418 30M 2/3482 30M 2/5138 6M

/;/100 x B1 (500-500 mm) (2/4356 - PG // 2/6826 - HDG // 2/4925
- 304 // 2/18388-i316)

B o I o N
mm inch mm inch REF. M0Q REF. MOQ U U
sucP 160 62/7' 130 51/8' 2/14255 10U 2/14256 10U = | | / \U:
f H &\8\5\0 _Hj o o U
2/100 x B1 (2/4356 - PG // 2/6826 - HDG /| 2/4925 - i304 // =) —
2/18388-i316) 2005
120
o----0 (Fe=== - B
H H H H [ TECEETS .
o---b FA— -
29-70 mm 79x50, 98-128x50, 15-55x82 1:30-147
o T o ﬂj
e RE 0O -
JUER 35 35 13/8” 2/2041 1U 2/2052 1U - - [}
JUER 60 60 23/8 2/2048 1U 2/2053 1U 2/3233 1U U“’*"S
JUER 100 100 4" 2/2050 1U 2/2055 1U U =
2/100 x B1 (2/4356 - PG // 2/6826 - HDG // 2/4925 - i304 [/ Q
Iz

c/2/183884316)

JUER 60

E39 33

Basor



Basor

BasorTRAY 3€Basor

AAAAAAAAAAAAAAAAA

ERE-MRE-FRE
JUER-A v T i316 ®EI
mn i RE. MOQ  REE MOQ /

JUER-A 35 35 13/8"12/3226 10U 2/5298 1U
JUER-A 60 60 23/8" 2/3229 15U 2/4439 10U 2/14246 14U @
JUER-A 100 100 4" 12/6209 10U 2/6416 1U

JUER-A 35 4/100 x B (2/4356 - PG /| 2/6826 - HDG // 2/4925 - i304 /| 2/18388-i316)

JUER-A 60
JUER-BFR 1304 -
REE. MOQ JRN j
JUER-BFR 60/65 2/1018 10U 7 OO — 3
10 35 55 119

50x7,5

o T o s :
—> [a—

- 0y w0 RE W0

JUER-B 35 35 13/8" 2/1204 10U 2/1208 10U
JUER-B 60 60 23/8” 2/1205 30U 2/4440 10U 2/14250 30 U @ - 160
JUER-B 100 100 4" 2/7207 10U 2/7210 10U - = Pt :

H-20

10

2/100 x B1 (2/4356 - PG / 2/6826 - HDG / 2/4925 - 1304/ 2/18388-i316)

54 E39




BasorTRAY 3€Basor

ERE-MRE-FRE o e
JUER-U o I o 1
m T m

JUER-U 60 60 238" 25140 BU 214241 U © =

JUER-U 100 100 4 1 2/14243 6U 2/14242 6U

2/100 x B1 (2/4356 - PG / 2/6826 - HDG / 2/4925 - i304) g
PBCH-20 S PYe
mm m REF. M0Q

PBCH-20 1MM <1 20 2/10086 1U

X5

=
B-1 . T o
o N e [
B1-100 14 6 2/435 1U 2/6826 1U - - ®
li/ " B1-100 0006 - - - - 249500 | g | ‘ .
U T @
—
TT / TTL Smin  Smax Dcable A B LN ot
mm? mm? mm mm mm REF MOQ
TT4-35 10 35 22a8 22 18 2/67196 10U =
1T 35-95 35 95 8a12 30 24 2/6197 10U
TTL10-35 10 35 4a8 25 - 2/8189 20U

-

TIL

E39 35

Basor






loseg

o~
M
®DA1 w
wldo m
c|2 8
Tm_b
)
W e
(w]
On&
0,
SN,
H 9 |
uw o
& a
m@Nn/» (7¢]
A =
% oo
[~ 4
Ez M T L e S 2 s T2
_ _________
—~ £ 9L = ES
X
wn
o
mzm - e s 8 R s S
o = C_OOBHZ%M.‘.‘SW
S > R
~] ¢
§ u
~ Lo . < = =
cEZ2S2gssasF
!\ 8 &
—
[ < 40
©
© o I « o W W Lo
5@y S| E Exs==2888%
e =
R (L

- - =2 N~

S L O O 9O W O o

L>100m
IEC 61537

Basor
o]
I




Basor

BasorFIL 3€Basor

vvvvvvvvvvvvvvvvv

BF2R

BF2R H65 DNV ¢ | con TR
mn - ch mmich REF MOQ

BF2R-2F 60X65 60 2" 65 2" 0 2/7389 24M 217354 24M 2/1516 24 M
BF2R 100X65 100 4" 65 27 0 2/1248 24M 2/17355 24M 2/1502 24 M
BF2R 150X65 150 6" 65 2" 0 2/7249 18M 2/17356 18M 2/7503 18 M i
BF2R 200X65 200 8" 65 2 0 2/7250 18M 2/17351 18M 2/1504 18 M © ik .
BF2R 300X65 300 127 65 2 1 2/1251 18M 2/17358 18M 2/7505 18 M 1 %: \\::%
BF2R 400X65 400 16" 65 2" 1 2/1394 6M 2/17359 6M 2/7506 6U
BF2R 500X65 500 20" 65 2" 1 2/1395 6M 2/17361 6M 2/1507 3U ri [
BF2R 600X65 600 24 65 2 1 2/1396 6M 2/17362 6M 2/7508 3U -
g BF2R-2F BF2R
60x65 HE5

X RN

BF2R H65
L=3m(10ft)

mm - inch m REF MoQ — -

TBF 60 60 2" 2/6044 10M 2/3614 10M 2/5594 10M L S

TBF 60 TERE100 100 4 21312 [24M 2/1321  3M  2/4560 12M 3

L=15m (51t TERE150 150 6" (21313 24M 21322 3M  2/5123 12M =g g
TERE 200 200 8 21314 24M 2/1323 3M  2/4561 12M

TERE 300 300 127 21316 18M 2/1325 3M  2/416 12M B

X O o

TERE (BF2R H65)

1500

[

TERE
L=3m(101)
100/150/200/300

BF2R H105 s T o
mnnch mmich REF MO %L Jém

BF2R100X105 100 4" 105 &4 ngie 4m - © ©

BF2R 150X105 150 6" 105 2/1915 3M s =
BF2R 200X105 200 8" 105 2/1397 12M 2/17365 12M 2/7509 3M
BF2R 300X105 300 12" 105 2/1398 12M 2/17366 12M 2/7510 3M
BF2R 400X105 400 16" 105 2/1399 6M 2/17367 6M 2/1511 3M
BF2R 500X105 500 20" 105 2/7400 6M 2/17363 6M 2/7512 3M
BF2R 600X105 600 24" 105 2/7401 6M 2/17310 6M 2/7513 3M

L=3m(10fY) \ >< \

°als
5
L.~ ==

TBF 60 TERE
100/150/200/300

B +18

100

I — I e R e}

=R R R R R

38 BO7




BasorFIL 3€Basor

B 2R
TEBFR B s | wc T
BF2R H.IOS) mm inch R MOQ T e ]
( TEBFR 100 100 4 2/9189 8M - - 2M85T6 SN g
TEBFR 150 5 6 - - -
TEBFR 200 200 8 2/9791 3M 2/9888 3M 2/18578 3M
TEBFR 300 300 127 2/9792 3M 2/9889 3M 2/18579 3M E
TEBFR 400 400 16" 2/9793 3M 2/9890 3M 2/18580 3M
TEBFR 500 500 20" 2/9794 3M 2/9891 3M 2/18581 3M .
TEBFR 600 600 24 2/9795 3M 2/9892 3M 2/18582 3M
L=3m(10ft) \ v o
| |

BO7 39

Basor



Basor

Basor
é—’%oci%" ®
QANCE’,. CERTIFIED

& SAFETY US-CA

E358301

e}

Q"\i NT
‘ [ )
‘ 2257
LRODS

m i NO I
L>1=00m + ((({l’;\“ @ @ m

IEC 61537 ECe283010 IEC 61537 e 6152(77 9
URBF CGBF CULA 65/105 CTBF JUBFR-A GBF UCBF
W . w \ ~— q
KIT90 JUER-BFR 60/65 MU SL SLS SPBF SPVBF SSC SST
S\
F PBF SFS PBF60O STBU CFBFRA41 7STB2 SUC
| ﬁ @G -
SUCM SUCM 35 BJC BICM SFL PS PTBFR
Filling Area Ll
B H35 (13/8") H65 (2") H105 (4") H150 (6")
mm inch cm? in? cm? in? cm? in? cm? in?
60 7 12 18 25 39
100 ¥ 2 30 5 18 - - - -
150 6 36 56 81 125 146 226 216 428
200 g' 50 11 m 112 199 308 424 65,7
300 12 1 19 170 264 305 413 574 89,1
400 16" - - 228 354 410 636 649 100,7
500 20 - - 286 397 018 19 125 124
600 2 - - 345 443 625 802 875 1357

40 BO7




BasorFIL 3€Basor
BFR AAAAAAAAAAAAAAAAAAA

i DR o | w : :
BFR H35 EZ-HDG T N Rt | oo | e | oo = %ﬁ

BFR-2F60X35 60 2" 35 13/8” 2/6407 3M 2/8230 3M —
BFR 100X35 100 4" 35 13/8" 2/3616 24M 2/0286 3M
BFR 150X35 150 6" 35 13/8" 2/3617 18M 2/0287 3M
BFR 200X35 200 8" 35 13/8” 2/3618 12M 2/0288 3M
BFR 300X35 300 12" 35 13/8" 2/3619 18M 2/0289 3M

100

100

i
<200

' 2x CGBF (2/4364-EZ | 2/4360-HDG) alk P i
|
300 2 3 COBF (2/4364-EZ | 2/4360-HDG)
BFR-2F 60x35 BFR H35
BFR 100-300x35
L=3m(10f)
BFR H35 i304-i316 e i B B £ 8
mm inch mm inch REF M0Q REF M0Q = s %ﬁ
BFR 60X35 60 2 35 13/8” 2/6516 24M 2/8233 3M - ®
BFR100X35 100 4° 35 13/8” 2/0303 24M 2/7415 3M
BFR150X35 150 6 35 13/8” 2/0304 3M - : g
BFR200X35 200 8 35 13/8” 2/0305 12M 2/1411 3M =
BFR300X35 300 12" 35 13/8” 2/0306 18M 2/7418 3M
BFR 60x35 L
<200 - 2x CGBF (2/4915-i304 / 2/5358-i316) 1t 0o
LR A
5300 “2 3% COBF (2/4915-1304 / 2/5358-i316) |
BFR-2F 60x35 BFR H35
BFR 100-300x35
L=3m(10f})
BFR H65 EZ-HDG B N o | weo | - .
R v | oo [ ke | oo | l-IEH
BFR-2F60X65 60 2 61 2" 2/10009 24M 2/15576 3M e |—| T
BFR100X65 100 4 65 2" 2/3622 24M 2/0291 3M -
BFR150X65 150 6" 65 2" 2/3623 18M 2/0292 3M
BFR200X65 200 8 65 2" 2/3624 18M 2/0293 3M iy
BFR300X65 300 12" 65 2" 2/3625 18M 2/0294 3M =
BFR400X65 400 16" 65 2° 2/4407 6M 2/0295 3M 1] 1R
BFR500X65 500 20" 65 2 2/4409 6M 2/0296 3M il [
BFR600X65 600 24" 65 2" 2/3626 6M 2/0297 3M
<200 ¥ 2x URBF (2/6217-EZ / 2/6219-HDG) e BER HES

[0 [
2300 ==+ 2x URBF (2/6217-EZ / 2/6219-HDG)
+1x CGBF (2/4364-EZ | 2/4360-HDG)

L=3m(101Y)

BO7 4]

Basor



Basor

BasorFIL 3€Basor

vvvvvvvvvvvvvvv

BFR
. . . » B |
BFR H65 1304-1316 B H i304 i316
mm inch  mm inch REF MOQ REF MOQ
BFR-2F6OX65 60 2° 65 2° 2/0307 24M 2/7419 3M 125
BFR100X65 100 4 65 27 2/0308 24M 2/1420 3M any
BFR150X65 150 6 65 27 2/0309 18M 2/7421 3M il g
BFR200X65 200 & 65 27 2/0310 18M 2/1422 3M
BFR300X65 300 12 65 2° 2/0311 18M 2/7423 3M Ll
BFR400X65 400 16" 65 2° 2/0312 6M 2/7424 3M ; IRE B
BFR 500X65 500 20" 65 27 2/0313 6M 2/1425 3M iy
BFR 600X65 600 24" 65 2" 2/0314 6M 2/1426 3M |
<200 &% 24 CGBF (2/4915-1304 / 2/5358-i316) @ =l BrR-27 60465 BFR H65
5300 -2 3x CGBF (2/4915-304 | 2/5358-i316) -
L=3m(10ft)
BFR H105 EZ B « IEEE i
mm inch ~mm inch MOQ
BFR 200X105 200 8" 105 4 2/4953 12M 50T
BFR 300X105 300 127 105 4" 2/4959 12M
BFR 400X105 400 16" 105 4" 2/4960 6M
BFR 500X105 500 20" 105 4" 2/4961 6M g
BFR 600X105 600 24" 105 4" 2/6043 6M
<200 % 2x URBF (2/6217-EZ / 2/6219-HDG) L
>300 b2+ 2x URBF (2/6217-EZ / 2/6219-HDG) T
+1x CGBF (2/4364-EZ | 2/4360-HDG)

Fy
mm inch ~mm inch

EBFR 200X105 200 8" 105 4" 2/1333 3M T ﬂ
EBFR 300X105 300 127 105 4° 2/1334 3M Lﬂj
EBFR 400X105 400 16" 105 4” 2/1335 3M
EBFR 500X105 500 20" 105 4" 2/1336 3M
EBFR 600X105 600 24" 105 4" 2/1331 3M
<200 & 2% URBF (2/6217-EZ / 2/6219-HDG) -
—— 2300 -2 2x URBF (2/6217-EZ / 2/6219-HDG)
—_—
= +1x CGBF (2/4364-EZ | 2/4360-HDG)
basorfil EI‘IPFQU@E—BFR
. . . - B
BFR H105 1304-1316 B H 1304 916 ]
mm inch mm inch REF MOQ REF MOQ R«
BFR 100X105 100 4" 105 4" 2/8169 12M
BFR 200X105 200 8" 105 47 2/0315 12M 2/7421 3M
BFR 300X105 300 127 105 47 2/0316 12M 2/1428 3M
BFR 400X105 400 16" 105 47 2/0317 6M 2/1429 3M -
BFR 500X105 500 20" 105 4" 2/0318 6M 2/7430 3M =
BFR 600X105 600 24" 105 4" 2/0319 6M 2/7431 3M
L=3m(10f) <200 %1 2x CGBF (2/4915-1304 | 2/5358-i316) L J
2300 2 3x CGBF (2/4915-1304 / 2/5358-i316) [

47 BO7




BasorFIL
BFR

TERE

TERE 100
TERE 150
TERE 200
TERE 300
TERE 400 2M
TERE 500 2M
TERE 600 2M
TERE 400 3M
TERE 500 3M
B TERE 600 3M

B<300 L=3m(101Y)
B<400 L=2m(61/21Y)

TBF 60
TBF 60 1,5M
\/
URBF
URBF 65/105
URBF 35
65/105 I
105 I
URBF 35 URBF 65/105

B k| e T
mm inch REF MoQ

100 4 2/1312 24M 271321 3M  2/4560 12M
150 6" 21313 24M 2/1322 3M  2/5123 12M
200 8 21314 24M 21323 3M  2/4561 12M
300 12" 21316 18M 21325 3M  2/4116 12M 316
400 16" (21317 12M 21326 2M - - @
500 20" 2/1318 8M 21321 2M
600 24" ‘21313 8M 211328 2M
400 167

500 207

600 24’

2/4931 6M
2/4562 6M
2/5351 6M

s DTN o
LN ver | oo | s | oo TS

60 2" 2/6044 10M 2/3614 10M 2/5594 10M

I

2/6217 50U  2/6219 50U
212 25U 271212 25U

CERTIFIED
SAFETY US CA

UR BFR 65/105 EBFR 105

3EBasor

AAAAAAAAAAAAAAAAA

B+2

1500

o ULIUTY

[é

I AN
]

25

o~
n

12

@M@ URBF 65/105

46

— K

URBF 35

BO7 43

Basor



Basor

BasorFIL 3€Basor
A R

CGBF o IR

CGBF 6 2/4364 100U 2/4360 100U 2/4915 100U 2/5358 100U

20

=]
Q
S
E358301
)
=
(o2}

Joseg
18

N
@

o IEEIAEEEE o g —

CULAG5/105 6 2/4919 25U 2/4363 25U 2/4921 25U
10

34

Q
SAFETY US-CA
E358301

}lo
ro INCHN T o 16 ~
m R W00 | RE Moo
6 2/4362 100U 2/7132 100U 2/4323 100U 2/8229 100U N
)
@ o®
[@ o~
@
=

N
~

- BT o
JUBFR-A i

JUBFR-A 65/105 2/9868 1U 2/9869 1U

2 x GBF (2/0337-EZ / 2/0340-i304)
+2/100 x B (2/4356-EZ | 2/4925-i304)




BasorFIL
A
G BF Pap n
Nm
GBF 6 2/0337 100U
UCBF Pap

N'm

UCBF 6

KIT90

KIT90

T o 16
REF MOQ  RE MOQ

2/0339 100U 2/0340 100U 2/1104 100U

D

o | we RN
R 0o

2/5059 100U 2/5060 100U 2/5093 100U

REF MoQ
218641 2U

W 2 x (ULA 65 EZ + 1ISO7380-2 M6x25 EZ + DING923 M6 EZ)
] L )

JUER-BFR

JUER-BFR 60/65

1304
REF MoQ
2/1018 10U

i316

7 v
> 2 X CTBF + 2/100 x B
‘ £

3EBasor

AAAAAAAAAAAAAAAAA

18

26

70
S
&S
125
30,5
— [GD) o
35 55 19

BO7 45

Basor



Basor

BasorFIL 3€Basor

AAAAAAAAAAAAAAAAA

A
MU ¥ <~ T
mm | s MOQ RF MOQ | RE MOQ wos |0
MU 500 500 2/0357 10U  2/9872 10U 2/14244 10U ' Ufj
MU 275 215 210001 10U ®© ®© 0=
7 0 -
2 x CTBF U
0
J16[
SL BT o
R WOD

SL 2/0355 18U 2/0365 10U 2/0375 1U

M Mod. 60x65 - T00x65

SLS BT o [ wm e
Q| RE WD

SLS 2/0360 36U 2/0370 36U 2/0380 1U 2/18561 1U
I*—l BFR/BF2R 60x65 - 100x65
i*—:ﬁ VR6/VR8 - BFR/BF2R 60x65..200x65

| 85] o
103

30 19

REF MoQ REF M0Q !
SPBF 60-100x35 217591 1U 27171595 11U

i




BasorFIL
A

SPVBF

SPVBF 100/70
SPVBF 100/120

i304

I
SRR [ oo T

100 70 15 2/187116 1U 2/187117 1U
100 120 15 2/18105 1U 2718706 1U

BT o

N v
m R 0o

SSC 8/10 10,5 2/2064 50U 2/0363 50U 2/0373 50U

10
p SSC 8/10 -> M8/M10

N 60x35, 150x35, 60x65.

.
LAJ_

SST
ST

f VR8/VRIO

CERTIFIED
SAFETY US CA

| m

2/5124 25U

3EBasor

uuuuuuuuuuuuuuuuu

73

K

SPVBF100/70

20x9

4,

4

90

() ©

64

L

SPVBF 100/120

40

60

1,5

3

BO7 47/

Basor



Basor

BasorFIL 3€Basor

vvvvvvvvvvvvvvvvv

A
STBF hoe
mm mm REF MOQ
STBF 100X35 45 90 2/9675 1U %
7x7
STBF 60X65 45 120 211314 1U O
STBF 100X65 70 120 '2/0886 25U j
L=,

316 o
S w om =y

1250 551 2/5590 12U 2/439] 21U 28171 21U 8 o 101
60 % - -

|as |
-
SFS | e
REF M0Q
SFS 140 2/5602 24U

142

C-SVO + 2 x SFS + 2/100 x Bl

48 BO7




BasorFIL
A

PBF60

CFBFR41

PBF60

CFBFRH1

\ SP, SP3S, 41/82

STB212-32

X

STBU

65/1OSI

105 I

3EBasor

AAAAAAAAAAAAAAAAA

B i304
mm inch REF MOQ
60 27 2/1304 1U j 1
U
B 12x8
= ]]](?[[
35x7,5
i301 a6
REF MOQ R3
2/10284 100U /:‘\D — \,
© bezor crerre1 C€
27 20 27
[ e | owe (TR
R oo B

2/18798 20U 2/18199 1U 2/18800 1U

1S3
]
D
S8
N
[y
(5]
=
a

Q]
O

EO
I RTEPRT 0
127

N
106
Lo |

X7,5 150

BO7 49

Basor



Basor

BasorFIL
A

SuUcC

SUCM

SUCM 35

s

BJC

50 Bo7

3EBasor
T o n
i316 @
Suc 2/0358 4U 2/0368 4U 2/0318 4U _ Q"/ 35x7,5
X . [ NI
SIBRIRK] o1 = Zell0
e e IR
H H H H @-mmnnnn ° 507
- beeeed "
2970 mm 79450, 98-128x50, 15-55x62 1:30-147 30
BT o s
W g g/o .
SUCM 2/0359 20U 2/0369 20U 2/03719 20U L N2 J Fd
3l [ ] IR
------- i A
49l o l9hH
2 ] |15
48
73
T
SUCM 35 2/6343 10U 2/1256 10U 29
7 2 x CTBF (2/4362-EZ /| 2/7132-HDG // UUL @Qg %f
2/4923-i304) CF e @]@as
5 (1NN INZASANYY

BJC

7.5

I =

2/6451 11U 2/6452 11U




BasorFIL
A

BICM

SFL

REF MOQ
SFL 2/5906 11U

3EBasor
100
REF M0Q & —
2/9807 11U \\ 2
18x7,5 —
é [G>RE») [@DNS)
OO D O 0 N
1304 s

REF M0OQ
21308 1U {M

PS o T o s [
mm - inch REF MOO | R MOO 2
PS 35 35 13/8" 2/3416 30M 2/34719 30M 6
PS 60 60 2" 2/2066 30M 2/3480 30M 2/3645 3M 2/15545 3M e
PS 80 80 31/7" 2/3471 30M 2/3481 30M 0
PS 100 100 4" '2/3418 30M 2/3482 30M 2/5138 6M U o
PS 35100 ] <8,
L-3m{0f) \ \ H 35/60/80/100 .
U —
i [l
PS 35/60/80/100
PTBFR s
REF MOD @ 48 22,5
PTBFR 210253 20U 2/10254 20U
\ 4 x PTBFR =>1x TERE (BFR) 8
C 1
N
HB5-105
A REF MoQ
TDC 2/5066 1U
BPZ 400 ml 201224 1U

B07 5]

Basor






@

CERTIFIED

SAFETY US-CA

E358301

j__ NO r(({‘\ 150°C -50° 22@ \’
L>100m + Vi B ohl L] |LOK |
IEC 61537 i2Rgzo10t0 IEC 61537 |EC 61537 IEC 61537

TFE/TFEL CPFE-125 H60 CCXFE-125 H60 TEFE-125 H60 CRFE-125 H60
REFE H60 BFE JUFE H6E0 JUFE-A H60
-
gﬁ & | reoewe |
JUFE-B H60 PS BICFE 100 & 4 10
150 6 6/ 104
200 g' 89 138
i 300 2 134 208
2 -.m 00 G 1 76
500 20 223 36,1
B2 600 2w 261 44

T39 53




asorTRAV 3€Basor

AAAAAAAAAAAAAAAAA

FE H60
FE H60 _-I—l!-m- 15 1
ENENE e T =14 =
FE 100160x1,5-333 3M 100 63 212" 15 204 3 oy g —= Hﬁ'
FE 150x60¢1,5-333 30 15 6 63 212 15 20750 3M [ q I°
FE 200x60x15-333 3M 200 & 63 212 15 2005 3M S
FE 300x60x1,5-333 30 300 12 63 212’ 15 200752 3M =l
FE 400x60¢1,5-333 30 00 16 63 212 15 2005 3M H
FE 500x601,5-333 3 500 20 63 212 15 200754 3 L
FE 600x60x1,5-333 301 600 24 63 212 15 20075 3 | p——l
0 |[E=====
)/ 4/100 x B2 (2/6792 - HDG) 7 |

- e
--

TFE100x1,5 3M 100 15 2/493]

TFE 150x1,5 3M 150 6" 15 2/4412 6M

TFE 200x1,5 3M 200 8 15 2/4413 6M

TFE 300x1,5 3M 300 12" 15 2/3519 3M

TFE 400x1,5 2M 400 16" 15 2/4430 2M

TFE500x1,5 2M 500 20" 15 2/4509 2M

L=3m(101) TFE 600x1,5 2M 600 24 15 2/4494 4M | ﬁ_f::ﬁ__%¥ 1
400/500/600 - L= 2 m (6,56 ft 20 —
D |

=
Es]
L3
o
L
Gen
[

f 4 x PTFE/PTFE-E60 ->1x TFE

] T o [ 0 [e| om |
CPFE-125 HeO -n--ﬂ Y

CPFE-125100x60x1,5 125 5 100 4 63 21/2° 15 2/0770 5 2009
CPFE-125150x60x1,6 90 125 150 6" 63 21/2" 15 2/0111  1U T
CPFE-125200x60x1,5 90 125 200 8 63 21/2° 15 2/07112 2U 258.5 0 *

CPFE-125300x60x1,5 90 125
CPFE-125 400x60x1,5 90 125

300 12 63 21/2" 15 2/071713 1U
400 16" 63 21/2" 15 2/0774
CPFE-125500x60x1,5 90 125 500 20" 63 21/2" 15 2/0715
CPFE-125 600x60x1,5 90 125 600 24" 63 21/2" 15 2/0716

R f 4/100 x B2 (2/6792 - HDG)

ol o g1 o1 g1 o

80
1
—
N

B 125 133

54 139




asorTRAV 3€Basor

AAAAAAAAAAAAAAAAA

A FE H60
CCXFE-125 H60 _n—u“
o non [ om [ von [ om | e ] oo |
CCXFE-125 100x60x15 100 63 212" 15 2/5222 1U
CCXFE-125 150x60x1,5 150 & 63 21/2° 15 2/5223 1U S
CCXFE-125 200x60x1,5 200 8 63 212 15 25224 1U I o/ =]
CCXFE-125 300x60x1,5 300 12 63 212 15 2/5225 1U o]
CCXFE-125 400x60x1,5 400 16" 63 21/27 15 2/5226 1U —
CCXFE-125 500x60x1,5 500 20" 63 21/27 15 2/5221 1U g 8 35
CCXFE-125 600x60x1,5 600 24" 63 21/2° 15 2/5228 1U g g o
m =)/ 4100 x B2 (2/6792 - HDG) 3 e
<
TEFE-125 H60 - s | ow o] we e
-m--- 5 ' 2009

TEFE-125100x60x1,5 125 5" 100 63 21/2" 15 2/0812 1U
TEFE-125150x60x15 125 150 6" 63 21/2" 15 2/0813 1U
TEFE-125200x60x15 125 200 8 63 21/2° 15 2/0814 1U
TEFE-125300x60x15 125 300 127 63 21/2° 15 2/0815 1U
TEFE-125400x60x15 125 400 16" 63 21/2" 15 2/0816 1U
TEFE-125500x60x15 125 500 20" 63 21/2° 15 2/0811 1U
TEFE-125600x60x1,5 125 600 24 63 21/2° 15 2/0818 1U

o1 o1 o1 o1 g1 Ol

R / 4/100 x B2 (2/6792 - HDG)

l!!l!!!
SAFETY US
E358301
0
0
0
0
133

CRFE-125 H60

o - ”l 2]z o]
mm | inch | mm mm | inch | mm f 657

2009
CRFE-125100x60x1,5 125 5" 100 63 21/2" 15 2/0833 1U

CRFE-125 150x60x1,5 125 5 150 6" 63 21/2 15 2/083 1U | —  J======
CRFE-125 200x60x1,5 125 5 200 8 63 21/2" 15 2/0835 1U i : fsxs'i/ '
CRFE-125 300x60x1,5 125 5" 300 12° 63 21/2" 15 2/0836 1U Em ; ;/: :
CRFE-125 400x60x1,5 125 5 400 16" 63 21/2” 15 2/0831 1U i A 3
CRFE-125 500x60x1,5 125 5 500 20" 63 21/2° 15 2/0838 1U |g===== w
CRFE-125 600x60x1,5 125 5 600 24" 63 21/2" 15 2/0839 1U B jus 133
R f 4/100 x B2 (2/6792 - HDG)
8 | ow el we |
REFE H6O T
REFE 50x60x2 50 63 21/27 2 2/6199 1U B4 2510
m REFE 100x60x2 00 4 63 21/27 2 2/6800 1U Ilgtm Eﬁﬂ
REFE 150x60x2 150 6" 63 21/2" 2 2/6801 11U  17[]ae) el
REFE 200x60x2 200 8 63 212" 2 2/6802 1U

|!!!!|!|!!|
SAFETY US
E358301

? * f 4/100 x B2 (2/6792 - HDG)

8

. y

T39 55




asorTRAV 3€Basor

AAAAAAAAAAAAAAAAA

A FE H60
BFE e | me |
BFE 6/8 3 2/0863 25U
BFE 10 3 2/0864 25U

f BFE 6/8 --> SHL --> B2 (2/6792 - HDQG)

f SP/SPD + BFE 10 --> DIN933 10X30 (217547- i304)
+TM41 MI10 (217584 - HDG) + DIN125 M10 (217542-304)

PTFE

IR
REF MO J‘r

PTFE 6 2 2/1054 30U h E

o i w

/4XPTFE=>1XTFE

o)
@x 38
5

o SEEE
JUFE He0 Ty e

JUFE 60/75 B 3 2 2/084 10U 3| < Qé —

e 4/100 x B2 (2/6792 - HDG) @

JUFE-A H60

JUFE-A 60/75 w3 2 2081 1U

/ 4/100 x B2 (2/6792 - HDG) i2

56 T39




asorTRAV 3€Basor

A FE HGE0 s
JUFE-B H60 L n Je |  owe [N
ElNmEEE
JUFE-BB 60/75 B3 2 2080 1U I‘] > U —
58
oa] o 264
f 4/100 x B2 (2/6792 - HDG)
PS N PG | ome |
PS 35 35 13/8" 2/3416  30M  2/3479 30M - (¢
25x8,5
/ 3 x (1ISO7380-2 M8x30 (218823) + DIN934 M8 (217603) o SkEe o]
PS 355 H60.
L=3m(10f)
REF MOQ i
BJCFE 100 15 210021 2U mﬂ
BJCFE 150 15 21002 2U -
BJCFE 200 15 210023 2U
BJCFE 300 15 2/10024 2U 15
BJCFE 400 15 210025 2U R
BJCFE 500 15 2/10026 20 | © © © ¢
£ (@] O (@] 0
BJCFE 600 15 2/10021 2U o o oo
(? O (@] 0
¢ 2n00x 82 (2/6792 - HDG) oo
B2 P |  mc [N
RE 0D
15 2/6792 10U 2/5392  1U ‘{
@20 ‘ 15

l!!l!!!
SAFETY US
E358301

T39 57/




®
CERTIFIED

SAFETY US-CA

E358301

én
=]

j__ NU(' 150 -50°C ?2@
3 M 11 R W

IEC 61537 }é’é%fgégw |EC 61537 |EC 61537 IEC 61537

CPFE-300 CCFE-300 CXFE-300 TEFE-300 CRFE-300

P
— -

TFE/TFEL JUFE JUFE-A JUFE-B

Filling Area ||

PS

Q H75 (37) H100 (4") | H120 (43/4") | HI50 (67)

e N P P R
§ 59 91 84 130

150 6 89 138 126 195 156 242 201 312

i a4 g' 118 183 168 26,0 208 322 268 415

a dm 300 12' m 214 252 39,1 312 484 402 62,3
400 16" 236 36,6 336 521 416 645 536 83,1

PTFE B2 500 20' 295 457 420 65,1 520 80,6 610 1039

600 I3 304 549 504 181 624 96,7 804 12456

REFE BFE

58 139




asorTRAV 3€Basor

AAAAAAAAAAAAAAAAA

FE
FE H75 p333 _-_-ﬂ-ﬂ- as P
oD S e
FE 100x75¢2-333 3M 00 4 75 3 2 2/0865 3M ) '
FE 150x75x2-333 3 50 & 5 3 2 2086 3M |l ER
FE 200x75x2-333 31 200 8 15 3 2 2087 3M | o=
FE 300x75x2-333 3 30 12 75 3 2 2/0868 3M 285
FE 400x75x2-333 3 400 16 75 3 2 2/0869 3M 8
FE 500x75x2-333 3 50 20 75 3 2 2/0810 3M
L=3m(10ft) FE 600x75x2-333 3 600 24 75 3 2  2/0811 3M | —l
P2 |[[eE=e====
X 7/ Lpooxe: (2/6792 - HDG) 4 ws |

FE HA _n—u“ =t
00 p333 o Lo [ on Lo [on |7 | o | Ul

FE100x100x2-333 31 100 100 4 2 2/0812 3M B
FE 150x100x2-333 3M 150 6 100 4 2 2083 3M [7] | —Uﬂ“
FE 200x100x2-333 3 200 & 100 4 2 2/0814 3M |- i B
S
FE 300x100x2-333 3M 300 17 100 4 2 2/0815 3M 265
FE 400x100x2-333 3M 400 16" 100 4 2 2/0816  3M 2
FE 500x100x2-333 3M 500 20° 100 4 2 2/0871  3M
L= 3m 01y FE 600x100x2-333 30 600 24 100 4 2 "2/0818 3M | | | ——i
oo o 9 |[E=====
R 7 4/100 x B2 (2/6792 - HDG) s‘/@ZOXQ.

8 | o e | wme .
FE H120 p333 _---- e[
FE 150120x2-333 3M 150 120 434" 2 2/6854 R ° i
FE 200x120x2-333 3M 200 8" 120 43/4" 2 2/6855 ~ 3M [ g [ =
FE 300¢120x2-333 30 00 12 120 434" 2 2/6856  3M Ao
FE 400x120x2-333 3M 400 16" 120 43/4" 2 2/6851 M o
FE 500x120x2-333 3M 500 20" 120 43/4" 2  2/6858  3M -
FE 600x120x2-333 3M 600 24" 120 43/4 2  2/6859  3M fj_f = Dfi
L=3m(10f) * f4/100xBZ(2/6792—HDG) ,‘D:JQ S
e | |

FE H150 p250 _-I-H“ 4 T4
N T S
FE 150x150x2-333 3M 150 150 6 2 2/6860 3M - B
FE 200x150x2-333 3M 200 8 150 6 2 2/6861 3M L= g -”§I§
FE 300x150x2-333 3M 300 127 150 6 2 2/6862 3M *C’z‘;;;’
FE 400x150x2-333 3M 400 16° 150 6" 2 2/6863  3M o
FE 500x150x2-333 3M 500 20" 150 6" 2 2/6864  3M -
FE 600x150x2-333 3M 600 24" 150 6 2 2/6865 3M [mm ]
K / 8/100 x B2 (2/6792 - HDG) :dﬂ [ —
L=3m (10f) Al | 20x9+

T39 59




asorTRAV 3€Basor

AAAAAAAAAAAAAAAAA

A FE
CPFE-300 ol or | o8 | o | e ENeH
o Lo Jiron [om Lot [om [ on [ e[ oo |
CPFE-300100X75¥2 90 300 12" 100 4 75 3 2/0881 1U = ]
GPFE-300 150X75X2 90 300 12 150 & 75 3 2/0888 1U
CPFE-300200X75X2 90 300 12 200 & 75 3 2/0889 1U
CPFE-300300X75X2 90 300 12° 300 12 75 3 2/08%0 1U
CPFE-300 400X5X2 90 300 12° 400 1§ 75 3 2/0891 1U
CPFE-300500X752 90 300 12° 500 20 75 3 2/0892 1U
CPFE-300 600XT5X2 90 300 12 600 24' 75 3 2/0893 1U
H75-H120 CPFE-300100X100X2 90 300 12 100 4 100 4 2/0895 1U
CPFE-300150X100X2 90 300 12° 150 6 100 4' 2/08% 1U
CPFE-300 200X100X2 90 300 12 200 & 100 4 2/0897 2U
CPFE-300300X100X2 90 300 12° 300 12° 100 4' 2/0898 2U HI5-H120
CPFE-300 400X100X2 90 300 12° 400 16' 100 4" 2/0899 2U
CPFE-300500X100X2 90 300 12° 500 20° 100 4' 2/0900 2U
PESODEODKIO0 90 300 17 600 24 100 & 20801 2U ] %

CPFE-300 150X120X2 90 300 12" 150 6" 120 43/4” 2/6880 1U

CPFE-300 200X120X2 90 300 12" 200 &' 120 43/4" 2/6881 1U

HIS0 CPFE-300 300X120X2 90 300 127 300 12" 120 43/4" 2/6882 1U
CPFE-300 400X120X2 90 300 12" 400 16" 120 43/4” 2/6883 1U
CPFE-300 500X120X2 90 300 127 500 20" 120 43/4” 2/6884 1U
CPFE-300 600X120X2 90 300 12" 600 24" 120 43/4” 2/6885 1U
CPFE-300 150X150%2 90 300 12”7 150 6" 150 6" 2/6886 1U
CPFE-300 200X150%X2 90 300 127 200 8" 150 6" 2/6881 1U
CPFE-300 300X150%2 90 300 12" 300 12" 150 6" 2/6888 1U
CPFE-300 400X150X2 90 300 12" 400 16" 150 6" 2/6889 1U
CPFE-300 500X150X2 90 300 12" 500 20" 150 6" 2/6890 1U H150
CPFE-300 600X150X2 90 300 12 600 24" 150 6" 2/6891 1U
< >< 2.2
4/100 x B2 (206792 - GC) (8/100 x B2 + 150)
CCFE-300 ol v [ 8 [ w [ we |
o Lo Loon Lo L [ om [ o [ e { oo |

3 - CCFE-300 100X75X2 90 300 12" 100 4" 75 3 2/4194 1U

: § CCFE-300 150X75X2 90 300 12 150 6" 715 3" 2/4596 1U
CCFE-300 200X75X2 90 300 12 200 8" 715 3 2/4548 1U
CCFE-300 300X75X2 90 300 12 300 12" 75 3 2/4549 1U
CCFE-300 400X75X2 90 300 12" 400 16" 75 3 2/0802 1U
CCFE-300 500X75X2 90 300 12 500 20" 75 3 2/0803 1U
CCFE-300 600X75X2 90 300 12" 600 24" 75 3 2/0804 1U
CCFE-300 100X100X2 90 300 12" 100 4" 100 4" 2/0805 1U
CCFE-300 150X100X2 90 300 12 150 6" 100 4" 2/0806 1U
CCFE-300 200X100X2 90 300 12 200 8" 100 4" 2/0807 1U
CCFE-300 300X100X2 90 300 12”7 300 12" 100 4" 2/0808 1U .
CCFE-300 400X100X2 90 300 12" 400 16" 100 4" 2/0809 1U H75-H120
CCFE-300 500X100X2 90 300 127 500 20" 100 4" 2/0810 1U
CCFE-300 600X100X2 90 300 12 600 24" 100 4" 2/0811 1U

CCFE-300 150X120X2 90 300 12" 150 6" 120 43/4” 2/6892 1U
CCFE-300 200X120X2 90 300 12" 200 & 120 43/4" 2/6893 1U
CCFE-300 300X120X2 90 300 12" 300 12" 120 43/4" 2/6894 1U
CCFE-300 400X120X2 90 300 12" 400 16" 120 43/4” 2/6895 1U
CCFE-300 500X120X2 90 300 12" 500 20" 120 43/4" 2/6896 1U
CCFE-300 600X120X2 90 300 12" 600 24" 120 43/4" 2/6891 1U
CCFE-300 150X150X2 90 300 12" 150 6" 150 6" 2/6898 1U

H
N

2x JUFE

CCFE-300 200X150X2 90 300 12" 200 & 150 6" 2/6899 1U LLEJZSM [
H150 CCFE-300 300X150X2 90 300 12" 300 12" 150 6" 2/6900 1U ol L -

CCFE-300 400X150X2 90 300 12" 400 16" 150 6" 2/6901 1U ' !

CCFE-300 500X150X2 90 300 12" 500 20" 150 6" 2/6902 1U B

CCFE-300 600X150X2 90 300 12" 600 24" 150 6" 2/6903 1U H150

60 T39




asorTRAV 3€Basor

AAAAAAAAAAAAAAA

A FE
CXFE-300 7N T N T T
KNI EN P P R

CXFE-300 100X75X2 300 100 75 3 2/0909
CXFE-300 150X75X2 9[] 300 12" 150 6" 5 3 2/0910 1U
CXFE-300 200X75X2 90 300 12" 200 8 75 3 2/0911 1U
CXFE-300 300X75X2 90 300 12" 300 127 1B 3 20912 1U
CXFE-300 400X75X2 90 300 12" 400 16" 75 3 20913 1U
CXFE-300 500X75X2 90 300 12" 500 20" 15 3 20914 1U
CXFE-300 600X75X2 90 300 12 600 24" 715 3" 2/0915 1U
CXFE-300 100X100X2 90 300 12" 100 4" 100 4" 2/0916 1U == Jmsls:
CXFE-300 150X100X2 90 300 12" 150 6" 100 4" 2/0917 1U . )
CXFE-300 200X100X2 90 300 12" 200 8" 100 4" 2/0918 1U T :: 1
CXFE-300 300X100X2 90 300 12" 300 12" 100 4" 2/0919 1U =il )
CXFE-300 400X100X2 90 300 12" 400 716" 100 4" 2/0920 1U
CXFE-300 500X100X2 90 300 12" 500 20" 100 4" 2/0921 1U H75-H120
CXFE-300 600X100X2 90 300 12 600 24" 100 4" 2/0922 1U .
CXFE-300 150X120X2 90 300 12" 150 6" 120 43/4” 2/6904 1U o 7

CXFE-300 200X120X2 90 300 12" 200 8" 120 43/4" 2/6905 1U
CXFE-300 300X120X2 90 300 12" 300 12" 120 43/4" 2/6906 1U
CXFE-300 400X120X2 90 300 12" 400 16" 120 43/4" 2/6907 1U
CXFE-300 500X120X2 90 300 12" 500 20" 120 43/4” 2/6908 1U

CXFE-300 600X120X2 90 300 12" 600 24" 120 43/4 2/6909 1U D
CXFE-300150X1502 90 300 12" 150 6 150 6 2/6910 1U e
CXFE-300 200X150X2 90 300 12° 200 & 150 6  2/6911 1U =
CXFE-300300X150X2 90 300 12’ 300 12 150 6 206912 1U et .
CXFE-300 400X150X2 90 300 12 400 16" 150 6 2/6913 1U | asslt

H150 CXFE-300500X150X2 90 300 12 500 20" 150 6 2/6914 1U = 1™ 7
CXFE-300600XIS0X2 90 300 12 600 24' 150 & 26915 1U | || |
2x JUFE
E H150
TEFE-300 NN .,
m-m : 35 3000
TEFE-300 100XT5X2 300 12 100 4 15 2/0930 [
TEFE-300 150X75X2 300 12" 150 6 15 3" 2/0931 1u :
TEFE-300 200XT5X2 300 127 200 8 75 3 2/0932 1U 3\\
TEFE-300 300X75X2 300 127 300 12 75 3 2/0933 1U : u
TEFE-300 400X75X2 300 12" 400 16" 75 3 2/093% 1U  |beeee I
TEFE-300 500X75X2 300 127 500 20° 75 3 2/0935 1U 3 |
TEFE-300 600XT5X2 300 12 600 24 75 3 2/0936 1U j
TEFE-300 100X100X2 300 127 100 4 100 4 2/0931 1U A
TEFE-300 150X100X2 300 127 150 6 100 4 2/0938 1U gE ===== :
TEFE-300 200X100X2 300 127 200 8 100 4 20939 1U LI s
TEFE-300 300X100X2 300 12" 300 12 100 4 2/0940 1U :
TEFE-300 400X100X2 300 12 400 16' 100 4 2/0941 2U FEFE HI5/100/120
TEFE-300 500X100X2 300 12" 500 20° 100 4 2/0942 1U
TEFE-300 600X100X2 300 12 600 24' 100 4 2/0943 2U .
TEFE-300 150X120X2 300 12 150 6 120 43/4" 2/6916 1U -] Qf(; 7]
TEFE-300 200X120X2 00 12200 § 120 434 2690 10 ]
TEFE-300 300X120X2 300 12 300 12 120 43/4" 26918 2U ===
TEFE-300 400X120X2 300 127 400 16" 120 43/4" 2/6919 1U :
TEFE-300 500X120X2 300 12 500 20° 120 43/4" 2/6920 1U Z
TEFE-300 600X120X2 300 127 600 24° 120 43/4" 2/6921 1U s
TEFE-300 150X150%2 300 12 150 6 150 6 2/6922 1U  |==—== ; e
TEFE-300 200X150X2 300 177 200 8 150 6 2/6923 1U g ﬂ
TEFE-300 300X150X2 300 127 300 12 150 6 2/6924 1U Ve
TEFE-300 400X150X2 300 12 400 16' 150 6 2/6925 1U ]
TEFE-300 500X150X2 300 127 500 20° 150 6 2/6926 1U 8E °°°°° -
TEFE-300 600X150X2 300 12 600 24 150 6 2/6927 1U b,
T >< 41100 x B2 (2/6792 - HDG) (8/100 X B2 +150) @ TEFEH150

T39 6]




TRAV

asorTRAV
A FE

CRFE-300

L=3m(10fY)
400/500/600 - L=2 m (6,56 ft)

67 T39

3EBasor

vvvvvvvvvvvvvvvvv

CRFE-300 100X75X2 300 12" 100 15 2/0951
CRFE-300 150X75X2 300 12" 150 B” 15 3 2/0952
CRFE-300 200X75X2 300 12" 200 8" 75 3" 2/0953
CRFE-300 300X75X2 300 127 300 12 75 3" 2/0954
CRFE-300 400X75X2 300 12" 400 16" 75 3" 2/0955
CRFE-300 500X75X2 300 12" 500 20" 75 3" 2/0956
CRFE-300 600X75X2 300 12" 600 24" 15 3"  2/0957
CRFE-300 100X100X2 300 12" 100 4" 100 4" 2/0958
CRFE-300 150X100X2 300 127 150 6" 100 4" 2/0959
CRFE-300 200X100X2 300 12" 200 8" 100 4" 2/0960
CRFE-300 300X100X2 300 12" 300 12" 100 4" 2/0961
CRFE-300 400X100X2 300 12" 400 16" 100 4" 2/0962
CRFE-300 500X100X2 300 12" 500 20" 100 4" 2/0963
CRFE-300 600X100X2 300 12" 600 24" 100 4" 2/0964
CRFE-300 150X120X2 300 127 150 6" 120 43/4" 2/6928
CRFE-300 200X120X2 300 127 200 8" 120 43/4" 2/6929
CRFE-300 300X120X2 300 127 300 12" 120 43/4" 2/6930
CRFE-300 400X120X2 300 127 400 16" 120 43/4" 2/6931
CRFE-300 500X120X2 300 127 500 20" 120 43/4" 2/6932
CRFE-300 600X120X2 300 12" 600 24" 120 43/4" 2/6933
CRFE-300 150X150X2 300 127 150 6" 150 6" 2/6934
CRFE-300 200X150X2 300 12" 200 8" 150 6" 2/6935
CRFE-300 300X150X2 300 127 300 12" 150 6" 2/6936
CRFE-300 400X150X2 300 12" 400 16" 150 6" 2/6937
CRFE-300 500X150X2 300 127 500 20" 150 6" 2/6938
CRFE-300 600X150X2 300 12" 600 24" 150 6" 2/6939

:I|:|: R f 4100 x B2 (2/6792 - HDG) (8/100 x B2 +150) .

i1 B
S

1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U
1U

9

fo- | | >

20x9

150

80

il 1
ol Bl
o o
[ —.
ol Bl
i o
o o

—

B L3
CRFE H75/100/120
®9
i | | N7
20x9
e T
‘un""”
i
CRFE H150

B+38
--

TFE100x1,5 3M
TFE 150x1,5 3M
TFE 200x1,5 3M
TFE 300x1,5 3M
TFE 400x1,5 2M
TFE 500x1,5 2M
TFE 600x1,5 2M

S

100

150 6
200 &
300 12
400 16'
500 20’
600 24

15
15
15
15
15
15
15

4 x PTFE/PTFE-EGO ->1x TFE

2/4931
2/4472
2/4473
2/3519
2/4430
2/4509
2/4494

6M
6M
3M
2M
2M
4M




asorTRAV
A FE

PTFE

L=3m(101)

BICFE

3€Basor
mn i304 215 25
REF MoQ o ]
PTFE 6 2 2054 30U Nl e

£ gl

/4XPTFE=>1XTFE

@
SAFETY US
E358301

w w0 e [E —
- o o o 20|

PS 35 35 13/8” 2/3416 30M 2/3479 30M

PS 60 60 23/8”2/2066 30M 2/3480 30M 2/3645 3M 2/15546 3M
PS 80 80 31/7" 2/3471 30M 2/3481 30M
PS 100 100 4" 2/34i18 30M 2/3482 30M 2/5138 6M

f FE H60-100: 3 x (ISO7380-2 M8x30 (2/18823) + DIN9021 M8
(2/17543) + DIN934 M8 (2/17603))
FE H120-H150 & F2E: 3 x (ISO7380-2 M8x30 (2/18823) + DIN9021
M10 (2/18715) + DIN 934 M8 (2/17603)

PS 35- FE H60, PS 60~ FE H75, PS 80-FE H100, PS100-FE

H120/H150.
||
BJCFE100 15 2710021  2U
BJCFE 150 15 2710022 2U
BJCFE 200 15 2710023 2U
BJCFE 300 15 2710024 2U
BJCFE 400 15 2710025 2U
BJCFE 500 15 2710026 2U
BJCFE 600 15 210021 22U

/ 2/100 x B2 (2/6792 - HDQ)

D
—

M6x25

25x8,5
[ SOHE=E & o

188

50

B-
00000

oocoaoo
cocooo

20x9

T39 63




asorTRAV BEBGSOI'
A FE  \——— e

e RS
Lo o
10U
10U
10U
10U

JUFE

H-25

JUFE 60/75 n 3 2/0854

180

2
JUFET00 100 4 2 2/0856
JUFE120 120 43/4” 2 2/6940
JUFE150 150 6" 2

JUFE75/100/120

2/6941

f 4/100 x B2 (2/6792 - HDG) / 8/100 x B2 +150

wrea  EESEE
JUFE-A 60/75 5 3 2 2/087 1U
JUFE-A 100 100 4 2 2/0859 1U
JUFE-A 120 120 43/4” 2 2/6942 1U
JUFE-A 150 150 6”7 2 2/6943 1U

f 4/100 x B2 (2/6792 - HDG) / 8/100 x B2 +150

37,5/, 50

JUFE-B

JUFE-B 60/75 B3 2/0860 1U 5
JUFE-B 100 100 4 =
JUFE-B 120 120 43/4”
JUFE-B 150 150 6

2/0862 1U
2/6944 1U

2/6945 1U JUFE-B75/100/120

- e
P p—
2
2
2
2

: 97.5x9
f 4/100 x B2 (2/6792 - HDG) / 8/100 x B2 +150 I / ;
JUFE-B75-120 . il | 0
= C G C
0
58
264
JUFE-B 150

JUFE-B 150

B2

T o
R | moo [T

B2-100 15 26192 10 25332 1V ’3{

ﬁ

®20 | ‘ 15

1k

@
SAFETY US
E358301

a

64 T39




asorTRAV 3€Basor

AAAAAAAAAAAAAAAAA

A FE
B-4
REFE el o
REFE 50752 50027 75 3 2 26803 10U =] ) - ‘
REFE 100x75x2 00 4 75 3 2 2/6804 1U vl el
REFE 150x75x2 150 6 75 3 2 2/6805 1U REFE H75/100/120
REFE 200x75x2 200 8 75 3 2 2/6806 1U
REFE 50x100x2 50 20 100 4 2 2/6807 1U
REFE 100x100x2 100 4 100 4 2 2/6808 1U %ﬁgﬁ”
REFE 150x100x2 150 6 100 4 2 2/6803 1U _|g= =] 100
? REFE 200x100x2 200 8 100 # 2 2880 1w | 1YY -
. _ REFE 50x120x2 50 2 120 43/4” 2 2/6954 11U  ullss el
M REFE 100x120x2 100 4 120 43/4" 2 2/6955 1U REFE H150

REFE H75/100/120 REFE 150x120x2 150 6" 120 43/4" 2 2/695%6 1U
REFE 200x120x2 200 8 120 43/4" 2 2/6951 1U
REFE 50x150x2 50 2" 150 6 2 2/6958 1U
REFE 100x150x2 00 4 150 6 2 2/6959 1U
REFE 150x150x2 150 6 150 6" 2 2/6960 1U
REFE 200x150x2 200 8 150 6 2 2/6961 1U

REFE H150 f 4/100 x B2 (2/6792 - HDG) / 8/100 x B2 +150

T
BFE B

BFE 6/8 3 2/0863 25U 2065
BFE10 3 2/0864 25U é

37

20 |

f BFE 6/8 --> SHL --> B2 (2/6792 - HDG)

/SP/SPD + BFE 10 --> DIN933 10X30 (217547- i304) + TM41 M10 BFE 6/8
(217584 - HDG) o
+ DINT25 M10 (217542-i304) L:.:Dﬁ

@
SAFETY US

E358301
37

BEV

1 ==
BEV M6x25

2/11805 40U 214413 40U
J

T39 65




140ddns



asorSUPPORT 3€Basor

CTA kg (Ib) | [F= FEEEE i S

LsH0 - 105(231) 100(220)  81(178)  45(99)  21(29)
9A 98 . 85(187)  69(157)  45(9)  35(7)) 22(48)

B 104229 104229 80(76)  T0(154) 850181  80(76)  105(231)  90(98)
M5(253) 90(198) 700154  50(10)  40(88)  50(10)  45(%9)

10(155)  60(133)  60(133)  60(133)  60(133)  60(133)  60(133)  60(133)

160(352)  165(363)  140(308)  135(397)  120(264)

205(450)  205(450)  205(450)  250(550) 250 (550) 250 (550) 250 (550)

480(1058) 365(804) 300(66T) 285(628)  210(595) 265 (584)

¢ [ 6| . 350(172)  350(772)  350(772)  290(640) 250(552)  220(486) 200 (441)
9c 9D - 525(1157)  444(979)  342(154)  292(643)  250(551)  231(509)  213(469)
- 500(1103) 500(1103) 430(%48) 310(816) ~ 320(706) 260 (574)

610(1344)  610(1344)  520(1146)  450(992) ~ 380(859) 320 (70)

SP8 600(1322) 600(1322) 600(1322) 540(1190) 464(1022) 305(672)

a

SP+R450 > - - - - - 124(1597)  592(1306) 501(1105) ~ 434(367) 383 (B45) 310 (684)
a

SPD+R450 - - - - - - 1123(2476) 950(2095) 823(1815) 726 (1601) 588 (1297)

SHST e X : 160(352) 160(362)  146(321)  157(346) 124(213)  111(244) 106 (233)
a
SVP+SP - - 30(172)  360(1717) 290(640) 250 (552)  220(486) 200 (441)
[8+SHV - - : - 200 (441) 200 (447) 200 (447) 200 (441) 200 (441) 200 (441)

KS+SCR/SRB h - KOG M09 195(429) T0(54  50(0) 519 105(23)

[ 3 | 6 EYCE
KSR+C-SR - - - 195(429)  85(187)  175(385)  135(297) 110 (242)

E39 6/




asorSUPPORT 3€Basor

AAAAAAAAAAAAAAAAA

C-SHO e e Con TR e o
LR e oo | ser oo LRI ST =

C-SHO100 100 4" 1,5 105 2312/7230 10U 2/71233 10U 15 85 187 2/7430 10U
C-SHO150 150 6" 2 100 220 2/7231 10U 2/71240 10U 1,5 69 152 2/1491 10U B+ 112
C-SH0200 200 8" 2 81 1782/1232 10U 2/7241 10U 15 45 99 2/7492 10U T
C-SHO300 300 12" 2 45 99 2/1233 10U 2/1242 10U 15 35 77 2/7433 10U . oo ol
2
2

113

B +92

52,

C-SHO

C-SH0400 400 16 21 59 271234120 271243 12U 15 22 48 2/7494 12U
PSHO - 2/6240 40U 2/6318 40U -
TFS0(2/0894)

S LER P
/ L B1(2/4356 EZ/2/6826-HDG/2/4925-i304) E @j}[
| 18 L35 ]
. ) PSHO

TFSO

C-SHO

20

e ™ IS TP e o
llllllll

SCR 50 50 2" 15 104 229 2/0975 10U 2/3450 10U - jo

20x10 ,25x7.5 35x7.5
SCR 100 100 4" 1,5 104 229 2/0976 10U 2/0980 10U 15 115 253 2/0995 10U P £
SCR 150 150 6" 15 80 176 2/0977 10U 2/0981 10U 1,5 90 198 2/0996 10U 5450 s
SCR 200 200 8" 15 70 154 2/0978 10U 2/0982 10U 15 70 154 2/4691 1U
SCR 300 300 12" 2 85 187 2/0997 10U 2/1002 1U 15 50 110 2/1020 10U
SCR 400 400 16" 2 80 176 2/0998 10U 2/1003 1U 15 40 88 2/1021 10U
5\20)(11

36,

SCR 50/100/200/300/400

12x8

SCR 500 500 20" 2 105 231 2/0939 10U 2/1004 1U 15 50 110 2/4464 10U

SCR600 600 24" 2 90 198 2/1000 10U 2/1005 1U 15 45 99 2/1022 10U il
s Ug (2/4356-EZ | 2/6826-HDG | 2/4925-1304 ) B0
PR SCR 500/600/750
L' CTBF (2/4362-EZ/ 2/7132-HDG / 2/4923-i304 )
SRB -5---““
e oo | oo T W
SRB 100 2 100 4 15 70 155 2/6312 5U 26319 1U ?
SRB 150 2 150 6" 15 60 133 206373 5U 2/6380 1U ~ ‘aomoies
SRB 200 3 200 8 15 60 133 2/6374 5U 2/6381 1U E=EY=T————
SRB 300 4 300 127 2 60 133 2/6315 5SU 2/6382 1U SRB 100/150/200/300/400
SRB 400 4 400 16" 2 60 133 2/6376 5U 2/6383 1U
SRB 500 4 500 200 2 60 133 2/6371 5U 2/6384 1U o e
SRB 600 4 600 24" 2 60 133 2/6378 5U 2/6385 1U
f :L_l: ‘% B+50
S SRB 500/600

68 E39




asorSUPPORT

e -
SRB-N 100 100 4 15 160 352 224311 2U §‘t¢
SRB-N 150 150 6" 15 165 363 224372 2U o0 8
SRB-N 200 200 8 15 140 308 224313 2U ﬁ'i@
2
SRB-N 300 300 12 2 135 397 224314 2U T s g
SRB-N 400 400 16" 2 120 264 224315 2U A==t
/ :L_J: \%\ B+56
/" |l &1 (243567 / 2/6826-HDOG)
SHL DT we ms o
---------- - E{
SHL100 100 41 17/8" 205 450 2/6866 BU 4 sz: .
X \'
SHL150 150 6 1,5 4 53 2 205 450 2/6861 4U - o] e
1
SHL200 200 8" 15 4 58 21/4" 205 450 2/6868 4U 3 el 7|3
" " 1
SHL300 300 12" 15 6 68 23/4" 250 550 2/6869 2U SHL100/150/200
SHL400 400 16" 15 6 79 31/8" 250 550 2/6810 2U o
SHL500 500 20° 2 6 89 31/2" 250 550 2/6871 2U R o Bﬁmﬂ
SHLGOO 600 24 2 6 100 4 250 550 een2 ou O @ e
15 25x9 Q
f L B1(2/4356-EZ / 2/6826-HDG)
/ 1k CTBF (2/4362-EZ | 2/7132-HDG)
f H SHL 300/400/500/600
BFE (2/0863-HDG) + B2 ( 2/6792-HDG)
SHR e T
3 g » B+50
-------- 0 T ot
SHR 300 300 68 23/4' 480 1058 2/5525 1U 4 g exﬂ
SHR 400 400 16’ 2,5 6 79 31/8" 365 804 2/1023 1U i 15 w0 o
SHR 500 500 20° 25 6 89 31/ 300 661 21024 1U &
SHR 600 600 24" 25 6 100 4" 285 628 2/1025 1U °
SHR 700 700 28" 25 6 110 43/8" 270 595 2/1026 1U
SHR 800 800 327 25 6 120 434" 265 584 20021 10 ©

/ L B1(2/4356-EZ / 2/6826-HDQ)

u CTBF (2/4362-EZ / 2/7132-HDG)

/ H BFE (2/0863-HDQG) + B2 (2/6792-HDG)

3EBasor

ccccccccc

uuuuuuuu

E39 69




SUPPORT

SP

asorSUPPORT

S

SPD

70 E39

\

SP+R450

=

SPD+R450

TF41

3€Basor
e v s IETE o o
-------- . | o
SP 100 100 25 4 30 712 - - 2/645 1U 3 {DZ € &Elﬁ
SP 150 150 6" 25 4 350 772 2/4939 11U : 25x11 50
SP 200 200 8 25 4 350 112 24133 1U g ioc" =]
SP 300 300 12" 25 4 290 640 214134 1U ;I, B+50
SP 400 400 16" 25 4 250 552 724 1597 2/1036 1U ; SP
SP 500 500 20" 25 4 220 486 592 1306 2/1031 1U e .
SP 600 600 24" 25 6 200 441 501 1105 2/4938 @ ]
SP 800 800 32" 25 6 383 845 2/1038
R450 450 18" 8 207325 1U 24
TF41 PVC ( 2/5627) *‘Lga B
|3
i)
f L ISO7380-2 M6x25 ( 2/17582-EZ / 2/17601-i304 ) + TM41 M6 (
2/17556-EZ / 2/8225-HDG ) RAS0
/ U ISO7380-2 M6x25 ( 2/17582-EZ / 2/17601-i304 ) + TM41 M6
(2/17556-EZ / 2/8225-HDG)
/ E DIN933 M10x30 ( 2/17547-i304) + BFE M10 ( 2/0864-HDG /
2/18531-i304 ) + TM41 M10 ( 2/17584-HDG / 2/18525-i304 )+
DIN125 M10 ( 2/17561-EZ / 2/17542-i304 )
TF#1
s o ow ow seoso [T 28
-------- g ) i
P
SPD 300 300 500 1103 26251 11U g 4&% Sl
SPD 400 400 16" 25 8 500 1103 2/6250 1U " o
SPD 500 500 20" 25 8 500 1103 1123 2476 2/6212 1U e Ls0]
25X
SPD 600 600 24" 25 8 430 948 950 2095 2/5621 11U ?I = 5@11@1
SPD 700 700 28" 25 8 310 816 823 1815 2/6213 1U Ls_%:_so
SPD 800 800 32° 25 8 320 706 726 1601 2/6274 11U -
SPD 1000 1000 40" 25 8 260 574 588 1297 2/4641 11U
R450 450 18" 8 201325 11U -
TF41PVC ( 2/5627) 5
14
1ISO7380-2 M6x25 ( 2/17582-EZ/ 2/17601-i304 ) + TM41 M6 ( .
7 U / /2 T
2/17556-EZ / 2/8225-HDG ) =
\ [o]&]
/ :L_|: ) 20
< CFBFR41 (2/10284-i301) / 1ISO7380-2 M8x30 ( 2/18823-i304)
+SSC (2/2064-EZ [ 2/0363-HDG / 2/0373-i304 ) + TM41 M8 ( R450

2/17557-EZ / 2/17583-HDG / 2/18524-i304 )

/ H DIN933 M10x30 ( 2/17547-i304 ) + BFE M10 ( 2/0864-HDG /
2/18531-i304 ) + TM41 M10 ( 2/17584-HDG / 2/18525-i304 )+
DIN125 M10 ( 2/17561-EZ / 2/17542-i304 )



asorSUPPORT 3€Basor

_-““ s
] i I T TN

KS 50_400 6 3 21215 240 & -
KS 500_750 94 35/T 2/5881 20U @

KS + SCR/SRB

bR

=

/SCR/SRB ¥ ® . 20100 B2 ( 2/4926-EZ / 2/6792-HDG /
2/5392-i304 )

KS + SOR KS + SRB
SCR O] e | e ORI 169
.-.-.--- -.-. . i%
SCR5) 50 2 15 104229 200975 10U 213450 10U :

20x10 ,25x7.5 35x7.5
SCR 100 100 4" 1,5 104 229 2/0976 10U 2/0980 10U 15 115 253 2/0995 10U
SCR 150 150 6" 1,5 80 176 2/0977 10U 2/0981 10U 15 90 198 2/0996 10U B450 50,
SCR 200 200 8" 15 70 154 2/0978 10U 2/0982 10U 15 70 154 2/4691 1U
SCR 300 300 12" 2 85 187 2/0997 10U 2/1002 1U 15 50 110 2/1020 10U
1,
1

SCR 400 400 16" 2 80 176 2/0998 10U 2/1003 1U 15 40 88 2/1021 10U
5 50 10 2/4464 10U 5\
20x11

SCR 50/100/200/300/400

12x8

SCR 500 500 20" 2 105 231 2/0999 10U 2/1004 1U

SCR600 600 24" 2 90 198 2/1000 10U 2/1005 1U 15 45 99 2/1022 10U 105 S
7/ LU B1(2/4356-EZ | 2/6826-HDG / 2/4925-i304 ) o0
/ 1] SCR 500/600/750
" CTBF (2/4362-EZ | 2/T32-HDG | 2/4923-i304 )
SRB -5---““
_------ — ]
SRB 100 2 100 4 15 70 155 216312 5U 206319 1U j?
SRB 150 2 150 6 15 60 133 2/6313 5U 2/6380 1U ~  ‘aoxio‘ieo
SRB 200 3 200 8 15 60 133 2/6314 5U 2/8381 1U [ ==
SRB 300 4 300 127 2 60 133 2/63/5 5U 2/6382 1U SRB 100/150/200/300/400
SRB 400 4 400 16" 2 60 133 2/6316 5U 2/6383 1U
SRB 500 4 500 20 2 60 133 2/637 5U 2/6384 U  oar
Q SRB 600 4 600 24 2 60 133 2/6318 5U 2/6385 1U ﬁ i
o :|_|: . 36 B+50
- ' SRB 500/600
KSR + C-SR - 1 [ i T Beso
---------: [Ew
C-SR 200 200 8 15 67 22/3' 30 11/6' 102 225 2/3460 1U 200
C-SR 300 30012’ 15 67 22/3' 30 11/6' 90 198 21082 1V~ ﬂ]@]ﬁlﬂ]@]@]ﬂ
C-SR 400 400 16” 15100 4" 60 21/3'159 351 2/1033 1U 3
C-SR 500 500 20" 15 100 4" 60 21/3' 134 295 2/1034 1U ; C-SR
KSR-C-SR C-SR 600 600 24" 15 100 4" 60 21/3' 117 258 2/1035 1U e g
KSR -2 - - .- - 26828 1U e
CT2M8XI5(€1) - - - - - - - - - 2/6193 1OOU© g N
L
\ f KSR» ®  ® 1 CT2 M8X75 (2/6793) + 2/100 B2 (2/6792-HDG) -
KSR
KSR cn2

E39 /]




SUPPORT

.asorSUPPORT 3€Basor

CTA kg (Ib) E 1

- 1000200 100(220) 85(18T)  45(99)
csor l
9A 9B . 65 480105 4200 %[
9A 9B
C-SV0
28 0(52) 200044 294649 25619 161035 150254 81(19)

. 1304 3609y M0 UE) 1904
0-SHO 400 9A 38 - %09 0066 BEY 194 1603
. T(56)  59030) 50(10)  39(85)
0-SH0 400
+(-8H0100 %A 9B : 6003 5000 29 B
| 6 D)
su 131(95) 431(951) 368(812) 320(108) 255(563) 212(468) 182(402)  160(353)
| 6 EED)
SUR . . - T05(1555) 582(1284) 495(1092) 431(%51) 382(843) 342(754)  310(684)
SU+R450 “ . - - A89(1079) 349(70) 212(600) 222(490) 188(415 163(360) 144 (318)
SUR + R450 : - - g13(1793) 6I0(1478) 510(1257) 495(1032) 438(966) 393(867) 356(185) 300 (62)
2] 6]
$P3s B3 301(663) 250(551) 18T(412) 14938 124(213) 106233
| 6 D)
s 401037 410(1037) 400(882) 347(166) 215(607) 28(503) 195(430) 170(375)

SP+R450 486(1072)  318(834) 309 (682) 262(578)  227(301) 200 (441) 162 (358)

a
o 90 837(1846) 837(1846) 748(1650) 675(1489) 566 (1248) 487(1074) 428(944) 381(840) 344 (159)  313(691)

! a
SPD +R450 - - - - 810(1786) 630(1389) 515(1136) 436(362) 3718(834)  333(735) 270 (596)

SPD

/7 E39




asorSUPPORT 3€Basor

AAAAAAAAAAAAAAAAA

C-SHOT [0 e IO T e o
LI e | oo [ v | oo [CARETY o

C-SHOT1I00 100 4" 105232 15 2/1235 ' 6U 2/1244 6U 15 2/7495 6U f ET
C-SHOT150 150 6" 75 166 2 '2/1236 K 6U 2/1245 6U 15 2/749%6 6U
C-SHOT200 200 8" 70 155 2 '2/1231 ' 4U 2/1246 4U 15 2/1491 4U
C-SHOT300 300 12" 371 82 2 '2/1238 ' 4U 2/1241 4U 15 2/7498 4U
PSHO - - - 2 206240 40U 2/6318 40U

TFS0(2/0894)

175

/ 1PSHO (2/6240-PG / 2/6318-HDG / 2/18139-1304 )

& LHR

PSHO / Ll g (2/4356-EZ | 2/6826-HDG | 2/4925-1304 ) @/ j
: ;/ ’ .. g 35
. PSHO

TFSO

C-SVo D T
o o o R il = o

C-Sv0100 100 4" 1,5 250 552 2/3630 16U 2/6280 16U 15 2/6285 1U
C-SV0150 150 6" 15 200 441 21073 16U 2/1078 1U 15 2/1081 11 0
C-Sv0200 200 8" 2 294643 2/1074 12U 2/1079 12U 15 2/1088 1U
C-SV0300 300 12" 2 235519 2/1076 120 2/1081 12U 15 2/10%0 1U 0
(-SV0400 400 16" 2 161355 2/3629 6U 2/5719 6U 15 2/6286 6U 0
C-SV0500 500 20" 2 115254 241071 ' 6U 2/1082 6U 15 2/6281 6U J&xﬁ}[
C-SV0600 600 24" 2 87 192 2/5941 6U 2/57120 6U 15 2/6288 61U ] i
O
0

50

B + 150

20x9

TFS0(2/0894)

. / 2 x DIN976 M8x1000 ( 203397-EZ / 206852-1304) +
4 x DING923 M8 (217553-EZ / 217555-1304)

/ UE\

/ L B1(2/4356-EZ / 2/6826-HDG / 2/4925-1304 )

N =
------ REF | Moo | ReF | Moo --- REF MOQ

C-SH0400 400 16" 2 200 54 305 2/1234 12U 2/1243 12U 185 44 58 2/1434 12U
C-SH0400 - C-SHO100 400 16" 2 341 88 2356 - = = - 318 13 35
PSHO - - 2 - - - 206240 40U 2/6318 40U

;

25

50

20x9

)N
& ©

1

C-SHO 400

e of

/%:l
C-SHO 400 +C-SHO 100 C-SHO 400 + C-SHO 200

Gﬁ
C-SHO 100 (2/7230- C-SHO + DIN933 Gl C @E{
%(M j 18 L3

GS /2/7249-HDG / (2/17545-EZ) 0
2/7490-1304) + DING923 M8 F
PSHO + CT2 M8x55 (2/17553-EZ / )
(2/10088-E2) 2/17555-1304) C-SHO PSHO

L+112

E39 /3




SUPPORT

asorSUPPORT

SuU

SUR

|
|
-
g

74 E39

3€EBasor

AAAAAAAAAAAAAAAAA

------“.304
ke en oien ICCAMMEN -
SU400 400 16" 25 6 656 5155 0191 2/7142 2U
SU600 600 24" 25 6 656 5155 0287 2/1143 2U
Su8oo 800 32" 25 6 656 5155 0398 2/7144 2U @
TESU PVC (2/12114)
f SCR/SRB/SHL/SHR + 2/100 x B2 (2/6792-HDG) fgf
U 27x11
i
50 40

------ 4

e o ] ] B =
SUR600 600 24 4 § 1100 145 008 27481 1U g@EE
SUR800 800 32 4 § 1100 145 0131 2/7488 1U =1
SUR1000 1000 40' 4 8 1100 145 0204 2/7483 1U [50]
TFSUR PVC (2/14254) 7] 7 -
0 0
f SHL/SHR/SP/SPD+2/50xB3(2/8827-HDG/2/12096-1304) Ja[g 8
25x12
i 0
0 o
0 o]
-ll---n“
-------- % e
SP3S400 400 16" 2 4 800 345 0,195 2/18658 1U 2/17308 1U ﬂ B
SP3S500 500 20' 2 4 800 345 - 2/18659 1U 2/17309 1U 3}:" —° wgfﬁ
SP3S600 600 24' 2 6 800 345 0325 2/18660 1U 2/17310 1U 120
SP3S800 800 32 2 6 800 345 0514 2/18861 1U 27311 1U ‘
SP3S1000 1000 40' 2 6 800 345 0811 2/18662 1U Soiols
SP3S1200 1200 48' 2 6 800 345 218663 10 - - I

TF41 PVC (2/5627)

f DIN933 M10x65 EZ + DIN934 M10 (2/17607-EZ / 2/17602-1304)
N SHST



asorSUPPORT

SHST

SHST100
SHST150
SHST200
SHST300
SHST400
SHST500
SHST600

&1L

SP300
SP400
SP500
SP600
SP8oo
TF41 PVC ( 2/5621)

TF1

SPD

SPD 500

SPD 600

SPD 700

SPD 800

SPD 1000

TF41 PVC (2/56217)

SPD

2/18758-i304)

100
150
200
300
400
500
600

300 12
400 16
500 20
600 24"
800 32"

500 20
600 24"
700 28"
800 32
1000 40

25
25
25
25
25

2,5
25
25
25

8

o ©o ©0o oo

o o B~

15
15

f l—l B1(2/4356-EZ / 2/6826-HDQ)

125
125
125
125
125

1100
1100
1100
1100
1100

m
106

352
352
32
346
213
244
233

2/14489
2/14490
2/14491
214492
2/14493
2/14494
2/14495

5515 0,142 2/4734
5515 0,203 2/1036
5515 0,265 2/1037
5515 0,326 2/4938
5515 0,509 2/1038

L f SCR/SRB/SRB-N (PG) + 2 x TEP M10x30 ( 2/17567-EZ)
SCR/SRB/SRB-N + 2 x TM41 M8 ( 2/17583-HDG / 2/18524-i304 ) + 2 x DIN933 M8x30 (
2/5964-1304) + 2 x DINT25 M8 ( 2/17544-1304) + 2 x 4182K ( 218515-HDG / 2/18758-i304)
SHL/SHR/SP + 2 x DIN933 M10X30 ( 2/17547-1304 ) + 2 x TM41 M10 ( 2/17584-HDG /
2/18525-1304) + 2 x DIN125 M10 (2/17542-1304)

Q f SCR/SRB +2/100 x B2(2/6792-HDG / 2/5392-i304)
Q / SHL + 2/50 x B3(2/8827-HDG / 2/12096-i304)

ot e omeowms o [T
o e hen e R

133
133
133
133
133

0,141 2/6212
0,179 2/5621
0,211 2/6213
0,263 2/6274
0,316 2/4641

f SCR/SRB/SRB-N (PG) + 2 x TEP M10x30 ( 2/17567-E2)
SCR/SRB/SRB-N + 2 x TM41 M8 ( 2/17583-HDG / 2/18524-i304 ) + 2 x DIN933
MB8X30 ( 2/5964-i304) + 2 x DIN125 M8 ( 2/17544-i304) + 2 x 4182K ( 218515-HDG /

-
\ %
(2]

_----_
e o R
160
160
146
157

2
2 124
2
2

4U
4U
4U
4U
4U
4U
4U

1u
1u
1u
1

1u
1u
1u
1u
1u

/ SHL/SHR/SP/SPD + 2 x DIN933 M10X30 ( 2/17547-i304 ) + 2 x TM4]

M10 ( 2/17584-HDG / 2/18525-i304) + 2 x DIN125 M10 (2/17542-1304)

3EBasor

ccccc

vvvvvvvvvvvv

80
120

J.ep

—
|

25x11

3

4 [ 2

120
160

25x11

L+50

E39 /5




SUPPORT

.asorSUPPORT

3€EBasor

uuuuuuuuuuuuuuuuu

CTA kg (Ib)
‘\ 9A 9B
N 216 (609)
o 3 | 6 TYCL]

PBF 250 (551) x 1

260 (573)

250 (551)x1

253 (598)

250 (551)x1

207 (456)

250 (551)x 2

506 (1116)

250 (551)x2

460 (1014)

250 (551)x 2

H14(912)

250 (551)x3

SFS+C-3V0 176 (388) 176 (388) 176 (388) 176 (388) 167(354) 115(253) 87(191)

[ 6 ]

P 410 (1037)
| 6 TN

1] 431(951)
[ 6 ]

SPD 837 (1846)

76 E39

400 (882)

368(812)

148(1650)

347(166)

321(108)

675 (1489)

215(607)

255 (563)

966 (1248)

228 (503)

212 (468)

481 (1074)

195 (430)

182 (402)

428 (944)

170(375)

160 (353)

381(840)



asorSUPPORT 3€Basor

uuuuuuuuuuuuuuuuu

SV

--.-m . —
Ll e oo [ rer oo R L

SV100 100 4° 15 276 609 2/1046 10U 2/1050 10U 2/1062 10U & 3575

SVi50 150 6” 15 260 573 2/1041 6U 2/1051 6U 2/1063 6U / {mf 7 2

SV200 200 8" 15 253 558 2/1048 6U 2/1052 6U 2/1064 6U B+72

SV300 300 12" 15 207 456 2/1049 6U 2/1053 6U 2/1065 6U SV100/150/200/300

SV400 400 16" 15 506 1116 2/3413 5U 2/3418 5U

SV500 500 20" 15 460 1014 2/3414 5U 2/3419 55U = = L |

SV600 600 24" 15 414 912 2/3415 5U 2/3420 5U 5 ,
777 /ﬁ/ 7 7 78|

f s (2/4356-EZ | 2/6826-HDG / 2/4925-i304 e i

f U CTBF (2/4362-EZ / 2/7132-HDG / 2/4923-i304 SV 400/500/600

SV 400/500/600

i304

---m
R e oo [ [ oo SR

PBF 1 250 551 '2/5690 12U 2/4391 21U 2/81T1 12U g

f UE\ )

PBF

a5 |
D« | om O o
-------- o ladt
C-SV0 100 100 4 15 176 388 2/3630 16 U 2/6280 16U 15 2/6285 1U 0 2
C-SV0 150 150 6" 15 176 388 2/1013 16U 21078 1U 15 2/1081 1U R
C-SV0200 200 8 2 176 388 2/10714 12U 210719 12U 15 2/1088 1U 0
C-SVv0300 300 127 2 116 383 2/1076 12U 2/1081 12U 15 2/1090 1U 2 0 B
C-Sv0400 400 16" 2 161 354 2/3629 6U 2/5119 6U 15 2/6286 6U E ][ﬁ )
C-SV0500 500 20" 2 115 253 2/1071 6U 2/1082 6U 15 2/6281 66U g 20%9
C-SVO600 600 24" 2 81 192 2/5941 6U 2/57120 6U 15 2/6288 6U y
SFS 140 GS i 2/5602 24U - - - - - 0
TFSO (2/0894)
C-SV0

" S e T o

il o R = o o M
G-SVO 3M - - - 2mnm 2/7436
% :
2 x SFS+C-SV0 + 2/100 x Bl / || 21100 x B1 ( 2/4356 EZ / 2/6826 HDG / 2/4925-1304)
7,5 (B1)
* “% "~ Ao T Sk,

SFS
TFSO

E39 /7




.asorSUPPORT 3€Basor

SOLUTIONS / SOLUCOES / RESENIi / LOSUNGEN
|~ cT30/KCT30 HEEE

SRB-N

SCR

SCR

1 pa13s

SHL/SHR

118 mmm

/8 E39




'IL

CT30 / KCT30

asorSUPPORT

(T30

f SCR/SRB/SRB-N (PG) --> 2/100 x CT4 (7074-EZ)
CT30 + KCT30--> 2x CT2 M8XT75 (2/6793 - EZ) (2/14307-i304)
+2 x DIN125 M8 (2/17544-i304)

| B

KCT30

KCT30+CT30+CT2

SCR 50

SCR 100
SCR 150
SCR 200
SCR 300
SCR 400
SCR 500
SCR 600

CT4 M10x20

5 2
100 4

150 6
200 8

CO PR e | ome [
lllll-lll

300 127
400 16"
500 207
600 24"

ﬂ

ﬁ

CT2 M8x15

15 104 229 2/0915 10U 2/3450 10U
15 104 229 2/0976 10U 2/0980 10U
15 80 176 2/0977 10U 2/0981 10U
15 70 154 2/0978 10U 2/0982 10U
2 85 187 2/0997 10U 21002 1U
2 80 176 2/0938 10U 2/1003 1U
2 105 231 2/0999 10U 2/1004 1U
2 90 198 2/1000 10U 2/005 1U

i304

15 115 253 2/0995 10U
15 90 198 2/0996 10U
15 70 154 2/4691 1U
15 50 110 2/1020 10U
15 40 88 21021 10U
15 50 110 2/4464 1(]U
15 45 99 271022 10U

/ L B (2/4356-EZ | 2/6826-HDG | 2/4925-1304 )

/ L—l CTBF (2/4362-EZ/ 2/7132-HDG / 2/4923-i304 )

SRB 100
SRB 150
SRB 200
SRB 300
SRB 400
SRB 500
SRB 600

5---“-!!.
_-------

/ UE

2

O O N SR I )

100

150 6
200 8
300 12
400 16
500 20"
600 24

15
15
15
2

2
2
2

10
60
60
60
60
60
60

155
133
133
133
133
133
133

2/6312
2/6313
2/6314
2/6315
2/6316
2/6371
2/6318

5U 2/6319 1U
50 2/6380 1U
5U  2/6381 1U
5U 2/6382 1U
5U 2/6383 1U
5U 2/6384 1U
5U 2/6385 1U

20

36,

3€Basor
. o [T 5
D e [ oo |
o/ | B S
CT30 206784 24 M I
&
KCT30 500 195 2/1071 10U R
CT4-100 M10X20 EZ 201074 1U
CT2 M8XT5 2 2/6793 100U

25X9

(8

O[S &
' 50
3000

CT30

i16x9
c
20x10 i25x7.5 i35x7.5

B+50

SCR 50/100/200/300/400

12x8

B+50
SCR 500/600/750

B + 50

_— = ﬁa_‘

: %
20x10 *16x9

===

SRB 100/150/200/300/400

=
~
Fd E
=
36

20x11

12x8
B+50

SRB 500/600

E39 /9




asorSUPPORT 3€Basor

AAAAAAAAAAAAAAAAA

DR k|
_-----
SRB-N 100 100 4 15 160 352 22431 2U
SRB-N 150 150 6 15 165 363 224312 2U
SRB- 200 200 8 15 140 308 224313 2U
SRB-N 300 300 127 2 135 397 224314 2U
SRB-N 400 400 16" 2 120 264 224315 2U

f UE\

/" |l 1 2/4356-£7 / 2/6826-HDOG)

C- PC/KPC/KLPC/

i304 T
KAPC (PG) o 1
C-PC 3000 58 122/7"1 35 13/8 30001Uft 2/7269 3M 2/57[]1 18 M 200
KPC - - 2 2/1210 10U - - 2[—[}/ OE*U e s
KLPC 3 2/6786 20U 2/m21 1U 0 Eanta i
KAPC o - - 2 oime 20 - - 8 . 8
CT2 M85 (E2/i304) | - | - | - | - | - | - | - 2/61983 100U214307100U R ;
2 DIN94 8x80 B B B - | - | - 2/1297 100U 0 0
C-PC(FS) PDPC R - -1 2 201281 30U 0 0
TFPC PVC (2/14809) CRC
f C-PC+ KPC > 2 x CT2 M8x75(2/6793 - EZ / 2/14307 - i304) + 2 x
DIN125 M8 (2/17544-i304) R —
& c.rc kipC s 2/100 x B2 (2/4926-EZ | 2/5392-i304) T “}%‘?’ ¢ {M M
© (A
/ I-_- o boone
KPC C-SR + 2 x CT2 M8X75 (2/6793-EZ / 2/14307 - i304) e
SCR/SRB +2/100 x B2 (2/4926-EZ / 2/5392-i304) 2511
\g\ SRB-N 2 C{ o o
% KPC

KLPC

25x9) T
63 8x8 3
> 9x9
h S B 36
9o

100

20x9 85x9
O—120x8 o o oo
S o | D14 I |
S Ina™ e
=T KAPC 130 KLPC
PDPC
CT2 M8xT5 DIN94 TFPC 8| o o)
O
115 L2
PDPC

80 E39




.asorSU PPORT 3€Basor

PC / KAPC / _---“
KLPC (HDG) oo [T I

PC 3000 GC 58 |22/7'| 35 |13/8" 2 | 2/0229 | 3M 0
KAPC GC R AT S[[0 |aoas
KLPC GC oo 3 [ emsr | v ‘ | lo
TFPG PVC S o] o] - an4809] 25U g %
PC + KAPC --> 2 x CT2 (2/14307 - i304) 8
PC+KLPC --->2/100 x B2 ( 2/6792-HDG / 2/5392-i304)
0-PC (HDG)

/ S C-SR + 2 x CT2 M8x75 ( 2/14307 - i304) SCR/SRB +2/100 x B2
(2/5392-i304)

SRB-N
25%9 741
63 77 ° 2
5 o9l S
KAPC ﬁL @ép | s
20x8' ¢ 85x9
1o ¢ o o™
KLPC Lo fo L
KAPC KLPC
mEsmmmmEmECE
.-.--.-.- 0g 0g [giw
C-SR200 200 & 15 67 22/ 30 11/6° 102 225 2/1264 213460

50 20x9
C-SR300 300 12" 15 67 22/3' 30 11/6" 90 198 2/1265 ~1U 21032 1U Eﬂ]@]@]ﬂﬂ]ﬂ]@ﬂ
C-SR400 400 16" 15100 4" 60 23/8"159 351 2/1266 ~1U 211033 1U
C-SR500 500 20" 15100 4" 60 23/8"134 295 2/1267 = 1U 211034 1U

C-SR600 600 24" 15100 4" 60 23/8" 117 258 2/1268 1U 2/1035 1U
CT2 M8xT5 (EZ) 2/6193 100U

- / C-SR --> C-PC: 2 x CT2 M8x75 (2/6793-EZ / 2/14307 - i304)

CT2 M8x75
SCR - --’.- I..- i304 ] 16x9
.-.-.-.-. 3 %
SCR 50 50 2" 15 104 229 2/0975 10U 2/3450 10U -

20x10 ,25x7.5 35x7.5

SCR 100 100 4" 15 104 229 2/0976 10U 2/0980 10U 1,5 115 253 2/0935 10U P
SCR 150 150 6" 15 80 176 2/0977 10U 2/0981 10U 15 90 198 2/0936 10U B450 o]
SCR 200 200 8 1,5 70 154 2/0918 10U 2/0982 10U 15 70 154 2/4691 1U

SCR 300 300 12" 2 85 187 2/0997 10U 271002 1U 15 50 110 2/1020 10U

SCR 400 400 16" 2 80 176 2/0998 10U 2/1003 1U 15 40 88 2/1021 10U

SCR 500 500 20" 2 105 231 2/0999 10U 2/1004 1U 15 50 110 2/4464 10U 5\20)(11

SCR 50/100/200/300/400

12x8

SCR600 600 24" 2 90 198 2/1000 10U 2/1005 1U 15 45 99 2/1022 10U il e
‘ ‘40 50‘ |
u B+50
/ B1 (2/4356-EZ / 2/6826-HDQ)

/ U SCR 500/600/750
' BF (2/4362-EZ / 2/7132-HDG / 2/4923-i304)

E39 3]




asorSUPPORT 3€Basor

AAAAAAAAAAAAAAAAA

SRB -5---““
A e | oo [ wer ] oo | ]
=, SRB 100 2 100 4 15 70 155 2/6312 5U 26319 1U ;?
SRB 150 2 150 6 15 60 133 2/8373 5U 2/6380 1U ~  ‘aoxao‘iexs
SRB 200 3 200 8 15 60 133 2/6374 5U 2/6381 1U =T —————
SRB 300 4 300 127 2 60 133 2/6315 SU 2/6382 1U SRB 100/150/200/300/400
SRB 400 4 400 16" 2 60 133 2/6376 5U 2/6383 1U
SRB 500 4 500 20" 2 60 133 2/6311 5U 2/6384 1U
SRB 600 4 600 24" 2 60 133 2/6378 5U 2/6385 1U B
- . B+50
g & LR SRB 500/600
a
e s
SRB-N 100 100 4 15 160 352 224371 2U §t§’
SRB-N 150 150 6" 15 165 363 224312 2U N
SRB-N 200 200 8" 15 140 308 224373 2U ﬁfj -
SRB-N 300 300 12 2 135 397 224374 2U 215 s 5/
SRB-N 400 400 16" 2 120 264 224315 2U BB

/UL

7 || B1(2/4356-£7 / 2/6826-HDC)

P41-3S 41X41X2 3M B =
1 3
P41-3S 41X41X2 3M 2 217313 3M i
mrmperas
0 0
SBL41-83 600 40 3 218657 1U 4 264712 1U -
CT2 M8XT5 EZ - - - 2/67193 100U 07 i J
L=3m(10fY K41-38 (£2) S - /18656 2U ol 0
E\ SHST
D SCR/SRB + 2/100 x B2(2/6792-HDG / 2/5392-i304)
SHL +2/50 x B3(2/8827-HDG / 2/12096-i304)
L / SCR/SRB/SRB-N (PG) + 2 x TEP M10x30 ( 2/17567-EZ)
SBL41-3S K41-3S — @ SCR/SRB/SRB-N + 2 x TM41 M8 ( 2/17583-HDG / 2/18524-
i304 ) +2x DIN933 M8x30 ( 2/5964—i304) +2 x DIN125 M8 (
2/17544- i304) + 2 x 4182K ( 218515-HDG / 2/18758-i304)
SHL/SHR + 2 x DIN933 M10X30 ( 2/17547—i304) + 2 x TM4]
/ M10 ( 2/17584-HDG / 2/18525-i304) + 2 x DIN125 M10 (2/17542-
i304)
13
CT2 MBx75 p oy | . &l 0[]
Qreac Y N g
=t 505
25x12\@ %'s E 0|8
la
120
SP33+K41-38 SBL41-38 K41-3S

SP3S+SBL41-3S
82 E39




asorSUPPORT 3€Basor

uuuuuuuuuuuuuuuuu

SHST s o
L o e

SHST100 100 4" 15 160 352 2/14489 4U @ W
SHST150 150 6" 15 160 352 2/14490 4U : 25x7,5
SHST200 200 8 15 146 321 214491 4U <>l
SHST300 300 12" 2 151 346 2/14492 4U
SHST400 400 16" 2 124 213 214493 4U
SHST500 500 20" 2 111 244 2/14494 4U
SHST600 600 24" 2 106 233 2/14495 4U

&1L

f L B1(2/4356-EZ / 2/6826-HDG)

SP3S + SHST

20

SCR o e IS TP | om
lllll-lll

1649
SCR 50 50 2" 15104 229 2/0975 10U 2/3450 10U 15 = | = j
0x10 25475 /35x7.5
SCR 100 100 4 1,5 104 229 2/0976 10U 2/0980 10U 15 115 253 2/0995 10U ﬁ
5 90 198 2/0996 10U

1
SCR 150 150 6" 1,5 80 176 2/0977 10U 2/0981 10U 1 B+50
SCR 200 200 8 15 70 154 2/0978 10U 2/0982 10U 15 70 154 2/4691 1U SCR 50/100/200/300/400
1
1

36,

SCR 300 300 12" 2 85 187 2/0997 10U 2/1002 1U 15 50 110 2/1020 10U

12x8
SCR 400 400 16" 2 80 176 2/0996 10U 2/1003 1U 15 40 88 2/1021 10U Eﬁ —7
SCR 500 500 20" 2 105 231 2/0999 10U 2/1004 1U 15 50 110 2/4464 10U ﬁ =

20x11

SCR600 600 24" 2 90 198 2/1000 10U 2/1005 1U 15 45 99 2/1022 10U sl s
[l 5ol ]
s Ug (2/4356-EZ / 2/6826-HDG) 8430
SCR 500/600/750

/ U CTBF (2/4362-EZ / 2/7132-HDG / 2/4923-i304)

E39 83




asorSUPPORT 3€Basor

AAAAAAAAAAAAAAAAA

SRB S A e T T
e S| S e N I T N < ]
SRB 100 2 100 4 15 70 7155 2/6312 5U 2/6319 1U . ;\?/
: SRB 150 2 150 6" 15 60 133 2/6313 5U 2/6380 1U AN,
SRB 200 3 200 & 15 60 133 2/6314 5U 2/6381 1U o ==
SRB 300 4 300 127 2 60 133 2/63/5 5U 2/6382 1U SRB 100/150/200/300/400
SRB 400 4 400 16" 2 60 133 2/6316 SU 2/6383 1U
SRB 500 4 500 200 2 60 133 2/6371 5U 2/6384 1U g e
= SRB 600 4 600 24" 2 60 133 2/6318 5U 2/6385 1U m
g — — ™
& U \ 36 B+50
3 / o %‘ SRB 500/600
SRB-N e oo [
Com e o | RN
\ /20)(11 % :
SRB-N 100 100 4 15 160 352 224311 2U §té gLLE:"\l
SRB-N 150 150 6" 15 165 363 2243712 2U il & p=
SRB-N 200 200 8" 15 140 308 224313 2U ﬁrj = B26
23
SRB-N 300 300 120 2 135 397 224314 2U E3 2875 @g
SRB-N 400 400 16" 2 120 264 224315 2U 4lg=]-]6-|0]

FUL

f L e (2/4356-EZ / 2/6826-HDQ)

84 E39




atagy W
REF | MoQ g T

SBLA

CT2 M8xT5

SHL

SHR

38

asorSUPPORT

[

L=3m(101)

4

K41-3S

)

ﬁ

3EBasor

uuuuuuuuuuuuuuuuu

P41-3S 41X41X2 3M

_... MDQ

600 40

SBLA1-S3
CT2 M8XT5 EZ
K41-38 (EZ)

\E\SHST
HPg
L/

i304

i304)

3 218657 1U
2/6793 100U
2/18656  2U

2 217313 3M

REF. MOQ

4 2/6412 1U

SCR/SRB +2/100 x B2(2/6792-HDG / 2/5392-i304)
SHL +2/50 x B3(2/8827-HDG / 2/12096-i304)

SCR/SRB/SRB-N (PG) + 2 x TEP M10x30 ( 2/17567-EZ)
SCR/SRB/SRB-N + 2 x TM41 M8 ( 2/17583-HDG / 2/18524-

) + 2 x DIN933 M8x30 ( 2/5964-i304) + 2 x DIN125 M8 (
2/17544- i304) + 2 x 4182K ( 218515-HDG / 2/18758-i304)
SHL/SHR + 2 x DIN933 M10X30 ( 2/17547-i304 ) + 2 x TM41
M10 (2/17584-HDG / 2/18525-i304) + 2 x DIN125 M10 (2/17542-

{ Qreac o)

\ c
c

@ 50

50

O Oo O

25

IRl

SP3S+SBL41-3S

SHL100
SHL 150
SHL 200
SHL 300
SHL 400
SHL 500
SHL 600

100
150
200
300
400
500
600

&
g
12"
16"
20
28

e e e TR
---------- :

SP35+K41-3S

1,5
15
15
15
2
2

o O O O B~ B

41
53
58
68
19
89

11/8"
9

214
2314
31/8"
312

205
205
205
250
250
250

zsxlz\@

100 4 250

/ L B1(2/4356-EZ / 2/6826-HDG)

|—| CTBF (2/4362-EZ / 2/7132-HDG)

/ EI BFE (2/0863-HDG) + B2 ( 2/6792-HDG)

e e [ e TR
-------- 5
4

SHR 300
SHR 400
SHR 500
SHR 600
SHR 700
SHR 800

300
400
500
600
100
800

16"
20
24
28"
32"

25
25
25
25
25
25

6

oy o) O O O

68 23/4" 480
19 31/8" 365
89 31/2" 300
100 4" 285
110 43/8" 210
120 43/4" 265

450
450
450
550
550
550
550

1058
804
661
628
595
o84

f L B1 (2/4356-EZ / 2/6826-HDQG)

/ LI CTBF (2/4362-EZ / 2/7132-HDG)

/ H BFE ( 2/0863-HDG) + B2 ( 2/6792-HDG)

SBL41-3S

2/6866
2/6867
2/6868
2/6869
2/6810
2/6811
2/6812

2/5525
2/1023
2/1024
2/1025
2/1026
211021

8U
4U
4U
2U
2U
2U

1U
1u
1u
1u
1U
1u

‘15

i
3
1
6

B+50

— %
A=

5%

25x9
=3
]

EE

37| !

SHL100/150/200

E39 85




SUPPORT

asorSUPPORT 3€Basor

uuuuuuuuuuuuuuuuu

18 3M R won
v R

200

18 3M 3 10 2/6350 1U S -
— [
18 - - 206056 1U I 12y Ll
KAIS S 102 U 3002
TFI8 PVC (2/6941) B
fls +KI8 --> 2/100 x CT1 M10X30 (2/6320-i304) + 2 x DIN125 K2 T
M10 (2/17542-i304) e A
f I8 +KAI8 --> 4/100 x CT1 M10X30 (2/6320-i304) + 8 x e s
DIN125 M10 (2/17542-i304) @
68
I8
e KAI
& X
peg
30x12 . -
f— %
0 ] e W 05 00T
~ o — o [R= ZZ N
2 C D C D C D
[
140 iF
KAIS TFI8 20 1
K8 18

SHV D e
R o I QH—M

M0Q
SHV 200 200 g 25 3 2/6058 2U Iﬁ

SHV 300 30 127 25 3 2/6211  2U 5 3
SHV 400 40 16 25 3 2/6259 2U QLO B
SHV 500 50 20" 25 3 2/60571 2U

SHV 600 600 24 25 3 2/6215 2U

SHV 700 700 28" 25 3 2/6216 2U

SHV 800 800 32 25 3 2/6211 2U

f L B1 (2/4356-EZ / 2/6826-HDQ)
/ Ll CTBF (2/4362-EZ / 2/7132-HDQ)
/ E BFE (2/0863-HDG) + B2 (2/6792-HDG)

86 E39




asorSUPPORT 3EBasor

PrOGUGCE LINE 1o st

+18 + uos omor e o ow o om [T
BI8 + 18+ SHV ---------- v | oo I e\%
L E

18600 600 24 3 2/6345 1U :ﬁ o — ;T
181000 1000 39'3/8 3 2/6346  1U R
181300 1300 51"1/6 4 2/6341 11U | reeseeees -
81500 1500 59 5 - - - - - - 2/6348 1U * ¥
182000 2000 78'3/4 6 2/6349  1U sV
183000 3000 118'1/9 8 2/6350 1U 80
SHV200 200 8 - 25 3 58 21/4" 200 441 2/6058 2U :EI
SHV300 300 12 - 25 3 68 25/8 200 441 2/6211 2U
SHV400 400 16" - 25 3 79 31/8" 200 441 2/6259 2U n s
SHV500 500 20" - 25 3 89 31/2 200 441 2/6057 2U U
SHV600 600 24" - 25 3 100 4 200 441 2/6215 2U g
SHV700 700 28" - 25 3 110 43/8' 200 441 2/6216 2U o
SHVB00 800 32" - 25 3 120 43/4" 200 441 2/6211 2U L
BIS S - 2632 10U 1 Lo
PACK 100 CT1 M10x30 (i304) 2/6320 1U U/
f SHV - 18: 2/100 x CT1 M10x30 (2/6320 i304) +2 x DIN125 M10 18
(217542 -i304)
o, |8

60

g
50 =

70

E39 37/




SUPPORT

.asorSUPPORT

C-SHO 400 + C-SHO

SPD+SHR

SU+SCR

C-SVO+VR8

SPD+P41 41x41+4182D

88 E39

KCT30+CT30+SCR

KI8+I8+SHV

KCT30+CT30+2XSCR

KAPC+C-PC+2xC-SR

BRP+P41 41x21+SPD+SHR

SU+SHL

SPD+K82+SHR

KPC+2xC-PC+4xSRB-N

SPD+SCR

KI8+18+SHV

3€EBasor

uuuuuuuuuuuuuuuuu

SP3S+SHST

SZ+SCR




.asorSU PPORT BEquor
|

E39 39







I EC CERTIFIED
——0)

SAFETY US-CA

E479833

@ w ¥ @ 1100

Vo
IEC 61537 |EC 61537 UNE 60695 IEC 61537 EN 50085
o R
uLe4
Se- ~
| oK | 20) e Yexf o] ko] f L
Mod. 60x100 & 60x150 10J EEEE:
EN Sooms ECe0s29 E 6 50105 B ST 10358
TBPE CPBPE TCPBPE CCBPE TCCBPE
TCXBPE
o -
N I & Y
S Ca :—h\\' —
oV =
JUBPE JUBPE-A JUBPE-B
S BN g - -
<4 / Vs ] é 20 0§ 01 1] 1752
< (& - 00 | 17 | 152 | 236 | 23 | 408
400 6 . : 354 548
JUBPE-C BIK1O0-BPE CTBP
600 24 . : 539 835

E39 O]




PLAST

asorPLAST 3€Basor
BPE
BPE H60 pvc (uvmi 7035) | o | 47 ™
mm inch mm inch REF m B
BPE 60X100 60 23/8 100 4 210000 24M F x . /e
BPE-P 60X150 60 23/8" 150 6 270071 24M 00l
BPE-P 60X200 60 23/8" 200 &  2/10012 12M Dojalq |¥
BPE-P 60X300 60 23/8" 300 12 2/10073 12M

BPE-C 60X100
BPE-C 60X150
BPE-C 60X200
BPE-C 60X300

L=3m(101Y)

BPE H100 pvc (uvmi 7035)

BPE 100X200
BPE 100X300
BPE 100X400
BPE 100X600

L=3m(101)

BPE-C H100 pvc (uvmi

7035)
BPE-C 100X200

BPE-C 100X300
BPE-C 100X400
BPE-C 100X600

L=3m(101Y)

TBPE pvc (uvmi 7035)

TBPE 100 00 &
TBPE 150 50 6
TBPE 200 200 §
TBPE 300 0 12
TBPE 400 00 16
| TBPE 600 600 24
L=3m{10ft T
m(101) X I_I v F- TBPE B100-400 FTBPE Be00O

92 E39

mm

60
60
60
60

mm

100
100
100
100

mm

100
100
100
100

inch

23/8"
23/8"
23/8"
23/8"

’ f 2 x JUBPE 60 (2/10084) + 4/100 CTPB (2/10017) '

inch

&

4
»
4

inch

&

4
¢
4

mm

100
150
200
300

mm

200
300
400
600

mm

200
300
400
600

mm

. / 2 x JUBPE 60 (2/10084) + 4/100 CTPB (2/10017) ¢

inch
P
g
g
12"

inch
g
12
16"
24

’f2xJUBPE100(2/10085)+8/'IOOCTPB(2/10017)

inch
g
12'
16"

2

’f2><JUBPE100(2/10085)+8/1OOCTPB(2/10017)

s [
w oo Rl

| s
e oo |

=
=
=
|

N B

-

REF
2/10062
2/10063
2/10064
2/10065

@9

‘/
&
%%

210074 12M
20075 6N A T L 7
L%M\T 7/

0]

50__50
P

2/10076  6M e
oo eM ¥ 0l g

2/10066  12M .
2/10067 &M sf*
2/10068 6 M
2/10069 6 M

REF
2/10078 24 M
2/10079 24M
2/10080 24 M
2/10081 18 M
2/10082 12M
2/10083 12M

CHE




asorPLAST 3€Basor
BPE
CPBPE pvc (uvmi 7035) H B ¢ ] oo | S
mm inch  mm inch mm inch  mm inch m i MN
CPBPE 60X100 60 23/8" 100 4" 220 83/4" 80 31/8™ 2/10089 2U
CPBPE 60X150 60 23/8" 150 6" 220 83/4" 80 31/8™ 2/10090 2U
m CPBPE 60X200 60 23/8" 200 8" 220 83/4" 80 31/8™ 2/10091 2U —
CPBPE 60X300 60 23/8” 300 12" 220 83/4" 80 31/8™ 2/10092 2U o
CPBPE100X200 100 4" 200 8" 220 83/4" 80 31/8™ 2/10093 2U
CPBPE100X300 100 4" 300 12" 220 83/4" 80 31/8™ 2/10094 2U et c
CPBPE100X400 100 4" 400 16" 220 83/4" 80 31/8™ 2/10095 2U HEO
CPBPE100X600 100 4" 600 24" 240 91/2" 100 4" 2/10096 2U 9
x I ; Y
’ 2 x JUBPE 60 (2/10084) + 4/100 CTPB (2/10017) § J@le‘”
2 x JUBPE 100 (2/10085) + 8/100 CTPB (2/10017)
8 R C
H100
B c
TCPBPE pvc (uvmi 7035) o w w = ST
TCPBPE 100 100 4 220 83/4" 210097 11U ) )
TCPBPE 150 150 6 220 83/4" 2/10098 11U
, TCPBPE 200 200 8 220 83/4" 2/10099 11U ;
— TCPBPE 300 300 127 220 83/4" 2710100 1U
_—— TCPBPE 400 400 16" 220 83/4" 210101 1U
TCPBPE 600 600 24" 240 91/27 210102 1U
X U* F-TCIDBPE B100-400 FTCPBPE B600 “
CCBPE pvc uvmi 7035) H B ¢ D wmnns | <
mm inch  mm inch mm  inch mm inch REF m 1 F‘Qé‘
CCBPE 60X100 60 23/8" 100 4" 240 91/2" 100 4" 2/10103 2U Lj
CCBPE 60X150 60 23/8" 150 6" 240 91/2" 100 4" 2/10104 2U °
CCBPE60X200 60 23/8” 200 8" 240 91/2" 100 4" 2/10105 2U
CCBPE 60X300 60 23/8" 300 12" 240 91/2" 100 4" 2710106 2U i \g
CCBPE100X200 100 4" 200 8 215 11" 115 45/8" 2/10101 2U . :]:Lr H
CCBPE100X300 100 4" 300 12" 215 11" 115 45/8" 2/10108 2U
CCBPE100X400 100 4" 400 16" 215 11" 115 45/8" 2/10109 1U HEO
CCBPE100X600 100 4" 600 24" 215 11" 115 45/8" 2/10110 éim .
’ 2 x JUBPE 60 (2/10084) + 4/100 CTPB (2/10017) g ELJ
2 x JUBPE 100 (2/10085) + 8/100 CTPB (2/10017) .
I
H100

E39 93




Basor

BasorPLAST
BPE

TCCBPE pvc (uvmi7035)

CXBPE pvc (uvmi 7035)

TCXBPE pvc (uvmi 7035

94 E39

TCCBPE 60X100
TCCBPE 60X150
TCCBPE 60X200
TCCBPE 60X300
TCCBPE 100X200
TCCBPE 100X300
TCCBPE 100X400
TCCBPE 100X600

X

CXBPE 60X100
CXBPE 60X150
CXBPE 60X200
CXBPE 60X300
CXBPE 100X200
CXBPE 100X300
CXBPE 100X400
CXBPE 100X600

|

TCXBPE 60X100
TCXBPE 60X150
TCXBPE 60X200
TCXBPE 60X300
TCXBPE 100X200
TCXBPE 100X300
TCXBPE 100X400
TCXBPE 100X600

X

mm

60
60
60
60
100
100
100
100

inch
23/8
23/8
23/8"
23/8"

r

4
¥y
4

mm

100
150
200
300
200
300
400
600

inch

24

mm

240
240
240
240
215
215
215
215

mm

100
150
200
300
200
300
400
600

H

inch

91/
91/2'
91/
" 100

mm

100
150
200
300
200
300
400
600

inch

v F-TCCBPE B100-400 FTCCBPE 600

mm

100
100
100

115
115
115
15

inch

inch
p
g
4y
p

2/10111
2/10112
2/10113
2/1014
2/10115
2/10116
210117
2/10118

2/10119
2/10120
210121
210122

45/8" 2/10123
45/8" 2110124
45/8" 2/10125
45/8" 2/10126

2 x JUBPE 60 (2/10084) + 4/100 CTPB (2/10017)
2 x JUBPE 100 (2/10085) + 8/100 CTPB (2/10017)

2110121
2/10128
2/10129
2/10130
2/10131
2/10132
2/10133
2/10134

\ F-TCXBPE B100-400 FTCXBPE 600W 2

1U

CERTIFIED
s
79833

1
1
1u
1
1
1U
1

1u
1
1u
1
1
1
1
1u

32
>
2
S
1

3EBasor

vvvvvvvvvvvvvvvvv

38
38

§R
35

HE0

150_50
LT T
[ 1]

H100




asorPLAST 3€Basor
BPE e e

PDBPE pvc uvmi 7035

[ | oo | 25%9 259
PDBPE 60 23021 1ou S [ & oo ©[E
PDBPE 100 223022 10U = 25,50

/ 1x PDBPE 60 + 2/100 CTBP (2/10017)
1x PDBPE 100 + 4/100 CTPB (2/10017)

155
155

¥ 5‘ I3 6‘
8| EX: 8| e
! 155 ' 155
H60 H100
H B
| wwinss |

TFBPE pvc (uvmi 7035) o i e T y

TFBPE 60X100 60 23/8" 100 4 223023 20 % H 8] &

_ TFBPE 60X150 60 23/8" 150 6" 223024 2U B ILZSL-
ﬂ g TFBPE 60X200 60 23/8" 200 g' 223025 1U H100
J TFBPE 60X300 60 23/8" 300 12" 223026 2U o g - 7 9

TFBPE 100X200 100 4 200 g' 2230217 20 T & 8] [ T

TFBPE 100X300 100 4 300 12" 223028 2U 8 %‘b‘

TFBPE 100X400 100 4 400 16" 223029 2U

TFBPE 100X600 100 4 600 24" 223030 2U

(3
p " 1« TFBPE HE0 + 2/100 CTBP (2/10017)
1x TFBPE H100 + 4/100 CTPB (2/10017)
T

PSBPE pvc (uvmi 7035) T ] 1[
[ e—— PSBPE 60 60 23/8" 2/10144 30M 25 ]

PSBPE 100 100 4 2/10145 30M

/ 4/100 CTBP (2/10017)

L=3m(101) i L L

T
om oo [
JUBPE 60 60 23/8" 2/10084 10U
JUBPE 100 100 4 2/10085 10U
el BPIJU 60
/« 2 x JUBPE 60 » 4/100 CTBP (2/10017)
2 x JUBPE 100 » 8/100 CTBP (2/10017) dle »
e Lol [
s s0]
-
250
BPIJU 100

E39 95




PLAST

asorPLAST

BPE

JUBPE-C

JUBPE-AB

PVC (UVMI 7035)

il
e 2
(| &
" oxd
|
BIK10-BPE

/

CTBP pvc (uvmi 7035)

@7,

96 E39

|qua

3€EBasor

AAAAAAAAAAAAAAAAA

JUBPE-C 400-600

f 4/100 x CTBP (210017)

Kit JUBPE-AB 60
Kit JUBPE-AB 100

T

218191 TU

H A

mm inch Deg REF m

32 23/8" +/-90 223613 10U
63 11/4" +-90 223614 10U

/ 2 x JUBPE-A > 8/100 CTBP (2/10017)

(] Mod. i304
mm HxB REF
BIK10-BPE 60X100 15 60x100 2/11340
BIK10-BPE 60X150 15 60x150 2/11341
BIK10-BPE 60/100x200 1,5 60X200 & 100X200 2/17342
BIK10-BPE 60/100X300 1,5 60X300 & 100X300 2/17343
BIK10-BPE 100X400 2 100X400 2/11345
BIK10-BPE 100X600 2 100X600 2/11346
I@ f 3 x BIKIO-BPE =>1x TBPE Z
L s
o T

CTBP-100

p

o

25 210017 1U

125

JUBPE-B

B
8 \ < } \\:\r\‘\

ey

| } / =y

bBEger
JOS®g

W



.asorP LAST 3€Basor
PIrOGUCE LINE o s

CTA kg (Ib) O 1.1
0
p //@ ap 166060 105(231) 125 276) 291 (642) 207 (456) 148 (326)
SHG
/ 0
\ g 849 95 (209) 120 (264) 17839 160 (353) 113 (249)
R 0 Hs E r(@ 60°C  -20°C _: I :_
OK VJ IEC 61537 m ISO/TR 10358
CTA kg {Ib) Comw w0 mME) 0@ 40ps) 60p)
'|'D
aop  1960368) 105(231) 125(276) 291(64) 207 (456) 148 (326)
PSHG °
d 0
: PO ) 95(209) 120 (264) 178 (392) 160 (353) 113,(249)
RoHS [‘l‘y@ @ B 8¢
0K " |LOK |

IEC 61537 ISO/TR 10358
DIN 8061

cTAka (I = ComwmE) me W) ae0swopy

1
40°C

V6 312 (687) 262 (577) 213(469) me@i9) 162 (358) 11(170)

NO 60°C -20°C _:::_
s B T8

IEC 61537 ISO/TR 10358
DIN 8061

E39 97/




PLAST

asorPLAST 3€Basor

uuuuuuuuuuuuuuuuu

BPE
SHG B awf) OO oo |
mm inch  CTA(kg) CTA(b) CTA(kg)  CTA(h) m
5
SHG 100 100 4° 166 366 13 243 2710011 8U :\L@Lriré
w/ SHG 150 150 6 105 231 95 209 2/10012 8U =
LN SHG200 200 & 15 26 120 120 20003 4U oA e
\\ SHG 300 300 127 291 642 118 392 210014  4U >89
/ SHG 400 400 16" 207 456 160 353 2710015 2U 8 R[: DZ
[
SHG 600 600 24" 148 326 13 243 210016 2U L7 ] o
/ BPE ---> SHG: 2/100 x CTBP (2/10017) SHG100
50, 15 5 15,50 15
3 B [ -1
U:I o] 430,15 6 S ] 80
_ ] %% B 50 B+65
= o k;;;;;; ” E@f \\é L] ‘
RIRSE 19¢11 = H — ? g\r 80 130 1ot oﬁ[%§ o
S g 130 o ﬁ{.ﬂ_ 1o 19T S50 a %E
589 ha e 5840 19x11
{1 H A== #— = H =
8 | FM 70 ‘ 170 ‘ E: — — %‘
214 265 363 B+14
SHG150 SHG200 SHG300 SHG 400/600
SVG oo T
mo e b BUGREEN
SVG 100 100 4" 312 687 2710050 1U oh i E
SVG 150 150 6 262 577 2/10081 11U o B+67
SVG 200 200 8" 213 469 2410052 11U pe ‘D%C]’ oo
8 I:I | —
SVG 300 300 127 1M 319 2/10053 11U % oo ogo
SVG 400 400 16" 162 358 2/10054 @ 1U v Blz:? 10x10
SVG 600 600 24" 71 170 2/10085 @ 1U

/ BPE ---> SVG: 2/100 x CTBP (2/10017)

KSHGR | o [
REF m G/40x11
KSHGR 2/11282 1u E J
1
¢
PSHGR ---> KSHGR / 4/100 x B2 (2/5392-i304) A2 7
00—

SHG 100~300 ---> KSHGR f 1x CT2 M10X100 (2/7228-i304)

51
79

25x11
SHG 400~600 ---> KSHGR f 2 xCT2 M10x100 (2/7228-i304) é

98 E39




asorPLAST 3€Basor
BPE e e

2 |
PSHG 2M 217281 12M 5 -
O,
SHG 100~300 ---> PSHG 7 1x CT2 M10X100 (2/7228-i304) g%
SHG 400~600 ---> PSHG / 2 x CT2 M10X100 (2/7228-1304) ® | |
Lol
- e
)E‘*’*
1 ==
PSHGR | e -
v o I
PSHGR 600 211283  2U o “]
TFSHGRPVC (212112) 3l . ©
PSHGR ---> KSHGR 7 4/100 x B2 (2/5392-i304) ° i
SHG 100300 > PSHGR @ 1x CT2 MIOXI00 (2/7228-i304) ° ]
25
SHG 400~600 ---> PSHGR / 2 x CT2 M10X100 (2/7228-1304) ]
86
PSHGR
/
TFSHGR SHGR+TFSHGR
CTZ Pap i304
Nm REF MU[] M10x100 DIN931
M10 DIN6923
CT2 M10X100 15 27228 50U @é
\\ ‘”‘ .
B2  pap | i304
REE MOQ
B2-100 15 2/5392 U @[

@20 ‘ 15

ﬂ

1o

CERTIFIED
SAFETY US

=

E39 99







_I
O
=

n [
N e s =S 82s 2
2 2 e X 2 s =
O 3 X
o
P °
1] | - B
L5828
— (]
2l: g
B <
= £ Xy
| %sé ) - g
ss = W = - o N L g F
s,«waow W [ad L&
=l [aN
9\, O
— 2 I et =
I B Mg
wc o0 o O O O o
— s O O O o o
— ON OO = OO
! < =
oL =
sﬂzo _W <
o S
(O] 3
) = ‘\
V=l s ovW
[—2 B4 U
z s
)
= =
~ Dl E
QR n z
~r]; - o
w
2 2 4 3y
o z
T —
l &)
= 2
RD ¢ = =
z
B 3 @ L
P F 5
A m
N &
o9 (VXY [ad
= 2
0 wuw
24 i
= =
=8 a i M
S 8 O = >
o (%) %)
_|___.mm e
w
-3




CANAL

asorCANAL BEBasor
N vl et
----- B
WT 100X100 150 100 100 2/10146 B e
WT 200X100 150 200 8 100 4 2/10141  4M Yo ]
WT 300X100 150 300 12 100 4 210148  4M ¢
WT 400X100 150 400 16 100 4 | 2/10149 4M PG
WT 500100 150 500 20 100 4 210150 4M 8 ||Isol
WT 600X100 150 600 24 100 4  2/10151 4M 2
L=2m (661
f ’ 2 x JUWT (2/10177) + 4/100 x B1 (2/4356) |
/ 2m x WT --> 3 x SV (B) + 2/100 x Bl (2/4356) e
/ B> 400 -->1x PSWT
TWT PG --_ e
TWT 100 100 4" | 224245 JIZm=0
TWT 200 200 8 224246 2M SIS E
ENT=")
TWT 300 300 12' 224241 2M gloseial
TWT 400 400 16" 224248 2M qeum=e
TWT 500 500 20" 224243  2M W;%ﬂ
. TWT 600 600 24" 224250 ~ 2M SLETPES
=2m(6,6ft H-8= )) ©
g @ SIS0z
& 1xpswr (2/10180) --> TWT (400 - 600) siils

L=2m(6,61)

TSWT PG

102 BO7

L=2m(6,61)

TWT 100
TWT 200
TWT 300
TWT 400
TWT 500
TWT 600

150
150
150
150
150
150

100
200
300
400
500
600

f 6/100 x DIN 7991 M6x16 (2/10265 - EZ)

f 1x PSWT (2/10180) --> TWT (400 - 600)

TSWT 100
TSWT 200
TSWT 300
TSWT 400
TSWT 500
TSWT 600

100
200
300
400
500
600

/ 6/100 x DIN 7991 M6x16 (2/10265 - EZ)

%

12
16
20
24

12
16
20
24

2/10191
2/10192
2/10193
2/10194
2/10195
2/10196

2/10185
2/10186
210187
2/10188
2/10189
2/10190

2M
2M
2M
2M
2M

I
o [T

2M
2M
2M
2M
2M

20|

W= W=

_

= [li-= 0

= .

2000

2000




asorCANAL 3€Basor

Awr e ==ateN
CPWT PG “ 128
CPWT 100X100 150 100 100 2010152 .
CPWT 200X100 150 200 8 100 4 2015 1U B
CPWT 300X100 150 300 12 100 4 240154 1U :
CPWT 400X100 150 400 16 100 4 2015 1U 0
CPWT 500X100 150 500 20 100 4 2/015% 1U | 7
CPWT 600X100 150 600 24 100 4 20057 1U /=
f 4/100 x Bl (2/4356 -EZ) ¢ s
L2
f 1x CPWT -->1x SV (B)
A
JUWT
TCPWT PG o e )
Fon e S MOQ A
TCPWT 100 100 4 224251 1U
= = =
TCPWT 200 200 & 224252 qu |=SMISHESWNS WA
) SRRSO
TCPWT 300 300 12 224253 10 =p0=H0=00=4h
= = = = +
TCPWT 400 400 16" 224254 10 | H=NNSHNSUNZS|”
TCPWT 500 500 20° 224255 | 1u | ="ISHASHAS KA
] T
TCPWT 600 600 24" 1224256 U = pus NN e /

cowra S
----

TCPWT 100 150 100 210197
TCPWT 200 150 200 8 20198 U 00—
TCPWT 300 150 300 12 210199 1U gﬁ%%g
TCPWT 400 150 400 16 2/10200 1U T
EMEME M=
TCPWT 500 150 500 20 210201 U =M= =m
TCPWT 600 150 600 24 210202 1U = 0= 0=
EIED
/ B=100,200,300 3/100 x DIN 7991 M6éx16 (2/10265 - EZ) B

f B=400,500,600 5/100 x DIN 7991 M6x16 (2/10265 - EZ)

R < |
TePwWTPG L .Emem A

TSCPWT 100 100 2/10203

TSCPWT 200 200 8 2/10204 1U )
TSCPWT 300 300 12 2/10205 1U $
TSCPWT 400 400 16 2/10206 1U

TSCPWT 500 500 20 2710207 @ 1U

TSCPWT 600 600 24 2/10208 1U

/ B=100,200,300 3/100 x DIN 7991 M6x16 (2/10265 - EZ) B

/ B=400,500,600 5/100 x DIN 7991 M6x16 (2/10265 - EZ)
%‘L

B07103




asorCANAL 3€Basor

™
cownseo ST

CPWT45100X100 150 100 100 2/10158

CPWT45 200X100 150 200 8 100 4 2/10159 @ 1U

CPWT45 300X100 150 300 12 100 4 2/10160 1U

CPWT45 400X100 150 400 16 100 4 210161 1U

CPWT45 500X100 150 500 20 100 4 2/10162 11U

CPWT45 600X100 150 600 24 100 4 2/10164 11U

f 4/100 x B1 (2/4356 -EZ)

1x CPWT45 -->1x SV (B)

A

f—

JUWT
TCPWT45 PG s - .
--- = =
L B+1 JU

TCPWT45 100 100 2405 1U p

TCPWT45 200 200 & 204258 1U N

TCPWT45 300 00 12 22459 1U

TCPWTA5 400 00 16 22460 1U

TCPWTA5 500 500 20 | 224261 1U

TCPWTA5 600 600 24 | 224262 1U

reowns A IS
---m

TCPWT45100 150 100 210209

TCPWT45 200 150 200 8 2/10210 1U
TCPWT45 300 150 300 12 2710211 1U
TCPWT45 400 150 400 16 2/10212 11U
TCPWT45 500 150 500 20 2/10213 11U
TCPWT45 600 150 600 24 210214 11U

/ 3/100 x DIN 7991 M6x16 (2/10265 - EZ)

rscowrisee I
Y | o |

TSCPWT45 100 100 2110215 = -
TSCPWT45 200 200 8 2/10216 @ 1U

TSCPWT45 300 300 12 2710217 = 1U 950

TSCPWT45 400 400 16 210218 11U o

TSCPWT45 500 500 20 2/10219 11U

TSCPWT45 600 600 24 2/10220 1U ’ °
/ 3/100 x DIN 7991 M6x16 (2/10265 - EZ) —BJ

%

104 Bo7




asorCANAL
A WT

TEWT PG

TTEWT PG

TTEWT AL

7, %,

4,/
2 @

TSTEWT PG

3EBasor

uuuuuuuuuuuuuuuuu

| m |
_.-----

TEWT 100X100
TEWT 200X100
TEWT 300X100
TEWT 400X100
TEWT 500X100
TEWT 600X100

150
150
150
150
150

f 6/100 x B1 (2/4356 -EZ)

1x TEWT -->1x SV (B)

g —

JUWT

]
oo

TTEWT 100
TTEWT 200
TTEWT 300
TTEWT 400
TTEWT 500
TTEWT 600

e

TTEWT 100
TTEWT 200
TTEWT 300
TTEWT 400
TTEWT 500
TTEWT 600

100
200
300
400
500
600

12
16
20
24

150
150
150
150
150

100
100
100
100
100
100

100
200
300
400
500
600

100
200
300
400
500
600

f 4/100 x DIN 7991 M6x16 (2/10265 - EZ)

I
oo

TSTEWT 100
TSTEWT 200
TSTEWT 300
TSTEWT 400
TSTEWT 500
TSTEWT 600

100
200
300
400
500
600

/ 4/100 x DIN 7991 M6x16 (2/10265 - EZ)

%

B R — N

12
16
20
24

12
16
20
24

2/10165
2/10166
210167
2/10168
2/10169
2/10170

224263
224264
224265
224266
224267
224268

2/10221
2110222
2110223
210224
210225
210226

2110221
210228
2/10229
2/10230
2/10231
2/10232

1U
1U
1U
1u
1U

1U
1u
1U
1U
1U
1U

1
1
1
1
1

1U
1U
1U
1U
1

12x8

glii

B+1
JEE0

25x7,5
o
VAN

B+200

4
@
+
iR
H

(-]
=
=

=
=

=
=

=
=

eIl

=
=
=
=
=
=

[]]
[]]
[]]
e

=
=
=
=
=
=
=
=

=
=
=
=
=
=
=
=

T}
T}
T
AT

=
=
=
=

T
PSS HRS NS N
T
P U ON=an
T
PSS HRSHNS ON
0o
= N\ @ SMSHnsan
0o

=
=

=
=
T
=
Y
=
=
T

o

=)
S

B+200

B07105




asorCANAL BEBasor
A W—I— AAAAAAAAAAAAAAA
CRWT PG L L e
REF M0Q — _
CRWT 100X100 100 4 100 4 2410292 1U =[] -
CRWT 200X100 100 4 200 8 2/10293 1U
CRWT 300X100 100 4 300 12 241029 1U
CRWT 400X100 100 4 400 16 2410295 1U
CRWT 500X100 100 4 500 20 2/1029 11U
CRWT 600X100 100 4 600 24 2/10297 1U
f 8/100 x B1 (2/4356 - EZ)
1x CRWT -->1x SV (B)
JUWT
TCRWT PG AT 00
L *
" g Szuznezany
TCRWT 100 100 4 224269 1U 8 emchcmnzen
TCRWT 200 200 § 224210 1U SHNSOUSIIS U S N
H=M=00=00=00=
TCRWT 300 300 127 T224211 U g [SHNSHUS NS ONSHY
TCRWT 400 w0 16 (2202 10 7| ¥ Emtmtien
" WOSMNS eSS s
TCRWT 500 500 200 22423 MU NSRS
TCRWT 600 600 24" 224274 (U L _shhsuesws )/
% \ 100 J_ B+1 100
TCRWT AL L ow
- REF MOQ
TCRWT 100 100 4 2/10298 1U
TCRWT 200 200 8 2/10299 1U
TCRWT 300 300 12 2/10300 1U
TCRWT 400 400 16 210301 1U f
TCRWT 500 500 20 2/10302 11U
TCRWT 600 600 24 2/10303 11U

/ 4/100 x DIN 7991 M6x16 (2/10265 - EZ)

106 BO7




asorCANAL 3€Basor

A v e T h
e [
CCWT GS _---- -
CCWT 100X100 100 100 2101 1U S i
CCWT 200X100 200 8 100 4 210112 1U
CCWT 300X100 30 12 10 4 21013 iU o |°° i
CCWT 400X100 400 16 100 4 2710174 11U - .
CCWT 500X100 500 20 100 4 2710175 1U R R
CCWT 600X100 600 24 100 4 2710176 1U A e i

200

f 4/100 x B1 (2/4356 - EZ)

® D] @
= =

7

N
fA—

JUWT CCOX WT
PSWT GS I
REF 2 |2
PSWT 100 210180  2M | ]

/’ 4/100 x B1 (2/4356 - EZ)

330

2000

18x7,5 L

REF
REWT 100X100 107 4 210087 1U 0 ot
f 2/100 x B1 (2/4356 - EZ) 0 0
TFWT GS _------_

MOQ
TFWT 100X100 100 100 2/10240 { }r ;[
TFWT 200X100 200 8 100 4 2010241 1U s
TFWT 300X100 300 12 100 4 2/10242 11U
TFWT 400X100 400 16 100 4 2/10243 11U .
TFWT 500X100 500 20 100 4 2/10244 11U
TFWT 600X100 600 24 100 4 2/10245 1U 42

/ 2/100 x B1 (2/4356 - EZ)

B0o7107/




CANAL

asorCANAL
A WT

JUWT PG

SV GS

SV100/150/200/300

SV 400/500/600

B1

Byl

| IS
v

TMK

108 Bo7

3€Basor
[ k|
JUWT 100 2nom - SU- o
/ 2/100 x B1 (2/4356 - EZ)
120 e
| ok
e
SV100 100 4° 15 276 609 2/1046 10U & 3575
$V150 150 6" 15 253 558  2/1047  6U 7 { +44f A=k
SV200 200 8 15 253 558 2/1048 = 6U B+72
SV300 300 12" 15 207 456 2/1049 = 6U SV100/150/200/300
SV400 400 16" 15 506 1116 2/3413 = 5U
SV500 500 20" 15 460 1014 2/3414
SV600 600 24" 15 414 912 2/3415 NN
////ﬁ////
f || 2100 x B1 (2/4356 - EZ) eide

SV 400/500/600

_.. MOQ

B1-100 14 2/4356

ﬂ P14 ‘ L

M6

| =
I,

DIN7991-100 M6X16 8  2/10265 11U
(4] | P12 | ‘ 16 |

T o
e

TMK-100 M6 2/10266 11U



csor
.asorCANAL BEB ,,,,,,,,,,
|

B07109







TUB
RLH-CLH-PVC

RE1250 RLH ------.l :
RE1250 16 14 1/2" 4322 2/6453 114 M -
RE1250 20 20 3/4" 16 5/8 4322 54 1 2/6454  5IM g
RE1250 25 25 1" 20 3/4" 4322 54 1 2/6455  5TM L1
RE1250 32 32 11/4 22 1/8 4322 54 1 2/6456  30M |
RE1250 40 40 15/8" 26 1" 4322 54 1 2/6457  30M DN
RE1250 50 50 2" 31 114 4322 K4 T 2/6458  15M \
RE1250 63 21/2" 60 23/8" 4322 54 1 2/6459  15M

] ‘

ﬂ; :§:1250N ZBI é ‘Filv? HALOGEN

EN 50642:2018

socn [

R1250 16 16 5/8" 8

R1250 20 20 3/4" 4422 8

R1250 32 25 1" 4422 8

R1250 40 32 11/4" 4422 8

R1250 50 40 15/8" 4422 8 %
RE1250 50 50 2" 4422 8

7 Y
I ¢ urizso é:IZSlJN ~ A& FHALOGEN
60 L) FREE
90°C  -5°C

RoHS  NO 26
e w RE Lo

B07 111




TUB

asorTUB
RLH-CLH

R1250 PVC

\/

JUR1250

CPR

CFR

mm inch
R1250 16 16 5/8"
R1250 20 20  3/4"
R1250 25 25 1"
R1250 32 32 114
R1250 40 40 15/8"
R1250 50 50 2"

= Y = /SUR 1250 Z?nsou
60°C -5°C

P v

3€Basor

EN IEC PVC 7035

IK by
61386 R MOQ '/‘E
B0 1 26460 TIAM Q’/
B0 1 ekl SN
B0 1 ueds2 SN
827 26dE3 30M
B2 1 uedsh  15M g
801 uedss  I5M

>4

NO -
YR o0 T

mm inch mm inch REF M0Q
JUR1250 16 16 5/8" 50 2" 40 2/6732 38U
JUR1250 20 20 3/4" 55 21/8" 40  2/6133 19U
JUR1250 25 25 1" 60 23/8" 40 2/6734 19U
JUR1250 32 32 114 10 23/4" 40  2/6135 10U
JUR1250 40 40 15/8" 80 31/8" 40  2/6136 5U
JUR1250 50 50 VA 90 31/2" 40  2/6131 5U
A RoHS NO (/\ 3 )/HALOGEN
roe S e Wi
DN R -
mm inch mm inch REF M0Q
CPR 16 16 5/8" 54 21/8" 40 2/6139 50U
CPR 20 20 3/4" 61 25/8 40 2/6140 50U
CPR 25 25 1" 85 33/8" 40 2/6141 25U ¢
CPR 32 32 11/4" 110 43/8" 40 2/67142 25U
CPR 40 40 15/8" 138 53/8" 40  2/6143 15U
CPR 50 50 2" 112 63/4" 40  2/6744 5U
T = Ro_I-IS NO f(ﬁ\ \\ )/HALOGEN
o+ U
mm inch mm inch
CFR 16 16 5/8" 220 81/2" 65 2/6819 10U
CFR 20 20  3/4" 230 9" 65  2/6820 1U
CFR 25 25 1" 540 211/2" 65  2/6821 1U
CFR 32 32 11/4" 210 101/2" 65 2/6822 20U
CFR 40 40 15/8" 300 12 65 2/6823 5U
CFR 50 50 2" 340 131/2" 65 2/6824 1U
won RoHS NO (/\ \a v HALOGEN
ge S 408 e



asorTUB

RLH-CLH

CFR2

\
MCR1250
[
SPR1250
ABR1250
\
BFT-41

CFR216
CFR2 20
CFR2 25
CFR2 32

90°C  -5°C

88

MCR1250 16
MCR1250 20
MCR1250 25
MCR1250 32
MCR1250 40
MCR1250 50

90°C  -5°C

88

SPR1250 16
SPR1250 20
SPR1250 25
SPR1250 32
SPR1250 40
SPR1250 50

90°C  -5°C

88

ABR1250 16-32
ABR1250 20-63

90°C¢  -5°C

88

BFT-P4120
BFT-P41 25
BFT-P41 32
BFT-P41 40
BFT-P4150

IP

mm inch mm

16 58" 280
20 3/4" 280
25 1" 340
32 114" 380

Roli
OK

DN L

mm inch mm

16 58 15
20 34 15
2% 1" 1
32 114 16
40 15/8" 16
5 27 18

Roli
OK

67

DN A B

inch  mm inch mm inch

58" 12 172 25 1
34" 12 1727 28 118"
" 12 1720 32 18
1T1/4 12 172" 43 13/4
15/8" 14 9/16" 50 2"
2" 14 9/16" 56 21/4"

RoHS NO
s PG

DN F

mm inch kg
16-32 5/8"-11/4" 15
20-63 3/4'-21/2" 15

RoHS MO,
-« +(&

Dn
mm
11,9-20
234-254
295-32
38,4-40,6
50,3-53,7

3EBasor

sssssssssssssssssss

L " PVC 7035
inch REF MOQ
811" 64 2/7432 12U
n 64 2/1433 40U
131/2" 64 2/1434 20U
15" 64 2/7435 20U
J
mm REF M0Q DN
42 61 2/6746 25U
44 61  2/6141 25U
47 67 2/6148 25U
52 61 2/6743 15U -
64 67 2/6150 10U 7l
12 61  2/6751 5U
J
N
mm inch kg
21 13/16" 3~ 2/6753 100U
26 1" 3  2/6154 100U
31 11/4" 3 2/6755 100U
44 13/4" 3  2/6156 50U
52 2" 3 2/6751 50U
62 21/2" 3  2/6158 25U
Q )é{ HALOGEN
REF MoQ 1
2/6160 50U
2/6761 100U

J
N F HALOGEN
Y Free

EN 50642:2018

| v |
m

15 2/6811 100U
15 2/6812 100U > >
15 2/6813 100U
2 2/6814 100U %
2 2/6815 100U

B0O7 113







BasorFIX 3€Basor

AAAAAAAAAAAAAAAAA

1
BC A Emax H Pap e “ M10
oo Nmo —
BCA 41X41 20 9 26 6 2/8309 25U ¢
BCA 41X82 20 130 26 6 2/8810 25U 4 =

GVZ [ “ i304 DIN933 M8x50
mm REF MoQ REF M0Q DIN 934 M8
Gv2 3 2/15501 26U 2/18642 10U
3 B ~
O
32,5 09
O
Q
®10,5

95 Kg

GVV2 GS | k|
REF M0Q
Gvv2 2/10713 42U

= M8 & M10

DIN934 M8

DIN933 M8x50

O

Q
$10,5

95 kg 80 kg 200 kg

B07 115

Basor



Basor

BasorFIX

VR DIN976 & DIN934

DIN976 M8X85
DING76 M10X100
DINS76 M10X150
i DING76 M12X150
C DING76 M12X200
DIN9T6 DIN934
DIN976 & MVR
DIN976 M6X1000
DIN976 M8X1000
DIN976 M10X1000
DIN976 M12X1000
MVR M6
MVR M8
DIN9T6
MVR
CSJ
By
M6

116 BO7

Qtrac
ke
1000 400
1000 800
1000 1400
1000 2500

2/3461 10M  2/3462 10M

3EBasor

AAAAAAAAAAAAAAAAA

304

REF MoQ
2/10246 50U
210241 25U
2/10248 25U
210249 11U
210250 1U

i304
. O
217562 100U

23397 50M 2/6852 50U
25535 25U

2/6502 10U ®©
2/6323 100U

24462 200U 2/7402 100U

i430
REF MOQ REF MoQ




BasorFIX 3€Basor
7
Bon oo e 2w w ST
RA35 3M 3% 14 15 15 09 037 104 2/0231 30M 2/0238 3M
RA35 3M 3% 14 15 15 09 037 104 2/3484 32M
RA50 3M 50 14 30 15 11 037 178 2/0239 30M 2/0240 3M
CT40 3M 40 20 20 15 125 064 16  2/44T1  24M  2/0246 2M
CT40 2M 40 20 20 15 125 064 16 2/5656 24 M
CT20 2M 20 10 10 1 038 009 025 2/0242 4om ®©
CT20-C 2M 20 10 10 1 044 01 025 2/0241 40M
C
<.
M6, M8 Ao S
:E‘Saex Ejey
Eje Y
L=2-3m(6,56-10 1) - : U*
o
25x8,5
OH {
15%6,5 o S S =
0 - ol
0. :
= U5
cr20 L8] RA/CTAD LB '
JURA O ks | owe | —y
mm i MoQ i MOQ 28075
JURA 35 28 2M22 60U  2/1123 60U
JURA 50 40 2M24 40U 2/3473 40U U
M6 8
5 |
s v o [ - o o r
o woo [ I
C-SV0 3M 52 20 2 2/1101 24M 2/7436 3M 15 2/6415 3M 9
» | © 2
@\ CSVO
M6, M8 8
L=3m(10f)

3000

20x9

B07 117/

Basor



Basor

BasorFIX 3€Basor
f ProdUCE LINE
OBP/OBC/OAP/OAC S S S = .
/ / / mm mm mm REF M0Q I[L:ji
0BP 1 35 T 2/0248 40M °
0BC 1 35 1 201214 40M r D
0AP 15 35 15 2/0250 | 40M
0BP
0AC 15 35 15 | 2/1221  40M
15x6 ]
\ -l
0BC L=2m(6,71) :{
0AP
0AC
OR B H L 75
mm inch mm inch mm inch REF m Il I
OR 3M 3% 138 15 35 3 10 2/9806 3M 8|

118 Bo7




BasorFIX 3€Basor
B1/82

P41 41X2] SRR - .

mmooem? i oem® i om? i Ble X '
41X21X1,5D11X25 1,5 1,44 0,22 0,19 0,05 1,86 0,11 2/6366 3 M
41x21x2 D13x28 2 184 028 094 0,06 2,34 0,14 2/18677 3M

41X21X2,5D11X25 25 2,14 0,33 1,08 0,07 273 016 2/0235 3M 2/0236 3M
25x11/28x13

50
3000

L=3m(101Y) :::::Q; =
0

=)

22
P41 41X41 e A ww [T I
, oo W ew o am Eje T
41X41X1,5 D11X25 15 195 0,3 209 012 292 017 2/6365 3M © Ejey
41X41X2,5 D11X25 25321 05 32 019 459 0,28 2/0233 3M 2/0234 3M
41x41x2 D13x28 2 260 040 271 016 383 023 2/8673  3M Yoctt/2613 J
m
?g ::?
L=3m(10ft) 3
41
P41-3S 41X41X2 e A ww [T -
Mmoo oW e 3 T

41X41X2-38D13X28 2 2,08 0,32 2,68 0,16 2,86 0,19 2/17313 3 M = =

uy
]
<

28x13

1{
)l

O Ol O

50

L=3m(10f}) Q
P41-D 41X82 S N SN e
mm cem’ 2 cm® in®  cem® ind REF MoQ
P41-D 41X82X2 D11X25 2 525 081 796 048 1,63 046 @ 2
P41-D 41X82X2,5 D11X25 25 6,37 098 9,49 057 911 0,55 2/5573 3M Lﬂﬁ .
eje x } o
1
| u
ejey
25x11
1
f Ul
L=3m (1[] ﬁ] i =
41

B07 119

Basor



Basor

BasorFIX
41/82

3€EBasor

CABLE TRAY SPECIALIST

— ACC 41/82

SBL41

4182CR 4182TE

4182CD 4182D

SB4l SBL4]

TF41

K41-3S K82 K82ME

SBL41-3S KA41 SB41

4182CV 4182A 4182B £4182C

4182H 4182] 4182K 41821 4182M

TM4] TAD TEP

120 BO7




BasorFIX 3€Basor

AAAAAAAAAAAAAAAAA

41/82
K41 o
Kg REF M0Q T
Ka1 700 2/5622 10U T e j
L / 2 x T MIOX30 (2/17547 - i304) + 2 x TM M10 (2/17584 HDG) o
4

120

K82 vea [

Ke REF MOQ T
K82 1100~ 2/5574 1U Qreac 215 ﬂ
L] / 4 X T MI0X30 (2/17547-1304) + 2 TM M10 (2/17584-HDG) |~ ‘ e o
B 93
o
B IGE
180 J2>1' '
oeac [
Ke REF MOQ
Qreac 83
K82ME 1100~ 2/7020 1U W [a ]
~ ‘[‘_'1‘ CDX’L
— = 131 = @ @
1x Q s f 2 X T M10X30 (2/17547-i304) + 2 TM M10 S B e ot
(2/17584-HDG) + 2/50 x B3 (2/8827-HDG) e ==
ox L /'4><T M8X20 DIN933 (0/0318 - i304) + 4 x TAG M8
DING923 (0/0348 - i304)
SBL4T vae o [ T
o |
SBL41 600 4 2/7058 U 2/64712 1U - Qreac 2
— -0 | a0
L f 2 X T MI0X30 (2/17547-i304) + 2 TM M10 s 7|
(2/17584-HDG) ) &:
vT 25X11 25X11
P (] 25X11
Ll /& 2/50 x B3 (2/8827 - HDG) "4 © E;ﬁ
4] aa] [ [ 0
132

B07 121

Basor



Basor

BasorFIX 3€Basor

AAAAAAAAAAAAAAAAA

41/82
KA4] e we |
ke REF M0
KA4 1000  2/6475 1U

U / 2 X T M10X30 (2/17547-i304) + 2 TM M10 (2/17584-
HDQG)

g f 2/50 x B3 (2/8827 - HDG)

e
f x

21

$B41 00 2647 1U mt T
L1 o 2x7 wioxso @/7547-304) + 2TM MO 217584 :; )
H DG) ﬁﬂ lel 25X11
L /350 x 83 (218827 - HDG) CIENE=.
4l4a] [ J2o?!
132

4182CR a0 .

4182CR 2/6473 1U © , f
— Q)\:" ﬁl L
L1 o s x7mioxso (2/17547-1304) + 5 TM M10 (2/17584- & 195 T
HDG) )
ol ol s
L f 5/50 x B3 (2/8827 - HDG) S
141

4182TE o5 s

T
T

141

T 5 Ej
REF M0Q N ;‘ il ;“
4182TE 216474 11U 25x11 +—g € B :
O . 0 JIE
4 X T MI0X30 (2/17547-i304) + 5 TM M10 (2/17584- | 1R '
HDG) Tsil Jas|
=
i T t
Q f 4/50 x B3 (2/8827 - HDQ) BeZ SIS
|85 o
127 =




BasorFIX

3EBasor
G182
4182CV o CHI e
] AV =
41820V 500  2/6477 20U -
m 42 46
= M8 &MI0 aa)
¢’Q E 0 ]
4182A L S
REF MOQ N 1, HE[
1820 26311 12U M) L
190 4
L f 4 X T MI0X30 (2/17547-i304) + 5 TM M10 (2/17584-HDG)
Q f 4/50 x B3 (2/8827 - HDG)
(
Ejez
4182B 134
REF MOQ 46 21 4
41828 26312 120 J[ o 5 L
L f 4 X T M10X30 (2/17547-i304) + 5 TM M10 (2/17584-HDG) N
Blog,
L o 450 x B3 (2/8827 - HDG) ®

} Qreac

4182C | W |

REF M0
2/6313 50U =

h82C

=}
—2
8
'
I
S
i
21

L / 2 X T MI0X30 (2/17547-1304) + 5 TM M10 (2/17584-HDG) '

Q f 2/50 x B3 (2/8827 - HDG) L

B0O7123

Basor



Basor

BasorFIX 3€Basor

L1/82
4182CD ] .
ﬂ: 8
4182CD 2/M21 U
T § lQreac e\{), s
3 X T MI10X30 (2/17547-i304) + 5 TM M10 (2/17584-HDG) po
(R
= 3/50 x B3 (2/8827 - HDG) o <l w
‘51\9 .
|
21
4182D e
REF MO - }
4182D 2/6314 1U I "L
—_ ° .
4 X T MI0X30 (2/17547-i304) + 5 TM MI10 (2/17584-HDG) & g =
—_ 4/50 x B3 (2/8827 - HDG) LL

4182E

REF MOQ -

4182E 2/6315 16U # |12
— 11 e
! .

3 X T MI0X30 (2/17547-i1304) + 5 TM M10 (2/17584-HDQG)

4

2

.
©
&
@/ i
40

48,5 20

124 BO7




BasorFIX 3€Basor
B1/82

4182F

REF MoQ
4182F 26316 1U

|_| / 3/4 X T M10X30 (2/17547-i304) + 5 TM MI0 (2/17584-HDQ)

g f 3-4/50 X B3 (2/8827-HDQG)

40

4182G
5
1826 26317 1U . P/ % 2
L f 2 X T MI0X30 (2/17547-i304) + 5 TM M10 (2/17584-HDG) o7
Q f 2/50 x B3 (2/8827 - HDG) QL’%‘ 57
g ° 0
4eac
4182H veace [T y
: R
4182H 800 2/6948 U 5
— 25,5 43 48 17,5
L] / 4 X T MIOX30 (2/17547-1304) + 5 TM M10O (2/17584-HDG)
Ky
Q f 4/50 x B3 (2/8827 - HDQ)
M10x20
146
h ﬂ
ﬁl l@ 9) (@Dl
= 25x11
=7

i

} Qreac

B07125

Basor



Basor

BasorFIX 3€Basor

Ay
41821 4
41821 0% 2701  4U |
L / 4 X T M10X30 (2/17547-1304) + 5 TM M10 (2/17584-HDG) 93 -
0] | 50 |
Q/4/50x53(2/8827-HDG) = -
iR
EjeZ
BET o o .
o ﬁ =k
BFT-4120 17920 15 2/6811 100U ) ¢
BFT-4125 234-254 15 2/6812 100U ! )
BFT-4132 29532 15 2/6813 100U
BFT-4140 384406 2 2/6814 100U @
BFT-4150 503-537 2 2/6815 100U
TE4T ) .
TF41 2/5621 50U @
« 10

126 BO7




BasorFIX
41/82

TM41

TAD

TEP

TM41 M6
TM41 M8
TM41 M10

TAD M8
TAD M10

TEP M10X30

BT o

» I
" R 0g

35 2/17556 100U 2/8225 100U ©
8,4 2/17557 100 U 2/17583 100U
17 2/17551 100U 2/17584 100 U

ORCEERSY =

mm kg kg  Nm REF MOQ

6 600 240 84 2/17558 @ 100U
8 700 350 17 = 2/5543 100U

o e teot v NI
ok ke Nn

8 700 350 17 2/11567 50U

3EBasor

::::

uuuuuuuuuuuuu

B0O7127/

Basor



Basor

BasorFIX
[O[O[O]

SE A B w D E d F

mm  mm mm mm mm

SE15-26 171 45 1526 26-42 10 4
SE26-38 92 60 26-38 3349 12 1
SE36-52 105 60 75 3652 3955 12 15
SE50-15 126 60 95 ©50-75 46-T1 12
SE75-100 200 80 150 75100 70-95 15
SE100-135 225 85 175 100-135 85120 15
SE135-170 260 90 210 135-170 133-169 15

RoHS ((/\ 120 40"[:
o L

TRIPLE R
mm mm mm mm mm mm
TRIPLE27-38 180 75 125 3X27-38 63-90 12
TRIPLE38-51 195 80 145 3X38-51 84-115 16
TRIPLE51-69 220 85 170 3X51-69 109-150 21
TRIPLE69-90 252 90 215 3X69-90 134-185 29
TRIPLE90-118 321 100 270 3X90-118 180-250 27

TRIPLE118-150 400 110 340 3X118-150 211-310 37

120°C  -40°C
RoHS NO /R
o Lok T
A B H D F G
mm mm mm mm mm mm
I 4X12-32 280 74 50 18 1232 9
IM 432-48 345 85 65 100 3248 18
120°C  -40°C
RoHS NO oA m g
0K IUKI + ﬁﬂ

UNE-EN 61537

-~

128 BO7

3€Basor

H RM mm m N

mm kN =i REF M0Q eo
8 20 v 201282 10 M1

7 30 X 201283 1U ¥

8 20 X 2/1284 1U

9 10 X 2/1285 1U o [51 Tolo
10 688 X 27286 1U w
10 674 X  2/1281 1U A
28 663 X 2/1288 1U

H RM mm -:!a-

T kN =: REF

165 359 v 2/1289

20 398 v 2/1290

2 699 v 201291

30 567 v 2/1292

33 543 ¥ 201293

75 543 Y 2/1294

RM = -!H!-

kN =t REF MOQ

295 v 207295 U

295 ¥ 21296 1U

(<)

CERTIFIED




BasorFIX 3€Basor

AAAAAAAAAAAAAAAAA

]
H
SE4] o+ TN
mm mm REF MOQ
SE4120-24 2024 15 2/13% 11U
SE41 24-28 2428 15 2/136  1U
SE4128-32 28-32 15 2/131 11U
SE41 32-36 32-36 15 2/138 11U
SE41 36-40 36-40 15 21359 1U
BRP GC Emax  Qreac m :;L
mm kg REF MOQ = 2 EI
BRP 5 1000 2/5624 11U

L

5

(@]
40
e,

‘ Emax

55

Qreac

SBL . T o N
R 0o 2
BL 32091 10U 2031 10U 2031 10U ¥

103
L 51,5 |17

L

M8 & M10 [k

———= “25x9

Ay

17

SBC v o2 [T o e
w w ' AN oo ] | 7
SBC 40 40 3 2/0352 20U 2/0362 10U 2/03712 10U J R
18
= M8&MI0 ] ‘ ‘FL E
70 25%9

Qreacl

B07129

Basor



Basor

BasorFIX

3€Basor
1
SBZ vt [T o
oo RE 00 [g 3
SBZ 35 3 2/03% 10U 2/0364 10U 2/0374 10U ﬁr "’{
m 18
= M8 &M10
':L7®
@*x/@
L 36 |
(Qreac

130 BO7




BasorFIX

DIN933 / DIN912

DIN933

1507380

1S07380-2

DING6923

DIN125

DIN9021

DIN933 M10X30
DIN933 M10X20
DIN933 M8X70
DIN933 M8X55
DIN933 M8X25
DIN933 M8X20
DIN933 M6X25
DIN933 M6X20
DIN912 M8XT0
DIN912 M8X55
1S07380-2 M8X30
1S07380-2 M6X25

DIN6923 M6
DIN6923 M8

DIN125 M6
DIN125 M8
DIN125 M10
DIN125 M12

DIN9021 M6
DIN9021 M8

UVM UVE P
ud  ud Nm
100 100 35
100 100 35
100 100 15
100 100 15
100 100 15
100 100 15
100 100 8
100 100 8
100 100 15
100 100 15
100 100 15
100 100 8

Pap M Dext A

Nm mm mm mm

8 M6 14
15 M8 18

Dint
mm
64
84
105
13

Dint
mm
6,4
8.4

10
13

Dext

Dext

mm
18
24

N = B
mm mm REF MoQ
30 6.4 2/17559 100U 2/17547 100U
20 64 2/17563 100U 2/17578 100U
10 53 2/17564 100U

55 53 2/17566 100U

25 53 2/17545 100U

20 53 2/17546 100U
25 4 2/5545 100U 2/17549 100U
20 4

708 2/17580 100U 2/17581 100U
55 8 2/17571 100U 2/17579 100U

30 44 = - @

25 33 2/17582 100U

N =
mn R oo

6 2/17552 100U 2/17554 300U
8 2/17553 200U 2/17555 100U

N =
n T

1,6 2/17565 1000U 2/5539 1000U
16 2/17541 1000U 2/17544 1000 U
2 2/11561 1000U 2/17542 1000U
25 © 2/17560 1000U

- BCE o
m T

16 271023 200U 2/7022 200U
2271021 500U 2/17543 1000 U

T

3EBasor

AAAAAAAAAAAAAAA

1SO 7380 1SO 7380-2

BO7 131

Basor



Basor

BasorFIX

s

cCM o o EEECEE
mm mm kg MOQ
CCM M6X60 6 60 190 2/6413 100U
CCM M8X60 8 60 320 2/6420 11U

+ 60mm, @ 8mm (CCM 6X60) / F10mm (CCM 8x60)

SCM . .
mm mm kg MOQ
SCM M10X75 10 75 600 2/4672 50U
SCM M12X80 1280 1040 2/6258 100U

+ 60-70mm (SCM 10x75) - + 75-90mm (SCM 12x80), @
10mm (SCM 10X75) / @12mm > (SCM 12x80)

0 e [
M - ' ECHNTE
CM M6X30 8 6 340 2/6468 11U
CM M8X30 10 8 370  2/6469 400U
¢ 32mm - @ 8mm (CM 6x30) /+ 33mm - @10mm
(CM8x30)
REF MoQ
TDC 2/5066 11U
BPZ 400 ml 2/1224 11U

BPZ

132 BO7

3EBasor

AAAAAAAAAAAAAAAAA

30




BasorFIX 3€Basor

l AAAAAAAAAAAAAAAAA
—
—

TT / TTL Smin  Smax Dcable A B LN monfocay
mm? mm? mm mm mm REF MOQ
TT4-35 10 35 22a8 22 18 2/6196 10U =
7 35-95 3% 95 Bal2z 30 24 2/6197 10U
TTL10-35 10 35 4a8 25 - 2/8189 20U

TIL

; e [ETRREE -
FPSC-12 - BT Eujﬂ

FPSC-12 12 2/6184 25U

=

2
FPSL-35 - IEEREER

FPSL-35 35 2/619%5 20U

15,5

5

H min
70

41
/

B07133

Basor



The
world iIs
GREEN

50 Countries with permanent stock

1300 Global distributors
10 Own subsidiaries

AMERICA

USA Basor Electric Inc. (llinois)
MEXICO Basor México SAPI de CV. (Mexico DF)
PERU Basor Per SAC. (Lima)

EUROPE

PORTUGAL Basor Caminho de Cabos LDA. (Barreiro)
FRANCE Basor SARL. (Paris)

HUNGARY Basor Elekiro KFT. (Budapest]

UK Basor Electric LTD (Kent)

ITALY Basor Electric SRL (Parmal

AFRICA
ALGERIA Basor Electric SARL. (Argel)

ASIA
THAILAND BasorThai (Bangkok)

3EBasor

CABLE TRAY SPECIALIST



3&EBasor

CABLE TRAY SPECIALIST

BASOR ELECTRIC SA.
Alcodar Avenue 45-49
46.701 Gandia (SPAIN)
T.+34.96.287.6695
export@basor.com

® O o

Linkedin Twitter Youtube Web
Basor Electric SA @Basorelectric youtube.com/user/ www.basor.com
basorelectric





